
⇐°↑↓°↑↔≡ 
″∂←…°±≈♠…↔ � 
∂±≈∂♥∂≈♠≥ 
…°±←≡→♠≡±…≡←

¬≥°≥ ≡±≠°↑…≡″≡±↔ ≠°…♠←≡←  

↔•≡ ←↓°↔≥∂÷•↔ °± ≡♣≡…♠↔∂♥≡ ∂±↔≡÷↑∂↔ƒ

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ



∧°↑≡♦°↑≈ 

∨♣≡…♠↔∂♥≡ ←♠″″↑ƒ 

⇐°″↔∂±÷ …°↑↑♠↓↔∂°± ←  ÷≥°≥ ↓↑∂°↑∂↔ƒ  

∏♠←↔∂≠ƒ∂±÷ ♠±≡↔•∂…≥ ≡•♥∂°↑ ±≈ ″∂←…°±≈♠…↔ 

⇐∧∠← ∂± ↔•≡ ←↓°↔≥∂÷•↔ 

⇑°≥←↔≡↑∂±÷ ≈≡≠≡±←≡← 

⊆≡÷∂°±≥ ∂±←∂÷•↔← 

 ⇒≠↑∂… 

 ⇑↑∞∂≥ 

 ⇐•∂± 

 ∨←↔≡↑± ∨♠↑°↓≡ 

 √±≈∂ 

⇐°±…≥♠←∂°± 

⊂♠↑♥≡ƒ ↓↓↑°…• 

⇔≡↔∂≥≡≈ ↑≡←♠≥↔←  

⇐°±↔…↔ ∂±≠°↑″↔∂°± 

⇐°±↔≡±↔←

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



√± ↔•≡ ≠↔≡↑″↔• °≠ ↑≡…≡±↔ ″∝°↑ ↔≡↑↑°↑∂←↔ ↔↔…×← ±≈ ↔•≡ ↑≡♥≡≥↔∂°±← ↑≡÷↑≈∂±÷ ♦∂≈≡←↓↑≡≈ ↓°←←∂≥≡ ″∂←♠←≡ 

°≠ °≠≠←•°↑≡ ∝♠↑∂←≈∂…↔∂°±←⌠ ±≈ ∂± ± ≡±♥∂↑°±″≡±↔ ♦•≡↑≡ ÷≡°↓°≥∂↔∂…≥ ↔≡±←∂°±← •♥≡ ↑≡…•≡≈ ≥≡♥≡≥← ±°↔ ←≡≡± ←∂±…≡ 

↔•≡ ⇐°≥≈ ∪↑⌠ ÷°♥≡↑±″≡±↔← ↑°♠±≈ ↔•≡ ♦°↑≥≈ ↑≡ ♠±≈≡↑ ∂±…↑≡←≡≈ ↓↑≡←←♠↑≡ ↔° ≠…≡ ♠↓ ↔° ↔•≡ ∂″″≡±←≡ ÷≥°≥ 

← ↔•≡ ÷↑≡≡″≡±↔ ƒ ↔•≡ ∉ ÷↑°♠↓ ⇐•∂±⌠ ∧↑±…≡⌠ ⊆♠←←∂⌠ ↔•≡ ⊇±∂↔≡≈ ∂±÷≈°″⌠ ↔•≡ ⊇±∂↔≡≈ ⊂↔↔≡←⌠ ↓≥♠← 

″↑×≡↔←〉 ⊄•≡ ±×∂±÷ ←≡…↔°↑ ↑≡″∂±← ♠±≈≡↑ 

″≡±♦•∂≥≡⌠ ↑≡ ∂±…↑≡←∂±÷≥ƒ …°°↑≈∂±↔≡≈ ∂± 

↔•≡∂↑ ↓↓↑°…•≡← ↔° ∂±♥≡←↔∂÷↔∂±÷ ″∂←…°±≈♠…↔⌠ 

∂±…≥♠≈∂±÷ ↑≡…°♥≡↑∂±÷ ↔•≡ ↓↑°…≡≡≈← °≠ 

…°↑↑♠↓↔∂°±〉 ⊄•≡ ↑≡←°± ≠°↑ ↔•∂← ∂← …≥≡↑〉 ⇑↑∂≡↑ƒ 

±≈ …°↑↑♠↓↔∂°± …°±↔∂±♠≡ ↔° ↑≡↓↑≡←≡±↔  

←♠←↔±↔∂≥ ↔•↑≡↔ ↔° ←≥♠÷÷∂←• ÷≥°≥ ÷↑°♦↔• 

⇐°″″∂←←∂°±⌠ ↑≡ ∂±…↑≡←∂±÷≥ƒ ≠°…♠←∂±÷ °± 

∂±≈∂♥∂≈♠≥ ″∂←…°±≈♠…↔ ♦•≡± ∂±♥≡←↔∂÷↔∂±÷ 

∂″↓↑°↓↑∂≡↔ƒ〉 √± ↔•∂← …°±↔≡♣↔⌠ °↑≈← ±≈ 

♠←∂±≡←←≡← …°″↓≥ƒ ♦∂↔• ↑↓∂≈≥ƒ …•±÷∂±÷ ≥♦← 

±≈ ↑≡÷♠≥↔∂°±← ♦•≡↑≡♥≡↑ ↔•≡ƒ °↓≡↑↔≡〉

∨∅ ∂±↔≡↑♥∂≡♦≡≈ ←≡±∂°↑ ≡♣≡…♠↔∂♥≡← ♦∂↔• 

↑≡←↓°±←∂∂≥∂↔ƒ ≠°↑ ↔…×≥∂±÷ ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ 

…°↑↑♠↓↔∂°±〉 ⊄•≡←≡ ∂±≈∂♥∂≈♠≥← ∂±…≥♠≈≡≈ …•∂≡≠ 

•≡≈← °≠ ∂±↔≡↑±≥ ♠≈∂↔ ±≈ •≡≈← °≠ ≥≡÷≥ 

≈≡↓↑↔″≡±↔←〉 ⊄•≡ƒ ↑≡ ∂≈≡≥≥ƒ ↓≥…≡≈ ↔° 

↓↑°♥∂≈≡ ∂±←∂÷•↔ ∂±↔° ↔•≡ ∂″↓…↔ ↔•↔ ≠↑♠≈ ±≈ 

…°↑↑♠↓↔∂°± ∂← •♥∂±÷ °± ♠←∂±≡←← ÷≥°≥≥ƒ〉

⇔≡←↓∂↔≡ ∂±…↑≡←≡≈ ↑≡÷♠≥↔°↑ƒ …↔∂♥∂↔ƒ⌠ 

±≈ ↔•≡∂↑ …°″↓±∂≡←〉 

 

±↔∂∫…°↑↑♠↓↔∂°± ↓↑°÷↑″← ↔° ↓↑°…↔∂♥≡≥ƒ 

″∂↔∂÷↔≡ ↔•≡∂↑ ↑∂←× °≠ …°↑↑♠↓↔∂°±〉 ⊂∂″∂≥↑≥ƒ⌠ 

″±ƒ ♠←∂±≡←←≡← ↑≡ ±°↔ ƒ≡↔ ↔×∂±÷ 

≈♥±↔÷≡ °≠ ↑∂…• ←≡″← °≠ ∂±≠°↑″↔∂°± ↔•↔ 

♦°♠≥≈ •≡≥↓ ↔•≡″ ∂≈≡±↔∂≠ƒ ±≈ ″∂↔∂÷↔≡ ≠↑♠≈⌠ 

↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ∂←←♠≡← ≡↑≥∂≡↑〉

♦≡ ∂±↔≡↑♥∂≡♦≡≈ ⌠ ∂±≈∂♥∂≈♠≥← ≠↑°″  

…°♠±↔↑∂≡← ±≈ ↔≡↑↑∂↔°↑∂≡←〉 ⊄•≡ ∂±↔≡↑♥∂≡♦← 

±≈ ∂←←♠≡← °♠↔ ♦•∂…• °↑≈← °≠ ≈∂↑≡…↔°↑← 

←•°♠≥≈ ≡ ♦↑≡〉

⇔∂←↓♠↔≡ ⊂≡↑♥∂…≡← ↓↑…↔∂…≡ ←♠←≡→♠≡±↔≥ƒ 

∂±∫≈≡↓↔• ≈∂←…♠←←∂°±← ♦∂↔• ←≡±∂°↑ ≡♣≡…♠↔∂♥≡← °≠ 

″♠≥↔∂±↔∂°±≥ …°″↓±∂≡←〉 √± ↔•≡←≡ ∂±↔≡↑♥∂≡♦←⌠ 

♦≡ ≡♣↓≥°↑≡≈ ↔•≡ ≡♣≡…♠↔∂♥≡←� ≡♣↓≡↑∂≡±…≡← 

°≠ °↓≡↑↔∂±÷ ∂± …≡↑↔∂± ×≡ƒ ♠←∂±≡←← 

≡±♥∂↑°±″≡±↔← ↔•↔ ↑≡ ↓≡↑…≡∂♥≡≈ ↔° ≡♣↓°←≡ 

…°″↓±∂≡← ↔° •∂÷•≡↑ ≠↑♠≈ ±≈ …°↑↑♠↓↔∂°± 

↑∂←×←〉 ∠♠↑ …°±♥≡↑←↔∂°±← ↓↑°♥∂≈≡≈ ♠← ♦∂↔• 

≈≈∂↔∂°±≥ ∂±←∂÷•↔← ∂±↔° ↔•≡ ∂″↓…↔ ↔•↔ 

…•±÷∂±÷ ≥≡÷∂←≥↔∂°±⌠ ≥≡♥≡≥← °≠ ≡±≠°↑…≡″≡±↔ 

±≈ …♠≥↔♠↑≥ ≡•♥∂°↑← ↑≡ •♥∂±÷ °± ↔•≡∂↑ 

♠←∂±≡←←≡←〉 ∠♠↑ ≈∂←…♠←←∂°±← ≥←° ÷♥≡ ♠← 

↔•≡ °↓↓°↑↔♠±∂↔ƒ ↔° ≡♣↓≥°↑≡ ↓↑÷″↔∂… ←↔≡↓← 

↔•↔ ≥≡≈∂±÷ …°″↓±∂≡← •♥≡ ≡≡± ↔×∂±÷ ↔° 

≈≈↑≡←← ↔•≡←≡ ↑∂←×←〉

⊄•≡ ≡♣≡…♠↔∂♥≡← ↔° ♦•°″ ♦≡ ←↓°×≡ •∂÷•≥∂÷•↔≡≈ 

″±ƒ ″↔↔≡↑← ↔•↔ ♠←∂±≡←←≡← ″♠←↔ …°±≠↑°±↔ 

♦•≡± °↓≡↑↔∂±÷ …↑°←← °↑≈≡↑←∑ •°♦ ↔° ≈↓↔ 

″↑×≡↔∫≡±↔↑ƒ ←↔↑↔≡÷∂≡← ∂± …°♠±↔↑∂≡← ♦•≡↑≡ 

…♠≥↔♠↑≥ ≡♣↓≡…↔↔∂°±← °≠ ……≡↓↔≥≡ ≡•♥∂°↑← 

…± ≈∂≠≠≡↑ •°♦ ↔° ÷≡↔ ≡•∂±≈  …°↑↓°↑↔≡ 

←↔↑♠…↔♠↑≡ ↔° ♠±≈≡↑←↔±≈  ↔•∂↑≈ ↓↑↔ƒ�← ↔↑♠≡ 

°♦±≡↑←•∂↓ ↔•≡ ↓°↔≡±↔∂≥ ±≡÷↔∂♥≡ ∂″↓…↔ ↔•↔ 

•∂÷•≥ƒ ♥↑∂≥≡ ↓ƒ …± •♥≡ °± ∂±…≡±↔∂♥≡← 

↔° …°″″∂↔ ≠↑♠≈ ±≈ •°♦ ↔° ≡±…°♠↑÷≡ 

♦•∂←↔≥≡≥°♦≡↑← ↔° ←↓≡× ♠↓ ≈≡←↓∂↔≡ ≥°…≥ ←°…∂≥ 

±°↑″← ↔° ↔•≡ …°±↔↑↑ƒ⌠ ↔° •∂÷•≥∂÷•↔  ≠≡♦〉

←↔∂≥≥ ″∂±↔∂± ↔•≡ ♥∂≡♦ ↔•↔ ≠↑♠≈⌠ ↑∂≡↑ƒ 

±≈ …°↑↑♠↓↔∂°± ↑≡ °↔•≡↑ ↓≡°↓≥≡�← ↓↑°≥≡″← 

≈≡←↓∂↔≡ ↑≡…°÷±∂∞∂±÷ ↔•≡ ↓↑≡♥≥≡±…≡ °≠ 

↔•≡ ∂←←♠≡ ∂± ↔•≡∂↑ °♦± …°♠±↔↑∂≡←〉 ⊄•≡↑≡ 

↑≡″∂±←  ♦°↑↑ƒ∂±÷≥ƒ •∂÷• ↔°≥≡↑±…≡ °↑ 

″∂←♠±≈≡↑←↔±≈∂±÷ °≠ …°±≈♠…↔ ↔•↔ …± ≡ 

…°±←∂≈≡↑≡≈ ∂±↓↓↑°↓↑∂↔≡ � ↓↑↔∂…♠≥↑≥ƒ 

∪•∂≥≡ …°″↓±∂≡← ↑≡ ↔ƒ↓∂…≥≥ƒ ♦↑≡ °≠ ↔•≡ 

•∂←↔°↑∂… ↑∂←×←⌠ ↔•≡ƒ ↑≡ ÷≡±≡↑≥≥ƒ ≥÷÷∂±÷ 

≡•∂±≈ °± ↔•≡ ≡″≡↑÷∂±÷ °±≡←⌠ ≠°↑ ∂±←↔±…≡ 

↔•≡ ↓°↔≡±↔∂≥ ∂″↓…↔ °≠ …ƒ≡↑…↑∂″≡ °± 

…°↑↓°↑↔≡ ↑≡↓♠↔↔∂°± ±≈ ♥≥♠≡⌠ ♦•∂≥≡ ±°♦ 

♦≡≥≥ ↓♠≥∂…∂∞≡≈⌠ ↑≡″∂±←  ″↔↔≡↑ °≠ ♥↑ƒ∂±÷ 

↓↑∂°↑∂↔ƒ ≠°↑ °♠↑ ↑≡←↓°±≈≡±↔←〉 √± ↔•∂← …°±↔≡♣↔⌠ 

…°″↓±∂≡← ±≡≡≈ ↔° °≥←↔≡↑ ↔•≡∂↑ ≈≡≠≡±←≡←〉 

⊄•≡ƒ ←•°♠≥≈ ↓↓≥ƒ ±↔∂∫…°↑↑♠↓↔∂°± …°″↓≥∂±…≡ 

↓↑°÷↑″←⌠ ♠±≈≡↑↔×≡ ↓↓↑°↓↑∂↔≡ ≈♠≡ 

≈∂≥∂÷≡±…≡ °± ↔•∂↑≈ ↓↑↔∂≡← ♦∂↔• ♦•∂…• ↔•≡ƒ 

≈° ♠←∂±≡←← ±≈ ≡±…°♠↑÷≡ ±≈ ←♠↓↓°↑↔ 

♦•∂←↔≥≡≥°♦≡↑← ↔° …°″≡ ≠°↑♦↑≈ ♦∂↔• 

≠°…♠← °± ↔•≡ ……°♠±↔∂≥∂↔ƒ °≠ ↔•≡ ∂±≈∂♥∂≈♠≥⌠ 

…°″↓±ƒ ≥≡≈≡↑←•∂↓ ±≡≡≈← ↔° ←≡↔ ↔•≡ ↑∂÷•↔ 

↔°±≡ ≠↑°″ ↔•≡ ↔°↓〉 √↔ ∂← °±≥ƒ ƒ ↔×∂±÷ ←♠…• 

←↔≡↓← ↔•↔ °↑≈← ♦∂≥≥ ≡ ≥≡ ↔° ″∂↔∂÷↔≡ ↔•≡ 

∂″↓…↔ ←•°♠≥≈ ↔•≡ ♦°↑←↔ •↓↓≡±〉

⊄•∂← ←♠↑♥≡ƒ ∂← ∂±↔≡±≈≡≈ ↔° ↑∂←≡ …•≥≥≡±÷∂±÷ 

→♠≡←↔∂°±← ≠°↑ °↑≈←〉 √↔ ♦∂≥≥⌠ ♦≡ •°↓≡⌠ ≈↑∂♥≡ 

≡↔↔≡↑ …°±♥≡↑←↔∂°±← ±≈ °±÷°∂±÷ ≈∂≥°÷♠≡ 

♦∂↔• ←↔×≡•°≥≈≡↑← °± ♦•↔ ↑≡ ↔↑♠≥ƒ ÷≥°≥ 

∂←←♠≡← °≠ ″∝°↑ ∂″↓°↑↔±…≡〉 

∪≡ …×±°♦≥≡≈÷≡ ±≈ ↔•±× ≥≥ ↔•°←≡ 

≡♣≡…♠↔∂♥≡← ±≈ ♠←∂±≡←← ≥≡≈≡↑← ♦•° 

↓↑↔∂…∂↓↔≡≈ ∂± °♠↑ ←♠↑♥≡ƒ⌠ ≡∂↔•≡↑ ← 

″≡≡↔∂±÷ ♠← ∂± ↓≡↑←°±⌠ ≠°↑ ↔•≡∂↑ …°±↔↑∂♠↔∂°±← 

±≈ ∂±←∂÷•↔←〉

⊂∂±…≡↑≡≥ƒ⌠

 

∧°↑≡♦°↑≈

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



⇑°↑≈← ±≡≡≈ ↔° ≡ ♦↑≡ ↔•↔ ↑≡÷♠≥↔°↑← ↑≡  

≡±≠°↑…∂±÷ ±↔∂∫…°↑↑♠↓↔∂°± ≥≡÷∂←≥↔∂°± ♦∂↔• ♥∂÷°↑⌠ ±≈  

↑≡ ∂±…↑≡←∂±÷≥ƒ ≠°…♠←≡≈ °± ∂±≈∂♥∂≈♠≥ ″∂←…°±≈♠…↔〉  

≡±°♠÷• ↔° ↓↑°↔≡…↔ ↔•≡∂↑ ♠←∂±≡←← ≠↑°″ ↔•≡←≡ ↑∂←×← �  

°↑ °↔• °↑≈ ″≡″≡↑← ±≈ ↔•≡∂↑ ≡″↓≥°ƒ≡≡← ″ƒ  

≡ •≡≥≈ ↓≡↑←°±≥≥ƒ ↑≡←↓°±←∂≥≡ ≠°↑ ″∂←…°±≈♠…↔  

♠±≈≡↑ ↔•≡∂↑ ♦↔…•〉 

⇐°″↔∂±÷ …°↑↑♠↓↔∂°± ←  ÷≥°≥ ↓↑∂°↑∂↔ƒ 

⊄•≡↑≡ ∂← ± ♠±↓↑≡…≡≈≡±↔≡≈ ≥≡♥≡≥ °≠ ←♠↓↓°↑↔ ≠°↑ …°″↔∂±÷  

↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°±⌠ ≠↑°″ °↔• ÷°♥≡↑±″≡±↔← ±≈  

″♠≥↔∂≥↔≡↑≥ ∂±←↔∂↔♠↔∂°±←〉 

⊂♠…• …°°↓≡↑↔∂°± •← ≥≡≈ ↔° ≡±•±…≡≈ …°≥≥°↑↔∂°± ″°±÷ 

↓↑°←≡…♠↔∂°±← ∂± ↔•≡ ↓←↔ ƒ≡↑〉 ⊄•≡↑≡ •♥≡ ≥←° ≡≡± …°±…≡↑↔≡≈ 

≡≠≠°↑↔← ↔° ↓↓≥ƒ ∂±↔≡↑±↔∂°±≥ ←↔±≈↑≈← °± ↔↑±←↓↑≡±…ƒ °≠ 

…°″↓±ƒ °♦±≡↑←•∂↓⌠ ∂±…≥♠≈∂±÷ ƒ ↔•≡ ∪°↑≥≈ ⇑±× ±≈ ƒ  

≠°…♠← °± …°↑↑♠↓↔∂°± ♠±≈≡↑ ↔•≡ ⇐•∂±≡←≡ ↓↑≡←∂≈≡±…ƒ ∂± 〉

∠♠↑ ←♠↑♥≡ƒ ↑≡←♠≥↔← ←•°♦ ↔•↔ ←♠…• ∂±∂↔∂↔∂♥≡←  

≡±∝°ƒ ↓°↓♠≥↑ ←♠↓↓°↑↔∑

¬≥°≥≥ƒ⌠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ↑≡ ←↔∂≥≥ ↓≡↑…≡∂♥≡≈ ↔° °……♠↑  

♦∂≈≡≥ƒ � ♦∂↔•  ↓≡↑…≡↓↔∂°± ↔•↔ …°↑↑♠↓↔∂°± •← ♦°↑←≡±≡≈  

∂± ≈≡♥≡≥°↓≡≈ ″↑×≡↔← ←∂±…≡ °♠↑ ≥←↔ ←♠↑♥≡ƒ

¬≥°≥ …°″″∂↔″≡±↔← ↔° …°″↔∂±÷ …°↑↑♠↓↔∂°±  

±≈ ≡±•±…≡≈ …°°↓≡↑↔∂°± ƒ ∂±↔≡↑±↔∂°±≥ ≥♦ 

≡±≠°↑…≡″≡±↔ ÷≡±…∂≡← •♥≡ ∂±…↑≡←≡≈ ↔•≡ ↓↑≡←←♠↑≡  

°± …°″↓±∂≡← ↔° ″∂↔∂÷↔≡ ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± 

↓↑°÷↑≡←← ∂± ↔…×≥∂±÷ ↔•≡←≡ ∂←←♠≡←⌠ ↔•≡↑≡ ↑≡″∂±←  

⊆≡←↓°±≈≡±↔← ♦•° ≡≥∂≡♥≡ ↔•↔ ÷°♥≡↑±″≡±↔← ↑≡ ♦∂≥≥∂±÷ 

↔° ↓↑°←≡…♠↔≡⌠ ♠↔ ↑≡ ±°↔ ≡≠≠≡…↔∂♥≡ ∂± ←≡…♠↑∂±÷ …°±♥∂…↔∂°±←



∨←↔≡↑± 
∨♠↑°↓≡



⇑↑∞∂≥

°≠ ↑≡←↓°±≈≡±↔← …°±←∂≈≡↑≡≈ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔  

↓↑…↔∂…≡← ↔° •↓↓≡± ♦∂≈≡≥ƒ ∂± ↔•≡∂↑ …°♠±↔↑ƒ⌠ ♦∂↔• ±° 

∂″↓↑°♥≡″≡±↔ ←∂±…≡ °♠↑ ≥←↔ ←♠↑♥≡ƒ

°≠ ↑≡←↓°±≈≡±↔← ↑≡↓°↑↔≡≈ ↔•↔ ←♠…• ≡•♥∂°↑←  

♦≡↑≡ ♦∂≈≡←↓↑≡≈ ∂± ≈≡♥≡≥°↓≡≈ ″↑×≡↔←⌠  

…°″↓↑≡≈ ↔°  ∂± °♠↑ ≥←↔ ÷≥°≥ ←♠↑♥≡ƒ





°≠ °♠↑ ↑≡←↓°±≈≡±↔← ↑≡↓°↑↔≡≈ ↔•↔ ↔•≡ƒ •≈ ↓≡↑←°±≥ 

…°±…≡↑±← ♦•≡± ←×≡≈ °♠↔ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ∂± 

↔•≡∂↑ ♦°↑×↓≥…≡



∨♣≡…♠↔∂♥≡  
←♠″″↑ƒ

⇑↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ← ± °±÷°∂±÷ …•≥≥≡±÷≡

∂±≈∂♥∂≈♠≥← ↑≡←↓°±←∂≥≡ ≠°↑ …°↑↑♠↓↔∂°± ↑≡ ±°↔ •≡≥≈ ……°♠±↔≥≡∑



°≠ ↑≡←↓°±≈≡±↔← ≡≥∂≡♥≡ ∂↔ ∂← ∂″↓°↑↔±↔ 

°♦±≡↑←•∂↓ °≠ ↔•≡ ≡±↔∂↔∂≡← ♦∂↔• ♦•∂…• 

↔•≡ƒ ≈° ♠←∂±≡←←

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



 

″≡″≡↑← ↔° ∝♠←↔∂≠ƒ ←♠…• ≡•♥∂°↑← ∂← …°±…≡↑±∂±÷⌠ ÷∂♥≡± ↔•≡  

⊂°″≡ ⇐∧∠← ≥←° ←≡≡″ ↔° ≥…× ↓↓↑°↓↑∂↔≡ ↑∂←× ♦↑≡±≡←←⌠ 

♦∂↔• °±≥ƒ  °≠ ⇐∧∠← ♥∂≡♦∂±÷ …ƒ≡↑…↑∂″≡ ←  …°±…≡↑±〉

∪•↔ ≈°≡← ↔•∂← ″≡± ≠°↑ °↑≈←◊

⊄•≡ ↓↑≡♥≥≡±…≡ °≠ ←♠…• ≡•♥∂°↑← ↓≥…≡← ♠←∂±≡←←≡← ↔ …°±↔∂±♠≡≈ 

↑∂←× °≠ ∂≥≥≡÷≥ …°±≈♠…↔⌠ ♦•∂…• …°♠≥≈ ≥≡≈ ↔° ←♠←≡→♠≡±↔ ≡±≠°↑…≡″≡±↔ 

∂±…≥♠≈∂±÷ ↔•≡ ″±∂↓♠≥↔∂°± °≠ °°×← ±≈ ↑≡…°↑≈←〉

∪•↔ ≈°≡← ÷°°≈ ≥°°× ≥∂×≡◊

∪∂↔•  ÷≥°≥ ≠°…♠← °± …°″↔∂±÷ ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°±⌠ ±≈ 

↑≡÷♠≥↔°↑← ←…↑♠↔∂±∂∞∂±÷ ≡♣≡…♠↔∂♥≡ ≡•♥∂°↑⌠ …°″↓±∂≡← ±≡≡≈ ↔° ≈° 

″°↑≡〉 ⇑♠←∂±≡←←≡← ←•°♠≥≈ ↔×≡ ←↔≡↓← ↔° ″∂±∂″∂∞≡ ↔•≡ ↑∂←× °≠ …°↑↑♠↓↔∂°± 

≡♥≡±↔ ↔•↔ ∂↔ °……♠↑←∑

⊂↓°↔≥∂÷•↔ °± ⇐∧∠← 

 

±♠″≡↑ ↑≡ ♦∂≥≥∂±÷ ↔° ∝♠←↔∂≠ƒ ♠±≡↔•∂…≥ ≡•♥∂°↑ ♦•≡± ♠±≈≡↑ 

⇒≥″°←↔ •≥≠ °≠ ≥≥ ↑≡←↓°±≈≡±↔← …°♠≥≈ ∝♠←↔∂≠ƒ ♠±≡↔•∂…≥ ≡•♥∂°↑ 

↔•↔ …°♠≥≈ ∝♠←↔∂≠ƒ ←♠…• ≡•♥∂°↑ ↔° •≡≥↓  …°″↓±ƒ ←♠↑♥∂♥≡ ∂± 

± ≡…°±°″∂… ≈°♦±↔♠↑±〉

∪•∂≥≡ ±°↔ …°±←∂←↔≡±↔ ♦∂↔• ↔•≡ ↓≡°↓≥≡ ♦∂↔• ♦•°″ ♦≡ ♦°↑× � °♠↑ 

↔≡″ ″≡″≡↑← ♦°♠≥≈ ≡ ♦∂≥≥∂±÷ ↔° ≡±÷÷≡ ∂± ♠±≡↔•∂…≥ ≡•♥∂°↑←∑

…←• ↓ƒ″≡±↔ ↔° ♦∂± °↑ ↑≡↔∂± ♠←∂±≡←← � •∂÷•≡↑ ↔•± 

 °≠ ≥≥ ↑≡←↓°±≈≡±↔←

≥≥ ↑≡←↓°±≈≡±↔← ♦•∂…• ←↔°°≈ ↔ 





⊆≡÷♠≥↔°↑← ↑≡ ≥←° ∂±…↑≡←∂±÷≥ƒ ≠°…♠←∂±÷ ↔•≡∂↑ ∂±♥≡←↔∂÷↔∂°±← °± 

∂±≈∂♥∂≈♠≥ …♠≥↓∂≥∂↔ƒ ♦•≡± ≥°°×∂±÷ ↔ …°↑↓°↑↔≡ ″∂←…°±≈♠…↔〉 √± 

∂←←♠≡≈ ↓↑°←≡…♠↔°↑∂≥ ÷♠∂≈≡≥∂±≡← ♦•∂…• °♠↔≥∂±≡≈ ↔•↔⌠ ∂± ↔•≡ …°±↔≡♣↔ 

 

♦∂↔• ±ƒ ≡♥∂≈≡±…≡ ∂″↓≥∂…↔∂±÷ ≡″↓≥°ƒ≡≡← ∂± ♦↑°±÷≈°∂±÷〉

⇑°↑≈← ←•°♠≥≈ ←↔ƒ ≥≡↑↔ ↔° ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ↑∂←×←  

±≈ ↑≡∂±≠°↑…≡ ≡♣↓≡…↔↔∂°±← °≠ ……≡↓↔≥≡ ≡•♥∂°↑ ↔•↑°♠÷•°♠↔ ↔•≡∂↑ 

°↑÷±∂∞↔∂°±←〉 ⇒≥″°←↔ •≥≠ °≠ °♠↑ ↑≡←↓°±≈≡±↔← ≈∂≈ ±°↔ ≡≥∂≡♥≡ ↔•↔ 

♦≡↑≡ ↔° ↔•≡∂↑ ♠←∂±≡←←〉

⇐°″↓±∂≡← ±≈ ↔•≡∂↑ °↑≈← ±≡≡≈ ↔° ≈≡≥∂♥≡↑ °± ↔•≡←≡ ↓↑∂°↑∂↔∂≡←〉 

⊄•≡ ↑∂←×← ≠…≡≈ ƒ …°″↓±∂≡← ← ↔•≡ƒ …°±↔∂±♠≡ ↔° ≡♣↓±≈ ↔•≡∂↑ ÷≥°≥ 

↑≡…• ↑≡ ≡♥°≥♥∂±÷⌠ ±≈ ↔•≡ ←…↑♠↔∂±ƒ ♠±≈≡↑ ♦•∂…• ♠←∂±≡←←≡← ±≈ 

∂±≈∂♥∂≈♠≥← ±°♦ …°″≡ ∂← ÷↑≡↔≡↑ ↔•± ≡♥≡↑〉 ⇑°↑≈← ″♠←↔ ↑≡←↓°±≈ 

↓↑°…↔∂♥≡≥ƒ ±≈ ≡ ≥≡ ↔° ≈≡″°±←↔↑↔≡ ↔•↔ ↔•≡ƒ ↑≡ ←↔≡↓↓∂±÷ ♠↓ 

↔° ↔•≡ …•≥≥≡±÷≡〉

� ⇒≈≡→♠↔≡≥ƒ ↑≡←°♠↑…≡ …°″↓≥∂±…≡ ±≈ ∂±♥≡←↔∂÷↔∂°±← 

≠♠±…↔∂°±←⌠ ←° ↔•↔ ↔•≡ƒ …± ↓↑°…↔∂♥≡≥ƒ ≡±÷÷≡ ≡≠°↑≡ 

↑≡÷♠≥↔°↑ƒ …↔∂°±

� ∨←↔≥∂←• …≥≡↑ ♦•∂←↔≥≡≥°♦∂±÷ …•±±≡≥← ±≈ ↓°≥∂…∂≡← ↔•↔ 

±°↔ °±≥ƒ ↑∂←≡ ♦↑≡±≡←← °≠ ↑≡↓°↑↔∂±÷ ″≡…•±∂←″←⌠ ♠↔ 

≡±…°♠↑÷≡ ≡″↓≥°ƒ≡≡← ↔° ↑≡↓°↑↔ ″∂←…°±≈♠…↔

� 

←←≡←←″≡±↔ °≠ ↓°↔≡±↔∂≥ ≈↔∫≈↑∂♥≡± ∂±≈∂…↔°↑← °≠ ≠↑♠≈  

� ⇔≡♥≡≥°↓  …ƒ≡↑ ↑≡…• ↑≡←↓°±←≡ ↓≥± ↔•↔ ↑∂±÷← ≥≥ 

↓↑↔← °≠ ↔•≡ ♠←∂±≡←← ↔°÷≡↔•≡↑ ∂±  …≡±↔↑≥∂∞≡≈ ↑≡←↓°±←≡ 

←↔↑♠…↔♠↑≡

� 

↓↑↔∂≡←⌠ ≡≠°↑≡ ≡±↔≡↑∂±÷ ∂±↔°  ♠←∂±≡←← ↑≡≥↔∂°±←•∂↓

� ∨♣≡…♠↔≡  …°″↓↑≡•≡±←∂♥≡ ±↔∂∫…°↑↑♠↓↔∂°± …°″↓≥∂±…≡ 

↓↑°÷↑″ ↔•↔ ∂±…°↑↓°↑↔≡← ∧⇔⇒ ±≈ ↔∂≥°↑≡≈ ↑∂≡↑ƒ ±≈ 

…°↑↑♠↓↔∂°± ↔↑∂±∂±÷



⊄•≡ ″∝°↑∂↔ƒ °≠ °♠↑ ↑≡←↓°±≈≡±↔← 

←♠↓↓°↑↔ ↔•≡ ↓↑°←≡…♠↔∂°± °≠ ∂±≈∂♥∂≈♠≥ 

≡♣≡…♠↔∂♥≡← � ♦∂↔•  °≠ ↑≡←↓°±≈≡±↔← 

♥∂≡♦∂±÷ ≡±≠°↑…≡″≡±↔ ÷∂±←↔ 

″±÷≡″≡±↔ ← ± ≡≠≠≡…↔∂♥≡ ≈≡↔≡↑↑≡±↔


…°♠≥≈ ∝♠←↔∂≠ƒ ♠±≡↔•∂…≥ ≡•♥∂°↑ 

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



∇≡♥≡↑ ≡≠°↑≡ •♥≡ ÷°♥≡↑±″≡±↔← ±≈ ″♠≥↔∂±↔∂°±≥ 

∂±←↔∂↔♠↔∂°±← …°°↓≡↑↔≡≈ ←° ≡♣↔≡±←∂♥≡≥ƒ ∂± …°″↔∂±÷ 

↔•≡ ∂←←♠≡ ≥≡≈ ↔•≡ ¬ ″∝°↑ ≡…°±°″∂≡← ↔° ↑≡…°÷±∂∞≡ 

↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ← ± ∂″↓°↑↔±↔ ∂″↓≡≈∂″≡±↔ ↔° 

≡…°±°″∂… ÷↑°♦↔• ±≈ ↔•≡ ÷↑°♠↓�← ≠°…♠← °± …°↑↑♠↓↔∂°± 

♦•≡↑≡ ≡…°±°″∂≡← ±≈ ″♠≥↔∂±↔∂°±≥ °↑÷±∂∞↔∂°±← ″♠←↔ 

←↔↑≡±÷↔•≡± ↔•≡∂↑ …°°↓≡↑↔∂°±〉

±≈ …°↑↓°↑↔≡ ←↔↑♠…↔♠↑≡← ↔° •∂≈≡ °↑ …°±…≡≥ …↑∂″∂±≥ …↔∂♥∂↔ƒ ←  

±≈ ←←≡↔← ↔•↑°♠÷• ↔•≡ ↓↓≥∂…↔∂°± °≠ ∂±↔≡↑±↔∂°±≥ ←↔±≈↑≈← °± ↔•≡ 

∂±↔≡↑÷°♥≡↑±″≡±↔≥ °≈ƒ⌠ ↔•≡ ∧∂±±…∂≥ ⇒…↔∂°± ⊄←× ∧°↑…≡〉

⊄•≡ ↑≡←↓°±≈≡±↔← ↔° °♠↑ ←♠↑♥≡ƒ ←♠÷÷≡←↔ ↔•∂← ″°♥≡ •← ↓°↓♠≥↑ ←♠↓↓°↑↔ 

�  °≠ ↑≡←↓°±≈≡±↔← ≡≥∂≡♥≡ ∂↔ ∂← ∂″↓°↑↔±↔ ↔° ×±°♦ ↔•≡ ♠≥↔∂″↔≡ 

↔↑±←↓↑≡±…ƒ ∂± ∂↔← …°±↔↑…↔∂±÷ ↓↑°…≡←←≡←〉 ⇒÷∂±⌠ ↔•≡ ↑≡←↓°±≈≡±↔← 

↔° °♠↑ ←♠↑♥≡ƒ ∂±≈∂…↔≡ ↔•↔ ↔•≡ƒ ≡≥∂≡♥≡ ↔•∂← ≥≡♥≡≥ °≠ ↔↑±←↓↑≡±…ƒ 

♦°♠≥≈ •≡≥↓ ″∂↔∂÷↔≡ ↔•≡ ↑∂←× °≠ ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°±⌠ ♦∂↔• 

 ←♠↓↓°↑↔∂♥≡ °≠ ↔•≡ ∪°↑≥≈ ⇑±×�← ÷♠∂≈±…≡〉

⇐°″↔∂±÷ …°↑↑♠↓↔∂°±  
←  ÷≥°≥ ↓↑∂°↑∂↔ƒ


°≠ ↑≡←↓°±≈≡±↔← ≡≥∂≡♥≡ ∂↔ ∂← ∂″↓°↑↔±↔ ↔° ×±°♦ ↔•≡ ♠≥↔∂″↔≡ 

∧∂÷♠↑≡ ∑ ⊂♠↓↓°↑↔ ≠°↑ ↔↑±←↓↑≡±…ƒ °♥≡↑ …°″↓±ƒ °♦±≡↑←•∂↓ 

¬≥°≥ 

∨←↔≡↑± ∨♠↑°↓≡ 

⇒≠↑∂… 

∂≈≈≥≡ ∨←↔ 

∧↑ ∨←↔ 

√±≈∂ 

∏↓± 

⊂〉 ⇒″≡↑∂… 

∇〉 ⇒″≡↑∂… 



∠…≡±∂ 

∪〉 ∨♠↑°↓≡

  ⋅°♦ ∂″↓°↑↔±↔⌠ ∂≠ ↔ ≥≥⌠ ≈° ƒ°♠ ≡≥∂≡♥≡ ∂↔ ∂← ↔° ×±°♦ ♦•° ♠≥↔∂″↔≡≥ƒ °♦±← ±≈ 

…°±↔↑°≥← ↔•≡ ≡±↔∂↔∂≡← ↔•↔ ƒ°♠ ≈° ♠←∂±≡←← ♦∂↔•◊ ∉↑°↓°↑↔∂°± °≠ ↑≡←↓°±≈≡±↔← 

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



∂± ↑≡← °≠ ↓↑↔∂…♠≥↑ ≡♣↓°←♠↑≡ ←♠…• ← ↓♠≥∂… ↓↑°…♠↑≡″≡±↔ ±≈ 

↔•≡∂↑ ←♠↓↓°↑↔ ≠°↑ ↔•≡←≡ ↓↑∂°↑∂↔∂≡← ↔°°〉

÷°♥≡↑±″≡±↔← •♥≡ ≥∂←↔≡±≡≈⌠ ±≈ …↑°←←∫°↑≈≡↑ …°°↓≡↑↔∂°± ∂± 

≡±≠°↑…≡″≡±↔ •← ↑∂←≡± ↔° ± ♠±↓↑≡…≡≈≡±↔≡≈ ≥≡♥≡≥〉 √± °±≡ ↑≡…≡±↔ 

≈∂←…≥°←≡≈ ↔•↔ ∂↔ •≈ ≡≡± ♦°↑×∂±÷ ≥°±÷←∂≈≡  °↔•≡↑ ∝♠↑∂←≈∂…↔∂°±← 

″♠≥↔∂↓≥≡ ↔♣ •♥≡±←〉

∂±≠°↑″↔∂°± °± ↔•≡ ↑≡≥ ↓≡°↓≥≡ ♦•° °♦± °↑ …°±↔↑°≥ 

↔•≡″ ♦°♠≥≈ ≠°↑≡…≥°←≡ °±≡ °≠ ↔•≡ ″°←↔ …°″″°± 

…°↑↑♠↓↔∂°± ←…•≡″≡← ↔•↔ ≡±≥≡ °↔• ∂≈≈≡↑← ↔° •∂≈≡ 

⊄•≡ ♦°↑× °≠ ↔•≡ ¬ ±≈ °↔•≡↑← 

∂← •♥∂±÷ ± ≡≠≠≡…↔〉 ⊄•≡↑≡ •← 

≡≡± ± ♠±↓↑≡…≡≈≡±↔≡≈ ≥≡♥≡≥ 

°≠ …↑°←←∫°↑≈≡↑ …°°↓≡↑↔∂°± 

∂± ≡±≠°↑…≡″≡±↔〉

⊇⊂″ 

°≠ ≥≥≡÷≡≈ ↑∂≡←

♠≥↔∂↓≥≡ 

↔♣ •♥≡±←

 
∝♠↑∂←≈∂…↔∂°±←

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



⇔≡←↓∂↔≡ ↔•≡ ←•↑↓ ≠°…♠← °≠ ÷°♥≡↑±″≡±↔← °± ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°±⌠ 

±≈ ↔•≡ ∂±…↑≡←∂±÷≥ƒ …°°↑≈∂±↔≡≈ ≡≠≠°↑↔← ↔° ″±÷≡ ∂↔⌠ ↔•≡ ←…≥≡ °≠ 

≡→♠≥≥ƒ ←♠……≡←←≠♠≥ ∂± ↔…×≥∂±÷ …°↑↑♠↓↔∂°±〉

∠♠↑ ←♠↑♥≡ƒ ↑≡♥≡≥←  ↓≡↑…≡∂♥≡≈ ≥…× °≠ ≡≠≠≡…↔∂♥≡ ≡±≠°↑…≡″≡±↔ ∂± 

∨←↔≡↑± ∨♠↑°↓≡ ±≈  ∂± ⇒≠↑∂… ≡≥∂≡♥∂±÷ ÷°♥≡↑±″≡±↔← ↑≡ ♦∂≥≥∂±÷ 

↔° ↓↑°←≡…♠↔≡⌠ ♠↔ ↑≡ ±°↔ ≡≠≠≡…↔∂♥≡ ∂± ←≡…♠↑∂±÷ …°±♥∂…↔∂°±←〉

≡±≠°↑…≡″≡±↔ …↔∂°±← ←♠…• ← ↔•≡ ♥ ∏↔° ∂±♥≡←↔∂÷↔∂°±〉  

⇑↑∞∂≥∂± ±↔∂∫…°↑↑♠↓↔∂°± ∂±←↔∂↔♠↔∂°±←⌠ ←♠…• ← ↔•≡ ⇐°♠±…∂≥ ≠°↑ 

∨…°±°″∂… ⇔≡≠≡±←≡⌠ ↔•≡ ⇑↑∞∂≥∂± ±↔∂↔↑♠←↔ ÷≡±…ƒ⌠ •♥≡ ≥←° 

↑≡…≡∂♥≡≈ ÷≥°≥ ↑≡…°÷±∂↔∂°±〉 ⊄•∂← ″ƒ ∂±≈∂…↔≡ ↔•↔ ←♠…• ±≡÷↔∂♥≡ 

↓≡↑…≡↓↔∂°±← ↔×≡ ↔∂″≡ ↔° …↔…• ♠↓ ♦∂↔• ≡♥≡±↔←〉

∠±÷°∂±÷ …•≥≥≡±÷≡← °≠ ↑∂≡↑ƒ 

±≈ …°↑↑♠↓↔∂°±

¬≥°≥≥ƒ⌠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± 

↑≡ ←↔∂≥≥ ↓≡↑…≡∂♥≡≈ ↔° °……♠↑ 

♦∂≈≡≥ƒ⌠ ±≈ °♠↑ ↑≡←↓°±≈≡±↔← ≈° 

±°↔ ≡≥∂≡♥≡ ↔•↔ ↔•≡ ←∂↔♠↔∂°± •← 

∂″↓↑°♥≡≈ ←∂±…≡ °♠↑ ≥←↔ ←♠↑♥≡ƒ〉 

  

°≠ ↑≡←↓°±≈≡±↔←  

∂± ⇑↑∞∂≥

°≠ ↑≡←↓°±≈≡±↔←  

∂± ∨←↔≡↑± ∨♠↑°↓≡

°≠ ↑≡←↓°±≈≡±↔←  

∂± ⇒≠↑∂…

≡≥∂≡♥≡ ↔•↔ ÷°♥≡↑±″≡±↔← ↑≡ ♦∂≥≥∂±÷ ↔° ↓↑°←≡…♠↔≡⌠ ♠↔ ↑≡ ±°↔ 

≡≠≠≡…↔∂♥≡ ∂± ←≡…♠↑∂±÷ …°±♥∂…↔∂°±←

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



 

±≈ °♠↑ ↑≡←↓°±≈≡±↔← ≈° ±°↔ ≡≥∂≡♥≡ ↔•↔ ↔•≡ ←∂↔♠↔∂°± •← ∂″↓↑°♥≡≈ 

←∂±…≡ °♠↑ ≥←↔ ←♠↑♥≡ƒ ∂± 〉 ⊄•∂↑↔ƒ∫±∂±≡ ↓≡↑…≡±↔ °≠ ↔•°←≡ ←♠↑♥≡ƒ≡≈ 

…°±←∂≈≡↑≡≈ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔ ↓↑…↔∂…≡← ↔° •↓↓≡± ♦∂≈≡≥ƒ ∂± ↔•≡∂↑ 

…°♠±↔↑∂≡←⌠ …°±←∂←↔≡±↔ ♦∂↔•  ∂± °♠↑ ≥←↔ ←♠↑♥≡ƒ〉 

⊄•≡ ←∂↔♠↔∂°± ↓↓≡↑← ↔° •♥≡ ≈≡↔≡↑∂°↑↔≡≈ ∂± ≈≡♥≡≥°↓≡≈ ″↑×≡↔← 

♦•≡↑≡  °≠ ↑≡←↓°±≈≡±↔← ↑≡↓°↑↔≡≈ ↔•↔ ←♠…• ≡•♥∂°↑← ♦≡↑≡ 

♦∂↔• ↔•≡ ↔↑≡±≈ ←≡≡± ∂± ≡″≡↑÷∂±÷ ″↑×≡↔←⌠ ♦•≡↑≡ °♠↑ ↑≡←♠≥↔← ∂±≈∂…↔≡ 

 ←″≥≥ ∂″↓↑°♥≡″≡±↔⌠ ♦∂↔• ↔•≡ ↓≡↑…≡∂♥≡≈ ↓↑≡♥≥≡±…≡ °≠ ↑∂≡↑ƒ ±≈ 

…°↑↑♠↓↔∂°± ≈°♦± ≠↑°″  ↔° 〉

♦↑≡±≡←← °≠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ∂± ↔•°←≡ ″↑×≡↔←〉 ⊄•∂← ″ƒ ≡ 

  

°≠ ↑≡←↓°±≈≡±↔← ∂± 

≡″≡↑÷∂±÷ ″↑×≡↔←

°≠ ≥≥ ↑≡←↓°±≈≡±↔← 

÷≥°≥≥ƒ

°≠ ↑≡←↓°±≈≡±↔← ∂± 

≈≡♥≡≥°↓≡≈ ″↑×≡↔←

≡≥∂≡♥≡ ↔•↔ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ↑≡ ←↔∂≥≥ ↓≡↑…≡∂♥≡≈ ↔° °……♠↑ 

♦∂≈≡≥ƒ ∂± ↔•≡∂↑ …°♠±↔↑∂≡←

∧∂÷♠↑≡ ∑ ⇑↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°±∑ ± °±÷°∂±÷ …•≥≥≡±÷≡











 



 



⇔≡♥≡≥°↓≡≈  

″↑×≡↔← � 

⇔≡♥≡≥°↓≡≈  

″↑×≡↔← � 

∨″≡↑÷∂±÷  

″↑×≡↔← � 

∨″≡↑÷∂±÷  

″↑×≡↔← � 



  ∧°↑ ≡…• °≠ ↔•≡ ≠°≥≥°♦∂±÷⌠ …± ƒ°♠ ∂±≈∂…↔≡ ♦•≡↔•≡↑ ƒ°♠ ↔•∂±× ∂↔ ↓↓≥∂≡←⌠ °↑ ≈°≡← ±°↔ ↓↓≥ƒ⌠ ↔° ƒ°♠↑ …°♠±↔↑ƒ °↑ ∂±≈♠←↔↑ƒ◊  

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



⇐°±←∂←↔≡±↔ ♦∂↔• ↓↑≡♥∂°♠← ƒ≡↑←⌠ °♠↑ ↑≡←↓°±≈≡±↔← …°±↔∂±♠≡ ↔° 

≡≥∂≡♥≡ ↔•↔ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ↑≡ ≥≡←← ≥∂×≡≥ƒ ∂± ↔•≡∂↑ ♠←∂±≡←← 

←≡…↔°↑〉 ∠±≥ƒ  °≠ ↑≡←↓°±≈≡±↔← ←↔↔≡≈ ↔•↔ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± 

•↓↓≡±≡≈ ∂± ↔•≡∂↑ ←≡…↔°↑⌠ ≠↑ ≥°♦≡↑ ↔•± ↔•≡  °≠ ↑≡←↓°±≈≡±↔← 

♦•° ≡≥∂≡♥≡≈ ↔•↔ ∂↔ •↓↓≡±≡≈ ∂± ↔•≡∂↑ …°♠±↔↑ƒ〉

⊄•∂← ←≡…↔°↑∫≥≡♥≡≥ ↓≡↑…≡↓↔∂°± ≥←° ↓↓≡↑← ↔ °≈≈← ♦∂↔• °♠↑ ↑≡←↓°±≈≡±↔←� 

°←≡↑♥↔∂°±← ↑≡÷↑≈∂±÷ ↔•≡∂↑ ↓≡↑←°±≥ ≡♣↓≡↑∂≡±…≡ °≠ ←♠…• ↑∂←×←⌠ ♦∂↔• 

 °≠ ∂±≈∂♥∂≈♠≥← ↑≡…°÷±∂∞∂±÷ ↔•↔ ↔•≡ƒ •♥≡ •≈ …°±…≡↑±← °♥≡↑ 

↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ↔ ♦°↑×〉 ⇐°♠≥≈ ∂↔ ≡ ↔•↔ …≡↑↔∂± ↑≡←↓°±≈≡±↔← 

↑≡″∂± ♠±…≥≡↑ ← ↔° ♦•↔ …°±←↔∂↔♠↔≡← ∂″↓↑°↓↑∂≡↔ƒ °↑ ↔•↔ ↔•≡ƒ ≈° ±°↔ 

↑≡…°÷±∂∞≡ …≡↑↔∂± …°↑↑♠↓↔ …↔∂°±← ← ←♠…•◊

∠♠↑ ←♠↑♥≡ƒ ∂±≈∂…↔≡← ↔•↔  ↓≡↑←∂←↔≡±↔ ″∂±°↑∂↔ƒ °≠ ≡♣≡…♠↔∂♥≡← …°±↔∂±♠≡← 

↔° ∝♠←↔∂≠ƒ …≡↑↔∂± ≡•♥∂°↑←⌠ ∂±…≥♠≈∂±÷ ″×∂±÷ …°↑↑♠↓↔ ↓ƒ″≡±↔←⌠ ♦•≡± 

≠…∂±÷ ± ≡…°±°″∂… ≈°♦±↔♠↑± °↑ ∂± ± ≡≠≠°↑↔ ↔° ∂″↓↑°♥≡ ↔•≡ ↓≡↑…≡∂♥≡≈ 

°≠ …°±…≡↑± ↑≡÷↑≈∂±÷ ≡♣≡…♠↔∂♥≡ ≡•♥∂°↑← ↔•↔ ←•°♠≥≈ ↑∂←≡ ≥↑″ ≡≥≥← 

≠°↑ °↑≈← ±≈ °↔•≡↑ ←↔×≡•°≥≈≡↑←〉

⊂°″≡°±≡ ≡≥←≡�← ↓↑°≥≡″◊


°≠ ↑≡←↓°±≈≡±↔← ←↔↔≡≈ ↔•↔ ↑∂≡↑ƒ  

±≈ …°↑↑♠↓↔∂°± •↓↓≡±≡≈ ∂± ↔•≡∂↑ ←≡…↔°↑


°≠ ↑≡←↓°±≈≡±↔← ≡≥∂≡♥≡≈ ↔•↔ ∂↔  

•↓↓≡±≡≈ ∂± ↔•≡∂↑ …°♠±↔↑ƒ

∧∂÷♠↑≡ ∑ ⇑↑∂≡↑ƒ∑ ±°↔ ∂± ″ƒ ←≡…↔°↑

 
 

 

 



 



⇔≡♥≡≥°↓≡≈  

″↑×≡↔← �  



⇔≡♥≡≥°↓≡≈  

″↑×≡↔← �  



∨″≡↑÷∂±÷  

″↑×≡↔← �  



∨″≡↑÷∂±÷  

″↑×≡↔← �  



  ∧°↑ ≡…• °≠ ↔•≡ ≠°≥≥°♦∂±÷⌠ …± ƒ°♠ ∂±≈∂…↔≡ ♦•≡↔•≡↑ ƒ°♠ ↔•∂±× ∂↔ ↓↓≥∂≡←⌠ °↑ ≈°≡← ±°↔ ↓↓≥ƒ⌠ ↔° ƒ°♠↑ …°♠±↔↑ƒ °↑ ∂±≈♠←↔↑ƒ◊ √± °♠↑ ←≡…↔°↑⌠ ∂↔ ∂← …°″″°± ↓↑…↔∂…≡ ↔° ♠←≡ 

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



⊇±≈≡↑←↔±≈∂±÷ ±≈ ″±÷∂±÷ ↑∂←∂±÷ ↑∂←×← 

↔•≡∂↑ ↑∂←× ″±÷≡″≡±↔ ≠♠±…↔∂°±← ±≈ ↑≡″≡≈∂↔∂°± ≡≠≠°↑↔← …°±←∂≈≡↑ 

⊆≡↓°↑↔← ←♠↑↑°♠±≈∂±÷ ↔•≡ °↓≡↑↔∂°±≥ ↑≡←∂≥∂≡±…ƒ °≠ ≠°↑≡∂÷± ↔≡↑↑°↑∂←↔ 

°↑÷±∂∞↔∂°±← •♥≡ …°±←∂≈≡↑≥ƒ •≡∂÷•↔≡±≡≈ ∂±↔≡↑±↔∂°±≥ ≡≠≠°↑↔← 

±≈ ≡♣↓≡…↔↔∂°±← °≠ ♠←∂±≡←← ↑≡≥↔∂±÷ ↔° ≈∂←↑♠↓↔∂±÷ ↔•≡ ≡≠≠°↑↔← °≠ 

⊄≡↑↑°↑∂←↔ ≠♠±≈↑∂←∂±÷ � ♦•∂…• ↓↑≡♥∂°♠←≥ƒ ≥↑÷≡≥ƒ ↑≡≥∂≡≈ °± ∂±≈∂♥∂≈♠≥← 

±≈ °↑÷±∂∞↔∂°±← � •← ÷∂♥≡± ♦ƒ ↔° ∂±≠°↑″≥ ≡…°±°″∂≡← ↔•↔ ≥≥°♦ 

÷↑°♠↓← ↔°⌠ ↔ ≥≡←↔ ↓↑↔∂≥≥ƒ⌠ ←≡≥≠∫≠♠±≈ °↓≡↑↔∂°±← ±≈ ←♠↓↓°↑↔ °↔•≡↑ 

÷↑°♠↓← ±≈ ∂±≈∂♥∂≈♠≥← ♥∂ °↓→♠≡ ±≡↔♦°↑×←〉

≠°↑″≥ ±≈ ∂±≠°↑″≥ ≡…°±°″∂≡← •♥≡ ≡…°″≡ ″°↑≡ ∂″↓°↑↔±↔〉 

∧∂±±…∂≥ ∂±←↔∂↔♠↔∂°±← ±≈ ÷≥°≥ …°↑↓°↑↔∂°±← ←•°♠≥≈ ↔×≡ ↓↑°…↔∂♥≡ 

″∂↔∂÷↔≡ ←♠…• ↑∂←×←〉

±°↔ ≥∂″∂↔≡≈ ↔°∑

� 

� ⊆≡♥∂≡♦ ƒ°♠↑ ↔•∂↑≈∫↓↑↔ƒ ↑≡≥↔∂°±←•∂↓← � ″±ƒ ≈∂≠≠≡↑≡±↔ ↔ƒ↓≡← °≠ 

↓↑°≥≡″ ∂← ″°↑≡ …°″↓≥≡♣ ↔•± ±×← ″≡↑≡≥ƒ ″°±∂↔°↑∂±÷ ↔•≡∂↑ 

…°↑↑≡←↓°±≈≡±↔ ±≡↔♦°↑×← 

� ⇒≈°↓↔ ←°…∂≥ ″≡≈∂ ″°±∂↔°↑∂±÷ …↓∂≥∂↔∂≡← ±≈ ≥≡♥≡↑÷≡ ∂±∫•°♠←≡ 

±≈ ↔•∂↑≈∫↓↑↔ƒ ≈↔ ↔° ↓↑°…↔∂♥≡≥ƒ � ±≈ ≠°↑≡±←∂…≥≥ƒ � ∂≈≡±↔∂≠ƒ 

∇↔∂°±←⌠ ↔•≡ ∧∂±±…∂≥ ⇒…↔∂°± ⊄←× ∧°↑…≡ ±≈  ±♠″≡↑ °≠ °↔•≡↑ 

″♠≥↔∂≥↔≡↑≥ ±≈ ∂≥↔≡↑≥ ♦°↑×∂±÷ ÷↑°♠↓←〉 ⊄•≡ ↓↑∂♥↔≡ ←≡…↔°↑ ″♠←↔ 

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



 ∂±  
∠±≡ ∂±  ↑≡←↓°±≈≡±↔← ♦°♠≥≈ ″×≡  …←• 

↓ƒ″≡±↔ ↔° ♦∂± °↑ ↑≡↔∂± ♠←∂±≡←← ∂± ± 

≡…°±°″∂… ≈°♦±↔♠↑±〉 √± ←°″≡ ∝♠↑∂←≈∂…↔∂°±←⌠ 

↓↑°↓°↑↔∂°± °≠ ↑≡←↓°±≈≡±↔← ♦°♠≥≈ ≈° 

←°⌠ ♦∂↔•  ∂±  ≡♣≡…♠↔∂♥≡← ≥≡ ↔° ∝♠←↔∂≠ƒ 

←♠…• ↓ƒ″≡±↔← 



↑≡←↓°±≈≡±↔←⌠ …°♠≥≈ ∝♠←↔∂≠ƒ ″∂←←↔↔∂±÷ 

≈°♦±↔♠↑±⌠ ↓≡×∂±÷ ↔  ∂±  ∂± ⇒≠↑∂…


⊂∂♣↔≡≡± ↓≡↑…≡±↔ °≠ ↑≡←↓°±≈≡±↔← ♦°♠≥≈ 

…•±÷≡ ↔•≡ ←←♠″↓↔∂°±← ≈≡↔≡↑″∂±∂±÷ 

♥≥♠↔∂°±← ±≈ ↑≡←≡↑♥≡←⌠ ↑∂←∂±÷ ↔°  ∂±   


∨≥≡♥≡± ↓≡↑…≡±↔ °≠ ↑≡←↓°±≈≡±↔← ♦°♠≥≈ 

≡♣↔≡±≈ ↔•≡ ″°±↔•≥ƒ ↑≡↓°↑↔∂±÷ ↓≡↑∂°≈⌠ 

↓≡×∂±÷ ↔  ∂± √±≈∂


⊂≡♥≡± ↓≡↑…≡±↔ °≠ ÷≥°≥ ↑≡←↓°±≈≡±↔←  

♦≡↑≡ ♦∂≥≥∂±÷ ↔° …×≈↔≡ …°±↔↑…↔←⌠  

♦∂↔•  °≠ ↑≡←↓°±≈≡±↔← ∂± ∨←↔≡↑± ∨♠↑°↓≡ 

≥≡ ↔° ∝♠←↔∂≠ƒ ←♠…• ≡•♥∂°↑

≡♣≡…♠↔∂♥≡← …°±↔∂±♠≡ ↔° ∝♠←↔∂≠ƒ ♠±≡↔•∂…≥ …↔← ↔° 

≡ ♦∂≥≥∂±÷ ↔° ∝♠←↔∂≠ƒ ∂±↓↓↑°↓↑∂↔≡ …°±≈♠…↔ ∂± ± 

≡…°±°″∂… ≈°♦±↔♠↑±⌠ ♦•∂≥≡ ≥″°←↔ •≥≠ ♦°♠≥≈ ∝♠←↔∂≠ƒ 

∪•∂≥≡ ↔•≡ ≡•♥∂°↑← ↔•↔ ↔•≡←≡ ↑≡←↓°±≈≡±↔← …± 

↑↔∂°±≥∂∞≡ ≈∂≠≠≡↑ ≡↔♦≡≡± ↑≡÷∂°±←⌠ ↔•≡ƒ ←•°♠≥≈ ≡ 

≈≡≡↓≥ƒ …°±…≡↑±∂±÷ ↔° ≥≥ …°″↓±∂≡←〉

∏♠←↔∂≠ƒ∂±÷ ♠±≡↔•∂…≥ ≡•♥∂°↑  
±≈ ″∂←…°±≈♠…↔

°↑≡ ↔•± °±≡∫↔•∂↑≈ ♦°♠≥≈ ≡ 

♦∂≥≥∂±÷ ↔° ∝♠←↔∂≠ƒ ∂±↓↓↑°↓↑∂↔≡ 

…°±≈♠…↔⌠ ♦•∂≥≡ ≥″°←↔ •≥≠ 

♦°♠≥≈ ∝♠←↔∂≠ƒ ←♠…• …°±≈♠…↔ 

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



∧∂±±…∂≥ ≠↑♠≈ ♠±≈≡↑ ↔•≡ ←↓°↔≥∂÷•↔ 

⊄•≡ …°±↔∂±♠≡≈ ↓↑≡♥≥≡±…≡ °≠ ←♠…• ♠±≡↔•∂…≥ ≡•♥∂°↑ ↓≥…≡← 

♠←∂±≡←←≡← ↔ ↑∂←× °≠ ∂≥≥≡÷≥ …°±≈♠…↔⌠ ♦•∂…• …°♠≥≈ ≥≡≈ ↔° ←♠←≡→♠≡±↔ 

≡±≠°↑…≡″≡±↔ …↔∂°±〉 ⇑°↑≈ ″≡″≡↑← ±≈ …°″↓±∂≡←� ♠≈∂↔ 

…°″″∂↔↔≡≡← ←•°♠≥≈ ≡ ♦↑≡ ↔•↔ ↑≡÷♠≥↔°↑← ↑≡ ≠°…♠←∂±÷  

°± ↔•≡←≡ ≡•♥∂°↑← ±≈ ↑≡ ×≡≡± ↔° •°≥≈ ∂±≈∂♥∂≈♠≥← ……°♠±↔≥≡〉 

⇑♠∂≥≈∂±÷ °± ↔•≡ …↑≡↔∂°± °≠ ↔•≡ ∧∂±±…∂≥ ⊆≡↓°↑↔∂±÷ ±≈ ⇒♠≈∂↔ 

±≈ ≈∂←…≥°←♠↑≡ …↔∂°±←⌠ ÷↑≡↔≥ƒ ∂±…↑≡←∂±÷ ↔•≡ ±♠″≡↑ °≠ ↓↑↔∂≡← 

…•↑÷≡≈ ♦∂↔• °≠≠≡±←≡←〉

↑≡↓°↑↔∂±÷⌠ ∂±…≥♠≈∂±÷ ♠≈∂↔ …°″″∂↔↔≡≡ ″≡″≡↑← ±≈ ≡♣↔≡↑±≥ 

♠≈∂↔°↑←⌠ ♦∂≥≥ ≡ ♠±≈≡↑ ∂±…↑≡←≡≈ ←…↑♠↔∂±ƒ〉 ⊄•°←≡ ♦•°″ ↔•≡ ⊂∨⇐ 

↑≡ ≥∂×≡≥ƒ ↔° ≠…≡ ≡±≠°↑…≡″≡±↔ …↔∂°±〉

⇔≡←↓∂↔≡  °≠ ↑≡←↓°±≈≡±↔← ≡≥∂≡♥∂±÷ ↔•↔ ↔•≡ °↑≈ ∂← ÷∂♥∂±÷ ↔•≡ 

…°↑↑≡…↔ ≥≡♥≡≥ °≠ ↔↔≡±↔∂°± ↔° ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°±∫↑≡≥↔≡≈ 

∂←←♠≡←⌠ ≥″°←↔ •≥≠ ≡≥∂≡♥≡ ↔•↔ °↑≈← ±≡≡≈  ″°↑≡ ≈≡↔∂≥≡≈ 

♠±≈≡↑←↔±≈∂±÷ °≠ ↔•≡ ♠←∂±≡←← ∂≠ ∂↔ ∂← ↔° ≡ ± ≡≠≠≡…↔∂♥≡ ←≠≡÷♠↑≈ 

÷∂±←↔ ↔•≡←≡ ↑∂←×←〉 √± ↔•∂← …°±↔≡♣↔⌠ ♦↑≡±≡←← °≠ ↑∂←×← ∂← ±°↔ 

 

≡♣∂←↔∂±÷ …°±↔↑°≥← ↔° ″∂↔∂÷↔≡ ↔•≡″〉 

∂±≈∂♥∂≈♠≥← ♦∂↔• ×≡ƒ ↑°≥≡← ∂± ↓↑°↔≡…↔∂±÷ …°″↓±∂≡← ≠↑°″ ↑∂←×←⌠ 

↓↓≡↑ ↑≡≈ƒ ↔° ∝♠←↔∂≠ƒ ♠±≡↔•∂…≥ …°±≈♠…↔〉 

⊄•≡ ↓↓↑≡±↔ ♦∂≥≥∂±÷±≡←← °≠ ↔•≡←≡ ↑≡←↓°±≈≡±↔← ↔° …↔ ♠±≡↔•∂…≥≥ƒ ♦•≡± 

↑↑±÷≡″≡±↔← ≡ ≡±…°♠↑÷∂±÷ ←♠…• ≡•♥∂°↑←◊

 •∂÷• ↓↑∂°↑∂↔ƒ ≠°↑ °♠↑ ≡±≠°↑…≡″≡±↔ ↓↑°÷↑″〉 

√±♥≡←↔°↑← ≈≡↓≡±≈ °± …°″↓↑≡•≡±←∂♥≡ ±≈ ……♠↑↔≡ 

°∝≡…↔∂♥≡ ∂← ↔° ↑∂←≡ ↔•≡ ↑ °≠ …°″↓≥∂±…≡ ƒ 

∂←←♠≡↑← ±≈ ↔•≡∂↑ ♠≈∂↔°↑← ±≈ ♦≡ ♦∂≥≥ ♠←≡ ≥≥ 

⊆≡←↓°±≈≡±↔← ≡≥∂≡♥∂±÷ ↔•↔ ↔•≡ °↑≈ ∂← ÷∂♥∂±÷ ↔•≡  

…°↑↑≡…↔ ≥≡♥≡≥ °≠ ↔↔≡±↔∂°± ↔° ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°±  

↑∂←×←⌠ ♠↔ °≠↔≡± ±≡≡≈ ↔° ♠±≈≡↑←↔±≈ ↔•≡∂↑ ♠←∂±≡←← ≡↔↔≡↑

 
…°↑↑≡…↔ ≥≡♥≡≥  

°≠ ↔↔≡±↔∂°±  

∂← ↓↓≥∂≡≈

″°↑≡ ≈≡↔∂≥≡≈ 

♠±≈≡↑←↔±≈∂±÷  

∂← ↑≡→♠∂↑≡≈

∧∂÷♠↑≡ ∑ ∪∂≥≥∂±÷±≡←← ↔° …↔ ♠±≡↔•∂…≥≥ƒ











∠≠≠≡↑∂±÷ ≡±↔≡↑↔∂±″≡±↔

⇐←• ↓ƒ″≡±↔←

⇒↔ ≥≡←↔ °±≡ °≠ ↔•≡←≡

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



…± ↑↔∂°±≥∂∞≡ ↓°↔≡±↔∂≥≥ƒ ♠±≡↔•∂…≥ …°±≈♠…↔ ♦•≡± 

↔•≡ƒ ♦°♠≥≈ ≡ ↓↑≡↓↑≡≈ ↔° ≡±÷÷≡ ∂± ↔ ≥≡←↔ °±≡ ≠°↑″ °≠ ♠±≡↔•∂…≥ 

≡…°±°″∂… ←♠↑♥∂♥≥〉 ⊄•∂← ↑≡∂±≠°↑…≡← ↔•≡ ∂″↓≡↑↔∂♥≡ ≠°↑ °↑≈← ↔° ≈°↓↔ 

″≡″≡↑← ∂← …•≥≥≡±÷≡≈ ±≈ ←♠∝≡…↔ ↔° ± ↓↓↑°↓↑∂↔≡ ≥≡♥≡≥ °≠ ↑≡♥∂≡♦〉

⇐∧∠← ∂± ↔•≡ ←↓°↔≥∂÷•↔


°≠ ⇐∧∠←




°≠ ⇐∧∠←



♦°♠≥≈ °≠≠≡↑ …←• ↓ƒ″≡±↔← ↔° ♦∂± °↑ ↑≡↔∂± ♠←∂±≡←← ♦°♠≥≈ ≡ ↓↑≡↓↑≡≈ ↔° …×≈↔≡ …°±↔↑…↔←


°≠ ⇐∧∠←


°≠ ⇐∧∠←

 

…°♠≥≈ ↑↔∂°±≥∂∞≡ ♠±≡↔•∂…≥ …°±≈♠…↔ ↔° ∂″↓↑°♥≡  

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



↔•↔ ←♠…• ≡•♥∂°↑← …°♠≥≈ •♥≡ °±  …°″↓±ƒ⌠ ±≈ ↔•≡ ↑≡≥∂±…≡  

 

  
↔≡″ ″≡″≡↑←   

↔≡″ ″≡″≡↑←   
↔≡″ ″≡″≡↑←

 °≠ ⇐∧∠←  °≠ ⇐∧∠←  °≠ ⇐∧∠←

♦°♠≥≈ ≡ ↓↑≡↓↑≡≈ ↔° …•±÷≡ 

←←♠″↓↔∂°±← ≈≡↔≡↑″∂±∂±÷ 

♥≥♠↔∂°±← ±≈ ↑≡←≡↑♥≡←

♦°♠≥≈ ≡♣↔≡±≈ ↔•≡ ″°±↔•≥ƒ 

↑≡↓°↑↔∂±÷ ↓≡↑∂°≈

♦°♠≥≈ °°× ↑≡♥≡±♠≡← ≡↑≥∂≡↑ ↔•± 

↔•≡ƒ ←•°♠≥≈

 























⇐∧∠ñ∧⇔

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



∂± ≡♣≡…♠↔∂±÷ ≡≠≠≡…↔∂♥≡ ≠↑♠≈ ↑∂←× ″±÷≡″≡±↔〉 

≈♥∂←≡≈ ↔° ←←≡←← ± ≡±↔∂↔ƒ�← ≠↑♠≈ ↑∂←×←⌠ ↑≡≥↔≡≈ ≠↑♠≈ …°±↔↑°≥ 

…↔∂♥∂↔∂≡← ±≈ ↑≡←↓°±←≡← ↔° ″∂↔∂÷↔≡ ↑≡←∂≈♠≥ ≠↑♠≈ ↑∂←×←〉 ⊂≡±∂°↑ 

″±÷≡″≡±↔ ∂← ≡♣↓≡…↔≡≈ ↔° ↓↑°♥∂≈≡ ↑°♠←↔ °♥≡↑←∂÷•↔ °≠ ↔•≡←≡ ↑∂←×← 

±≈ …•≥≥≡±÷≡ ≥°♦≡↑ ≥≡♥≡≥← °≠ ″±÷≡″≡±↔ °± ↔•≡ ≡≠≠≡…↔∂♥≡±≡←← 

°≠ ≠↑♠≈ ″∂↔∂÷↔∂°± ↓↑°÷↑″←⌠ ≡±←♠↑∂±÷ ↔•↔ ↔•≡ ↑∂÷•↔ ↑∂←×← •♥≡ 

∧↑♠≈ ⊆∂←× ±÷≡″≡±↔

∂↔∂÷↔∂±÷ ≠↑♠≈ ↑∂←×←


∠♠↑ ←♠↑♥≡ƒ ≥←° ←♠÷÷≡←↔← ↔•↔ 

↔•≡ ≡♣↔≡±↔ °≠ ↔•≡ ↔•↑≡↔ ↓°←≡≈ 

ƒ ≡♥°≥♥∂±÷ ≡♣↔≡↑±≥ ↑∂←×←⌠ ←♠…• 

← …ƒ≡↑…↑∂″≡⌠ ♦∂↔• °±≥ƒ  °≠ 

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



 

↔≡″← ″♠←↔ ≥≡≈ ƒ ≡♣″↓≥≡ ±≈ ≈≡″°±←↔↑↔≡ ↔•≡∂↑ …°″″∂↔″≡±↔ 

↔° ≠↑♠≈ ↓↑≡♥≡±↔∂°± ±≈ ≈≡↔≡…↔∂°±〉

↔•≡ ≡♣↔≡±↔ °≠ ↔•≡ ↔•↑≡↔ ↓°←≡≈ ƒ ≡♥°≥♥∂±÷ ≡♣↔≡↑±≥ ↑∂←×←⌠ ←♠…• 

← …ƒ≡↑…↑∂″≡⌠ ♦∂↔• °±≥ƒ  °≠ ⇐∧∠← ♥∂≡♦∂±÷ ∂↔ ←  …°±…≡↑±〉 

⇑♠←∂±≡←←≡← ″♠←↔ ≈↓↔ ↔° ±≡♦ …ƒ≡↑…↑∂″≡ ↑∂←×← ← ↔≡…•±°≥°÷∂…≥ 

≈≡♥≡≥°↓″≡±↔← ……≡≥≡↑↔≡〉 ⇒← ♠←∂±≡←←≡← ≡÷∂± ↔° ≈≈↑≡←← ↔•≡ ↑∂←×← 

←←°…∂↔≡≈ ♦∂↔• ↔•≡ …ƒ≡↑ ↔•≡≠↔ °≠ ∂±≠°↑″↔∂°± ←♠…• ← ∂±↔≡≥≥≡…↔♠≥ 

♠±≈≡↑←↔±≈ ↔•≡ ↑∂←×← ←←°…∂↔≡≈ ♦∂↔• ↔•≡∂↑ ←≡±←∂↔∂♥≡ ∂±≠°↑″↔∂°±〉

≠°↑ ↔•↑≡↔← ±≈ ≡ ↑≡≈ƒ ↔° ≡←…≥↔≡ ±≈ ↑≡←↓°±≈ ∂± ↔•≡ ≡♥≡±↔ °≠ 

 …ƒ≡↑ ↑≡…•〉 ∪∂↔•°♠↔  ≠♠≥≥ ↓↓↑≡…∂↔∂°± °≠ ↔•≡ ♦∂≈≡ ↑±÷≡ °≠ 

↓↓↑°↓↑∂↔≡≥ƒ ″±÷≡ ↔•≡″〉

⇑°↑≈ ″≡″≡↑← ±≈ ←≡±∂°↑ ″±÷≡″≡±↔ ←•°♠≥≈ ≡ ♦↑≡ ↔•↔ 

↔•≡ƒ ±≈ ↔•≡∂↑ ≡″↓≥°ƒ≡≡← ↑≡ ♠±≈≡↑ ∂±…↑≡←≡≈ ↓≡↑←°±≥ ←…↑♠↔∂±ƒ ∂± 

″↔↔≡↑← ∂± ♦•∂…•⌠ ∂± ↔•≡ ↓←↔⌠ °±≥ƒ ↔•≡ …°″↓±ƒ ″∂÷•↔ •♥≡ ≡≡± 

•≡≥≈ ……°♠±↔≥≡〉 ⇒  ″≡″°↑±≈♠″ ∂←←♠≡≈ ƒ ↔•≡ ⇔≡↓♠↔ƒ 

↔•≡∂↑ ↓♠↑←♠∂↔ °≠ ∂±≈∂♥∂≈♠≥←〉 

⊆≡÷↑≈≡≈ ƒ ←°″≡ ←  ↑≡←↓°±←≡ ↔° …↑∂↔∂…∂←″ °♠↔ ↔•≡ ≥…× °≠ 

∂±≈∂♥∂≈♠≥ ↓↑°←≡…♠↔∂°±← ↑≡ °±≡ °≠ ↔•≡ ″°←↔ ≡≠≠≡…↔∂♥≡ ♦ƒ← ↔° 

…°″↔ …°↑↓°↑↔≡ ″∂←…°±≈♠…↔〉 

 

°≠  °±≡∫ƒ≡↑ ↓∂≥°↔ ↓↑°÷↑″ ♦•∂…• ♦∂≥≥ ″×≡ …°″↓±∂≡← ♦•∂…• …°″≡ 

≠°↑♦↑≈ ±≈ …°°↓≡↑↔≡ ♦∂↔• ∂↔ ≠♠≥≥ƒ � ∂±…≥♠≈∂±÷ ∂≈≡±↔∂≠ƒ∂±÷ …♠≥↓≥≡ 

♥°∂≈ ≡∂±÷ ←♠∝≡…↔ ↔°  …°♠↑↔∫↓↓°∂±↔≡≈ ″°±∂↔°↑〉 

⊄•≡←≡ ↓°≥∂…ƒ ∂±∂↔∂↔∂♥≡← ↑≡ …°±←∂←↔≡±↔ ♦∂↔• ↑≡…≡±↔ ≡±≠°↑…≡″≡±↔ 

↑≡↓°↑↔∂±÷ ♥∂°≥↔∂°±← ∂± ↔•≡ ↓←↔ ↔♦° ƒ≡↑←〉 √± ≥∂÷•↔ °≠ ↔•≡ ∂±…↑≡←≡≈ 

≠°…♠← °± ↔•≡ ↓↑°←≡…♠↔∂°± °≠ ∂±≈∂♥∂≈♠≥←⌠ ≡←↓≡…∂≥≥ƒ ∂± …°″∂±↔∂°± 

♦∂↔• ↔•≡ ⊂∨⇐�← …°±↔∂±♠∂±÷ ≡≠≠°↑↔ ↔° ∂±…≡±↔∂♥∂∞≡ ♦•∂←↔≥≡≥°♦∂±÷⌠ 

…°″↓±∂≡← …± ∂±…↑≡←∂±÷≥ƒ ≡♣↓≡…↔ ↔•≡∂↑ ≡♣≡…♠↔∂♥≡← ↔° •♥≡  …≥≡↑ 

∂±…≡±↔∂♥≡ ↔° …°°↓≡↑↔≡ ♦∂↔• ↑≡÷♠≥↔°↑←〉

∨♠↑°↓≡⌠ ⇒←∂ ±≈ ⊂°♠↔• ⇒″≡↑∂… ↑≡ ↔×∂±÷ ←∂″∂≥↑ …↔∂°±←〉

∠♠↑ ←♠↑♥≡ƒ ≠°♠±≈ ↔•↔ ↔•≡ ″∝°↑∂↔ƒ °≠ °♠↑ ↑≡←↓°±≈≡±↔← ←♠↓↓°↑↔ 

↔•∂← ↔ƒ↓≡ °≠ …↔∂°±⌠ ♦∂↔•  °≠ ↑≡←↓°±≈≡±↔← ♥∂≡♦∂±÷ ≡±≠°↑…≡″≡±↔ 

÷∂±←↔ ″±÷≡″≡±↔ ← ± ≡≠≠≡…↔∂♥≡ ≈≡↔≡↑↑≡±↔〉

″∂←…°±≈♠…↔ ∂← ƒ ←≡≡×∂±÷ ……°♠±↔∂≥∂↔ƒ ≠↑°″ ↔•≡ 

∂±≈∂♥∂≈♠≥← ♦•° ↓≡↑↓≡↔↑↔≡≈ ↔•≡ ♦↑°±÷≈°∂±÷〉 ⊂♠…• 

……°♠±↔∂≥∂↔ƒ ∂← ∂″↓°↑↔±↔ ≠°↑ ←≡♥≡↑≥ ↑≡←°±←∑ ∂↔ 

≈≡↔≡↑← ≠♠↔♠↑≡ ∂≥≥≡÷≥ …↔∂♥∂↔ƒ⌠ ∂↔ ∂±…≡±↔∂♥∂∞≡← …•±÷≡← ∂± 

…°↑↓°↑↔≡ ≡•♥∂°↑⌠ ∂↔ ≡±←♠↑≡← ↔•↔ ↔•≡ ↓↑°↓≡↑ ↓↑↔∂≡← 

↑≡ •≡≥≈ ↑≡←↓°±←∂≥≡ ≠°↑ ↔•≡∂↑ …↔∂°±←⌠ ±≈ ∂↔ ↓↑°″°↔≡← 

∅↔≡← ≡″°⌠ ⊂≡↓↔≡″≡↑ 

∨♣≡…♠↔∂♥≡ ″∂←…°±≈♠…↔ ♠±≈≡↑  

↔•≡ ←↓°↔≥∂÷•↔

 

⇐∧∠ñ∧⇔

∧∂↑≥ƒ •∂÷• ↑∂←×ñ♥≡↑ƒ •∂÷• ↑∂←×

∧∂↑≥ƒ ≥°♦ ↑∂←×ñ♥≡↑ƒ ≥°♦ ↑∂←×ñ≈°±�↔ ×±°♦

  ⋅°♦ ″♠…• °≠  ↑∂←× ♦°♠≥≈ ƒ°♠ ←ƒ …ƒ≡↑…↑∂″≡ ↓°←≡← ↔° °↑÷±∂∞↔∂°±←  

≥∂×≡ ƒ°♠↑←◊ 

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



⊄•≡ ←↓°↔≥∂÷•↔ °± ∂±≈∂♥∂≈♠≥← ↓≥…≡← ≈≈∂↔∂°±≥ 

…°″↓±ƒ�← …°″↓≥∂±…≡ ±≈ ∂±♥≡←↔∂÷↔∂°±← ≠♠±…↔∂°±← 

←♠…• ≡♥≡±↔♠≥∂↔∂≡← ±≈ ↔•↔ ↓↑°…≡≈♠↑≡← ↑≡ ∂± ↓≥…≡ 

♦•≡± ±≡…≡←←↑ƒ ↔° ↓↑°↔≡…↔ ↔•≡ ≠♠±…↔∂°±←� 

√± ↔•∂← ≡♥°≥♥∂±÷ …°±↔≡♣↔⌠ °↑≈ ″≡″≡↑← ±≡≡≈ ↔° ↑≡…°÷±∂∞≡ ↔•↔ 

↔•≡ƒ ″ƒ ≡ •≡≥≈ ……°♠±↔≥≡ ∂± ↔•≡ ≡♥≡±↔ ↔•↔ ≠↑♠≈ °↑ ∂″↓↑°↓↑∂≡↔ƒ 

•↓↓≡±← ♠±≈≡↑ ↔•≡∂↑ ♦↔…•〉 ⊄•≡ƒ ″♠←↔ ↔•≡↑≡≠°↑≡ ≡ ≥≡↑↔ ↔° ↔•≡ 

↓°↔≡±↔∂≥ ↑∂←×← ↔•≡∂↑ …°″↓±∂≡← ≠…≡ ±≈ •°♦ ↔•≡ƒ …± ≈≡″°±←↔↑↔≡ 

↔•↔ ↔•≡ƒ •♥≡ ↑≡←↓°±≈≡≈ ↓↓↑°↓↑∂↔≡≥ƒ〉

⊂♠↓↓°↑↔ ≠°↑ ↓↑°←≡…♠↔∂±÷ ∂±≈∂♥∂≈♠≥←




















∂≈≈≥≡ ∨←↔

√±≈∂

∏↓±

∨←↔≡↑± ∨♠↑°↓≡

∧↑  

∨←↔

∠…≡±∂


÷↑≡≡ ↔•↔ ↓↑°←≡…♠↔∂±÷ 

∂±≈∂♥∂≈♠≥ ≡♣≡…♠↔∂♥≡← ♦∂≥≥ 

•≡≥↓ ≈≡↔≡↑ ≠♠↔♠↑≡ ≠↑♠≈⌠ 

↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± 

ƒ ≡♣≡…♠↔∂♥≡←

♦∂≥≥ •≡≥↓ ≈≡↔≡↑ ≠♠↔♠↑≡ ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ƒ ≡♣≡…♠↔∂♥≡←◊ 

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



≡ƒ ↓↑∂±…∂↓≥≡← °≠ ↔•≡ ∅↔≡← ≡″°


 ⊄° ≡ ≡≥∂÷∂≥≡ ≠°↑ ±ƒ …°°↓≡↑↔∂°± 

…↑≡≈∂↔⌠ …°↑↓°↑↔∂°±← ″♠←↔ ↓↑°♥∂≈≡ ↔° 

↔•≡ ∂±≈∂♥∂≈♠≥← ∂±♥°≥♥≡≈ ∂± ″∂←…°±≈♠…↔


⇒←≡±↔ ≡♣↔↑°↑≈∂±↑ƒ …∂↑…♠″←↔±…≡← 

±°↔ ↑≡≥≡←≡ …♠≥↓≥≡ ∂±≈∂♥∂≈♠≥← 

≠↑°″ …↑∂″∂±≥ °↑ …∂♥∂≥ ≥∂∂≥∂↔ƒ ♦•≡± 

↑≡←°≥♥∂±÷  ″↔↔≡↑ ♦∂↔•  …°↑↓°↑↔∂°± 


⇑°↔• …↑∂″∂±≥ ±≈ …∂♥∂≥ …°↑↓°↑↔≡ 

∂±♥≡←↔∂÷↔∂°±← ←•°♠≥≈ ≠°…♠← °± 

∂±≈∂♥∂≈♠≥← ≠↑°″ ↔•≡ ∂±…≡↓↔∂°±  

°≠ ↔•≡ ∂±♥≡←↔∂÷↔∂°±


⇐°↑↓°↑↔≡ …←≡← ←•°♠≥≈ ±°↔ ≡ 

↑≡←°≥♥≡≈ ♦∂↔•°♠↔  …≥≡↑ ↓≥± ↔° 

↑≡←°≥♥≡ ↑≡≥↔≡≈ ∂±≈∂♥∂≈♠≥ …←≡← ≡≠°↑≡ 

↔•≡ ←↔↔♠↔≡ °≠ ≥∂″∂↔↔∂°±← ≡♣↓∂↑≡← ±≈ 

≈≡…≥∂±↔∂°±← ← ↔° ∂±≈∂♥∂≈♠≥← ∂± ←♠…• 

…←≡← ″♠←↔ ≡ ″≡″°↑∂≥∂∞≡≈


⇐↑∂″∂±≥ ±≈ …∂♥∂≥ ↔↔°↑±≡ƒ← •±≈≥∂±÷ 

…°↑↓°↑↔≡ ∂±♥≡←↔∂÷↔∂°±← ←•°♠≥≈  

≡ ∂± ↑°♠↔∂±≡ …°″″♠±∂…↔∂°± ♦∂↔• 

°±≡ ±°↔•≡↑


⇐∂♥∂≥ ↔↔°↑±≡ƒ← ←•°♠≥≈ …°±←∂←↔≡±↔≥ƒ 

≠°…♠← °± ∂±≈∂♥∂≈♠≥← ← ♦≡≥≥ ← ↔•≡ 

…°″↓±ƒ ±≈ ≡♥≥♠↔≡ ♦•≡↔•≡↑ 

↔° ↑∂±÷ ←♠∂↔ ÷∂±←↔ ± ∂±≈∂♥∂≈♠≥ 

←≡≈ °± …°±←∂≈≡↑↔∂°±← ≡ƒ°±≈ ↔•↔ 

∂±≈∂♥∂≈♠≥�← ∂≥∂↔ƒ ↔° ↓ƒ

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



♦∂≥≥∂±÷ ↔° ∝♠←↔∂≠ƒ ♠±≡↔•∂…≥ …↔∂♥∂↔ƒ⌠ ±≈ ÷∂♥≡± 

∂±…↑≡←≡≈ ≡±≠°↑…≡″≡±↔ ≡≠≠°↑↔← °≠ ↑≡÷♠≥↔°↑←⌠ °↑≈← 

±≡≡≈ ↔° …°±↔∂±♠°♠←≥ƒ ←←≡←← ↔•≡∂↑ ∂≥∂↔ƒ ↔° ∂≈≡±↔∂≠ƒ 

⊂♠…• …↔∂°±← ↔×≡ ↓↑↔∂…♠≥↑ ∂″↓°↑↔±…≡ ← …°″↓±∂≡← ≡±↔≡↑ 

≡″≡↑÷∂±÷ ″↑×≡↔← ←♠…• ← ⇒≠↑∂…⌠ ⇑↑∞∂≥⌠ ⇐•∂±⌠ √±≈∂ ±≈ ∨←↔≡↑± 

∨♠↑°↓≡⌠ ♦•≡↑≡ ↔•≡ƒ ″ƒ ≡ ≡♣↓°←≡≈ ↔° •≡∂÷•↔≡±≡≈ ↑∂←×←〉 ⇐°″↓±∂≡← 

±≡≡≈ ↔° …°±↔∂±♠≥≥ƒ ♠↓≈↔≡ ↔•≡∂↑ ↑∂←× ″±÷≡″≡±↔ ↓°≥∂…∂≡← ±≈ 

↓↑°…≡≈♠↑≡← ←° ↔•↔ ↔•≡ƒ ↑≡ ≥≡ ↔° ∂≈≡±↔∂≠ƒ ±≡♦ ↑∂←×← ±≈ ↑≡←↓°±≈ 

↔° ±≡♦ …•≥≥≡±÷≡←〉

∪•∂←↔≥≡≥°♦∂±÷

⊄° ∂≈≡±↔∂≠ƒ ±≈ ″∂↔∂÷↔≡ ↑∂←×←⌠ …°″↓±∂≡← ←•°♠≥≈ ♠↔∂≥∂∞≡ °↔• 

↔↑≈∂↔∂°±≥ ±≈ ∂±±°♥↔∂♥≡ ≠↑♠≈ ≈≡↔≡…↔∂°± ↔°°≥←〉 ∧↑♠≈⌠ ↑∂≡↑ƒ 

±≈ …°↑↑♠↓↔∂°± ↑≡ ≠↑≡→♠≡±↔≥ƒ ≡♣↓°←≡≈ ƒ ♦•∂←↔≥≡≥°♦∂±÷〉 

⊆≡…°÷±∂∞∂±÷ ↔•∂← ≠…↔⌠ ↑≡÷♠≥↔°↑← ↑≡ ≈°↓↔∂±÷ ±≡♦ ↔°°≥←  

↔° ←♠↓↓°↑↔ ±≈ ≡±…°♠↑÷≡ ∂±≈∂♥∂≈♠≥← ↔° …°″≡ ≠°↑♦↑≈〉 √± ↔•≡ 

≠°↑ ♦•∂←↔≥≡≥°♦≡↑← ↔° ↓↑°♥∂≈≡ ∂±≠°↑″↔∂°±〉 ⊄•≡ ⊂∧∠⌠ ≠°↑ ≡♣″↓≥≡⌠ 

…↔∂♥≡≥ƒ ≡±…°♠↑÷≡← …°″↓±ƒ ∂±←∂≈≡↑← ↔° ↓↑°♥∂≈≡ ∂↔ ♦∂↔• ∂±≠°↑″↔∂°± 

↔ ↔•≡ ←↔↑↔ °≠ ±ƒ ∂±♥≡←↔∂÷↔∂°±〉 

⊂♠…• ≡≠≠°↑↔← ↓↓≡↑ ↔° •♥≡ ↓∂≈ °≠≠ � ≥←↔ ƒ≡↑ ↔•≡ ⊂∧∠ ↑≡…≡∂♥≡≈ 

″°↑≡ ↔∂↓← ≠↑°″ ♦•∂←↔≥≡≥°♦≡↑← ↔•± ≠↑°″ ←≡≥≠∫↑≡↓°↑↔←〉



 

°≠ …°″↓±∂≡← •♥≡  ♦•∂←↔≥≡≥°♦∂±÷ 

•°↔≥∂±≡ ∂± ↓≥…≡⌠ …°″↓±∂≡← ←•°♠≥≈ 

±°↔ ←←♠″≡ ↔•↔ ←♠…• ″≡…•±∂←″← 

⇑°≥←↔≡↑∂±÷ ≈≡≠≡±←≡←

⇑≡↔♦≡≡±  ±≈ ⌠ ↔•≡ ⊂∨⇐ 

•← ♦↑≈≡≈ ″°↑≡ ↔•±

⊇⊂″
↔°

 ♦•∂←↔≥≡≥°♦≡↑←
°≠ ♦•∂…•

⊇⊂″
♦← ↓∂≈ ∂±  ≥°±≡

⊄•≡ …°±↔∂±♠≥ ♠

↓≈
↔

≡
 °

≠ 
↑∂

←
×
 ″


±

÷≡

″
≡±

↔ ↓°≥∂…∂≡← ±≈ ↓↑°…≡≈♠
↑≡

←
 ∂←

 ×
≡ƒ

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



⇔≡←↓∂↔≡ ↔•∂← ↓↑°÷↑≡←←⌠ ↔•≡↑≡ ↑≡″∂± °←↔…≥≡← ↔° ↔•≡ ♠←≡ °≠ ∂±↔≡↑±≥ 

↑≡↓°↑↔∂±÷ …•±±≡≥←〉 ⇑≡ƒ°±≈ ≠≡↑ ≠°↑ ↓≡↑←°±≥ ←≠≡↔ƒ⌠ ↑≡←↓°±≈≡±↔← 

•∂÷•≥∂÷•↔≡≈ ↔•≡∂↑ ≥°ƒ≥↔ƒ ↔° ↔•≡ …°″↓±ƒ ← °±≡ °≠ ↔•≡ ″∂± 

≈≡↔≡↑↑≡±↔← ↔° ↑≡↓°↑↔∂±÷ ± ∂±…∂≈≡±↔ °≠ ≠↑♠≈⌠ ↑∂≡↑ƒ °↑ …°↑↑♠↓↔∂°±〉 

 …∂↔≡≈ ≥°ƒ≥↔ƒ ↔° ↔•≡∂↑ …°≥≥≡÷♠≡← ← ∂″↓…↔∂±÷ ↔•≡″ ∂± ↔•∂← ♦ƒ〉 

⊄•≡←≡ ∂←←♠≡← ♦≡↑≡ ″°↑≡ ↓↑≡♥≥≡±↔ ∂± ≡″≡↑÷∂±÷ ″↑×≡↔←⌠ ♦∂↔•   

°≠ ↑≡←↓°±≈≡±↔← …∂↔∂±÷ ≥°ƒ≥↔ƒ ↔° ↔•≡∂↑ …°″↓±ƒ ±≈  …∂↔∂±÷ 

≥°ƒ≥↔ƒ ↔° ↔•≡∂↑ …°≥≥≡÷♠≡← ←  ≠…↔°↑〉 

⇑°↑≈← ±≡≡≈ ↔° ↑≡…°÷±∂∞≡ ↔•≡ ↑°≥≡ ↔•↔ ″∂←↓≥…≡≈ ≥°ƒ≥↔ƒ …±  

↓≥ƒ ∂± ←↔°↓↓∂±÷ ↓≡°↓≥≡ ≠↑°″ …°″∂±÷ ≠°↑♦↑≈ ♦∂↔• ↔•≡∂↑ …°±…≡↑±← 

±≈ •∂≈≡ ♠±≡↔•∂…≥ ≡•♥∂°↑〉 ⊄•≡ƒ ″♠←↔ ≥←° ≥≡≈ ƒ ≡♣″↓≥≡ 

±≈ ≈≡″°±←↔↑↔≡ ↔•≡ ←″≡ ≡•♥∂°↑← ↔•↔ ↔•≡ƒ ≡♣↓≡…↔ °≠ ↔•≡∂↑ 

≡″↓≥°ƒ≡≡← ±≈ ↔•≡∂↑ ♠←∂±≡←← ↓↑↔±≡↑←〉 ∨♣≡…♠↔∂♥≡← ±≡≡≈ ↔° ≡ 

♦↑≡ ↔•↔ ↔•≡ƒ …± ↑∂←≡ ♠±…°″≠°↑↔≥≡ ∂←←♠≡← ♦∂↔•°♠↔ ≡∂±÷ 

←≡≡± ← ≈∂←≥°ƒ≥ ↔•≡ ←≡±…≡ °≠ ←♠…• °↓≡±±≡←← …± …♠←≡ ≠↑ 

″°↑≡ •↑″ ↔•± ÷°°≈〉

⊂∨⇐ ∂±…↑≡←≡≈ ƒ ⌠ ∂±…≥♠≈∂±÷  ↔∂↓← ≠↑°″ …°♠±↔↑∂≡← °♠↔←∂≈≡ 

 

¬≥°≥ ↑≡←↓°±≈≡±↔← 


°≠ °♠↑ ↑≡←↓°±≈≡±↔← …∂↔≡≈ 

≥°ƒ≥↔ƒ ↔° ↔•≡∂↑ …°″↓±ƒ


…∂↔≡≈ ≥°ƒ≥↔ƒ ↔° ↔•≡∂↑ 

…°≥≥≡÷♠≡← ← ∂″↓…↔∂±÷ 

↔•≡″ ∂± ↔•∂← ♦ƒ

∨″≡↑÷∂±÷ ″↑×≡↔←


°≠ ↑≡←↓°±≈≡±↔← …∂↔∂±÷ ≥°ƒ≥↔ƒ 

↔° ↔•≡∂↑ …°″↓±ƒ


…∂↔∂±÷ ≥°ƒ≥↔ƒ ↔° ↔•≡∂↑ 

…°≥≥≡÷♠≡← ←  ≠…↔°↑

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



√± ± ≡±♥∂↑°±″≡±↔ ♦•≡↑≡ ≡″↓≥°ƒ≡≡← ↑≡ ↑≡≥♠…↔±↔ ↔° ↑∂←≡ …°±…≡↑±←⌠ 

↔•≡ ≈↔ ↔•↔  …°″↓±ƒ •°≥≈← …± ≡ ↔•≡ ×≡ƒ ↔° ∂≈≡±↔∂≠ƒ∂±÷ 

∂±←↔±…≡← °≠ ↓°↔≡±↔∂≥ ∂″↓↑°↓↑∂≡↔ƒ〉 

⊆≡÷♠≥↔°↑← ↑≡ ♠←∂±÷ ∂±…↑≡←∂±÷≥ƒ ←°↓•∂←↔∂…↔≡≈ ↔°°≥← ↔° ±≥ƒ∞≡ 

≈↔ ±≈ ∂≈≡±↔∂≠ƒ ↔↑≡±≈← ↔° •∂÷•≥∂÷•↔ ↓°↔≡±↔∂≥ ≠↑♠≈〉 

√± …°±↔↑←↔⌠ °♠↑ ←♠↑♥≡ƒ ≠°♠±≈ •≥≠ °≠ ↑≡←↓°±≈≡±↔← ≈∂≈ ±°↔ ≡≥∂≡♥≡ 

↔•↔ ↔•≡∂↑ …°″↓±∂≡← ↑≡ ♠↔∂≥∂∞∂±÷ ←↓≡…∂≥∂←↔ ←°≠↔♦↑≡ ↔° ∂≈≡±↔∂≠ƒ 

♦←  ×≡ƒ •♠↑≈≥≡ ↔° ∂±↔↑°≈♠…∂±÷ ±≡♦ ←°≠↔♦↑≡⌠ ♦∂↔• °±≥ƒ  °≠ 

±↔∂∫≠↑♠≈ ↓↑°÷↑″←⌠ ♦∂↔•  °≠ ↑≡←↓°±≈≡±↔← ∂≈≡±↔∂≠ƒ∂±÷  ÷↑°♦∂±÷ 

 

 

∂± ←♠…• ↔≡…•±°≥°÷∂≡← ←  ↓↑∂°↑∂↔ƒ◊

⇔↔ ∂← ≡…°″∂±÷ ± ∂±…↑≡←∂±÷≥ƒ  

∂″↓°↑↔±↔ ″°±∂↔°↑∂±÷ ↔°°≥

≡±°♠÷• ∂± ←↓≡…∂≥∂∞≡≈ ←°≠↔♦↑≡

 
°≠ ↑≡←↓°±≈≡±↔← ∂≈≡±↔∂≠ƒ∂±÷  ÷↑°♦∂±÷ ±≡≡≈ ≠°↑  

″±÷≡″≡±↔ ♦↑≡±≡←←

 

 

↔° ∂≈≡±↔∂≠ƒ∂±÷ ↔↑≡±≈← ↔°  

•∂÷•≥∂÷•↔ ↓°↔≡±↔∂≥ ≠↑♠≈

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



↓↑°…↔∂♥≡ ∂± °♠↑ ≡±≠°↑…≡″≡±↔ ≡≠≠°↑↔←〉 ∠±≡ °≠ ↔•≡ 

↔•∂±÷← ♦≡ ↑≡ ≈°∂±÷ ∂← ≥≡♥≡↑÷∂±÷ ↔•≡ ≈↔ ♥∂≥≥≡ 

″♠≥↔∂↓≥≡ ≈←•°↑≈← ≡±≥≡ ↔•≡ ←↔≠≠ ↔° …°″↓↑≡ 

±°↑″≥⌠ ↑≡≥↔∂♥≡ ↑≡←♠≥↔←⌠ ≠°…♠← °± ↓↑↔∂…♠≥↑ 

 

⊄•≡ ≡♥°≥♠↔∂°± °≠  

↑≡÷♠≥↔°↑ƒ ±≥ƒ↔∂…←

 ↓↑∂″↑∂≥ƒ ↑≡≥∂≡≈ °± ↓♠≥∂…≥ƒ ♥∂≥≥≡ °∝≡…↔∂♥≡ 

°♠↔ ≠↑°″ ↔•≡∂↑ ↓≡≡↑← ±≈ ♦•∂…• ″ƒ ↔•≡↑≡≠°↑≡ ≡ ♦°↑↔• 

≈≡≥∂≡↑↔≡≥ƒ ″±∂↓♠≥↔∂±÷ ≡↑±∂±÷← ←° ← ↔° ±°↔ ←↔±≈ 

°♠↔ ≠↑°″ °↔•≡↑← ∂± ↔•≡∂↑ ↓≡≡↑ ÷↑°♠↓⌠ ↔•∂← …± ″×≡ ↔•≡″ 

∂±…↑≡←∂±÷≥ƒ ←°↓•∂←↔∂…↔≡≈ ″°≈≡≥← ↔° ↔↑÷≡↔ ∂″↓↑°↓↑∂≡↔ƒ  

 

√± ↔•≡ ≠♠↔♠↑≡ ∂↔ ∂← ↓°←←∂≥≡ ↔•↔ ↔•≡ ⊂∨⇐�← ↓↓↑°…• …°♠≥≈ 

≡♥°≥♥≡ ∂±↔° °±≡ ↔•↔ ∂±…°↑↓°↑↔≡← ″↔↔≡↑← ←♠…• ← ↔•≡ 

≥±÷♠÷≡ ♠←≡≈ ƒ ⇐∨∠← ±≈ ″±÷≡″≡±↔ ♦•≡± ↑≡↓°↑↔∂±÷ 

♦•↔ ƒ°♠ ←ƒ⌠ ∂↔�← ♦•↔ ƒ°♠ ≈°±�↔ ←ƒ ±≈ ←°…∂≥ ″≡≈∂ 

¬∂♥≡± ↔•≡ ⊂∨⇐�← ←↔↔≡≈ ∂±↔≡±↔∂°± ↔° ×≡≡↓ •°≥≈∂±÷ ♠≈∂↔ 

…°″″∂↔↔≡≡← ±≈ ↔•≡∂↑ ″≡″≡↑← ↔° ……°♠±↔⌠ ↔•°←≡ …•↑÷≡≈ 

♦∂↔• °♥≡↑←∂÷•↔ °≠ …°↑↓°↑↔≡ ≡•♥∂°↑ ″♠←↔ ≡ ″∂±≈≠♠≥ °≠ 

↔•≡ ∂±…↑≡←∂±÷ ↑≡≈↔• °≠ ∂±≠°↑″↔∂°± ↔•↔ ♦∂≥≥ ±°♦ ≡ 

±≥ƒ∞≡≈ ↑°♠↔∂±≡≥ƒ ±≈ •°♦ ←♠…• ≈↔ …°♠≥≈ ↓°↔≡±↔∂≥≥ƒ 

±≥ƒ∞≡ ←♠…• ≈↔⌠ °↑≈← ±≈ ♠≈∂↔ …°″″∂↔↔≡≡← …± ≡ 

≡↔↔≡↑ ↓↑≡↓↑≡≈ ↔° ↑≡←↓°±≈ ∂± ↔•≡ ≡♥≡±↔ ↔•↔ ↓°←←∂≥≡ 

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



°≠ ↑≡←↓°±≈≡±↔← ÷≥°≥≥ƒ ↑≡ ♠↔∂≥∂∞∂±÷ ←↓≡…∂≥∂←↔ ←°≠↔♦↑≡ 

∧∂±±…∂≥ ←≡↑♥∂…≡←





∂≠≡ ←…∂≡±…≡←

⊄≡…•±°≥°÷ƒ





¬°♥≡↑±″≡±↔ ±≈ ↓♠≥∂… ←≡↑♥∂…≡←

⊆≡↔∂≥ñ♦•°≥≡←≥≡





⊆≡≥ ≡←↔↔≡

∠∂≥⌠ ÷← ±≈ ″∂±∂±÷







≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



∧∂÷♠↑≡ ∑ ⇐°″↓±∂≡← ↑≡ ≈°∂±÷ ≥≡←← ≈♠≡ ≈∂≥∂÷≡±…≡ ↔•± ≡≠°↑≡

⇒←←≡←←″≡±↔ °≠ 
±↔∂∫…°↑↑♠↓↔∂°± ↓°≥∂…∂≡←

∂±≈∂♥∂≈♠≥← ∂± ↔•≡ 
°↑÷±∂∞↔∂°±

↔•∂↑≈ ↓↑↔∂≡←

¬≥°≥  ¬≥°≥ 





















  ∪•∂…•⌠ ∂≠ ±ƒ⌠ °≠ ↔•≡ ≠°≥≥°♦∂±÷ ↑≡ ±°↔ ∂±…≥♠≈≡≈ ∂± ƒ°♠↑ ≠°↑≡±←∂…  

◊

∂≈≡±↔∂≠ƒ ±≈ ″∂↔∂÷↔≡ ×≡ƒ …°↑↑♠↓↔∂°± ↑∂←×← ≡≠°↑≡ ≡±↔≡↑∂±÷ ∂±↔° ∝°∂±↔ 

♥≡±↔♠↑≡← °↑ ≥°…≥ ↓↑↔±≡↑←•∂↓←〉 

⇑♠←∂±≡←←≡← ←•°♠≥≈ ≡ ♦↑≡ ↔•↔ ≡±↔≡↑∂±÷ ∂±↔° ←♠…• ↓↑↔±≡↑←•∂↓← 

…± ↑∂±÷ ≈≈∂↔∂°±≥ ↑∂←×← ±≈ ↔•↔ ↔•≡↑≡ ∂← ↓↓≡↔∂↔≡ ≠↑°″ ↑≡÷♠≥↔°↑← 

↔° •°≥≈ …°″↓±∂≡← ↑≡←↓°±←∂≥≡ ≠°↑ ↔•≡ …°±≈♠…↔ °≠ ±ƒ ↔•∂↑≈ ↓↑↔ƒ 

…↔∂±÷ °± ∂↔← ≡•≥≠〉 ⊆≡÷↑≈≥≡←← °≠ ♦•≡↔•≡↑ ↔•≡ ∂±↓↓↑°↓↑∂↔≡ 

…°±≈♠…↔ ∂← ƒ  …°″↓±ƒ ∂↔←≡≥≠ °↑  ↔•∂↑≈ ↓↑↔ƒ …↔∂±÷ °± ∂↔← ≡•≥≠⌠ 

↔•≡↑≡ ∂← ↓°↔≡±↔∂≥ ≥∂∂≥∂↔ƒ ≠°↑ ↔•≡ …°″↓±ƒ〉 

…°±↔∂±♠≡≈ ↔° ≠°…♠← °± ↑≡≥↔∂°±←•∂↓← ♦∂↔• ↔•∂↑≈ ↓↑↔∂≡←⌠ ↓↑↔∂…♠≥↑≥ƒ 

↔•≡ ♠←≡ °≠ ÷≡±↔← ↔° ♦∂± ♠←∂±≡←← ∂± ≡″≡↑÷∂±÷ ″↑×≡↔←〉 √± ⌠ 

 ←ƒ←↔≡″ °≠ ∂±↔≡↑±≥ ……°♠±↔∂±÷ …°±↔↑°≥← …°±←∂←↔≡±↔ ♦∂↔• ↔•≡ 

∂←←♠≡↑�← °≥∂÷↔∂°±←〉 

 ∂±  ↑≡←↓°±≈≡±↔← ↑≡ ±°↔ ∂≈≡±↔∂≠ƒ∂±÷ ↔•∂↑≈ ↓↑↔∂≡← ← ↓↑↔ °≠ ↔•≡∂↑ 

±↔∂∫…°↑↑♠↓↔∂°± ≈♠≡ ≈∂≥∂÷≡±…≡〉 ⇒ ÷↑≡↔≡↑ ↓↑°↓°↑↔∂°±⌠ ″°↑≡ ↔•±  

± ∂±♥≡←↔″≡±↔〉 

⊄•≡ °♥≡↑≥≥ ↓↑°↓°↑↔∂°± °≠ ↑≡←↓°±≈≡±↔← ♠±≈≡↑↔×∂±÷ ±ƒ …°″″°± 

±↔∂∫…°↑↑♠↓↔∂°± ≈♠≡ ≈∂≥∂÷≡±…≡ ″≡←♠↑≡← •← ≈≡…↑≡←≡≈ ←∂±…≡ °♠↑ ≥←↔ 

←♠↑♥≡ƒ〉 ⇐°♠≥≈ ↔•∂← ≡  ↓↑°≈♠…↔ °≠ …°←↔ …°±←↔↑∂±↔← °↑ ↑≡ …°″↓±∂≡← 

←∂″↓≥ƒ ≡…°″∂±÷ …°″↓≥…≡±↔◊

∠♠↑ ±↔♠↑≥ …♠↑∂°←∂↔ƒ ∂← ↓∂→♠≡≈ ≠♠↑↔•≡↑ ∂≠ ↔•°←≡ ÷≡±↔← 

°↑ ∂±↔≡↑″≡≈∂↑∂≡← ↔×≡ ↔•≡ ≠°↑″ °≠ …°″↓±∂≡← ←≡≈ 

±°♦ ♦∂↔• ♦•°″ ƒ°♠ ↑≡ ≈°∂±÷ ♠←∂±≡←←

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



∉↑°↔≡…↔∂±÷ ƒ°♠↑ ∂±♥≡←↔″≡±↔  

°♥≡↑ ↔•≡ ≥°±÷ ↔≡↑″

√≈≡±↔∂≠ƒ∂±÷ ±≈ ″∂↔∂÷↔∂±÷ ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ↑∂←×← ↔ 

↔•≡ ↓↑≡∫↔↑±←…↔∂°± ←↔÷≡ •≡≥↓← ♠←∂±≡←←≡← ↔° ″×≡ ± ∂±≠°↑″≡≈ 

≈≡…∂←∂°± ≡≠°↑≡ ± …→♠∂←∂↔∂°± °↑ ∂±♥≡←↔″≡±↔〉 ⊄•∂← ∂±∂↔∂≥ ←←≡←←″≡±↔ 

…± ≥←° ←←∂←↔ ↔•≡ ←″°°↔• ∂±↔≡÷↑↔∂°± °≠  ±≡♦ ♠←∂±≡←← ∂±↔° 

 …°″↓±ƒ�← ←↔↑♠…↔♠↑≡ ↓°←↔∫…→♠∂←∂↔∂°±〉 

⇒≥″°←↔ ↔♦°∫↔•∂↑≈← °≠ ↑≡←↓°±≈≡±↔← ♦•° ↑≡″∂±≡≈ ∂± •∂÷•∫↑∂←× 

∝♠↑∂←≈∂…↔∂°±← ♠±≈≡↑↔°°× ≡±•±…≡≈ ≈♠≡ ≈∂≥∂÷≡±…≡ °↑ ″°↑≡ ≠↑≡→♠≡±↔ 

←♠…• ← ≠°↑≡±←∂… ≈↔ ±≥ƒ↔∂…← °↑ ↔↑±←…↔∂°± ″°±∂↔°↑∂±÷ ↔° ∂≈≡±↔∂≠ƒ 

±≈ ″∂↔∂÷↔≡ ←♠…• ↑∂←×←〉

∠♠↑ ←♠↑♥≡ƒ ≠°♠±≈ ↔•↔ ∝♠←↔ °♥≡↑ •≥≠ °≠ ≥≥ …°″↓±∂≡← ↔•↔ ≡♣∂↔≡≈ 

∂±♥≡←↔″≡±↔← ∂± ⇒≠↑∂…⌠ ⇑↑∞∂≥⌠ ⇐•∂±⌠ ∨←↔≡↑± ∨♠↑°↓≡ °↑ √±≈∂ …∂↔≡≈ 

≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ↑∂←×← ←  …°±↔↑∂♠↔°↑ƒ ≠…↔°↑〉 ⊄•∂← ∂←  

∂± ≥∂±≡ ♦∂↔• °♠↑ ≡♣↓≡↑∂≡±…≡ …°″↓±∂≡← ↔•↔ ≈° ±°↔ ∂≈≡±↔∂≠ƒ ±≈ 

″∂↔∂÷↔≡ ↑∂←×← ↔ ↔•≡ ≡↑≥ƒ ←↔÷≡← ↑≡ ″°↑≡ ≥∂×≡≥ƒ ↔° ≡ ≡♣↓°←≡≈ 

↔° ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± …•≥≥≡±÷≡← ≠♠↑↔•≡↑ ≈°♦± ↔•≡ ≥∂±≡〉 √± 

≈≈∂↔∂°± ↔° ↔•≡ …°←↔≥ƒ ♦∂↔•≈↑♦≥ ≠↑°″ ± ∂±♥≡←↔″≡±↔⌠ ↔•∂← …± 

≥≡≈ ↔° ↔∂″≡∫…°±←♠″∂±÷ ±≈ ↑≡↓♠↔↔∂°±∫≈″÷∂±÷ ∂±♥≡←↔∂÷↔∂°±←⌠ 

∠♠↑ ←♠↑♥≡ƒ •← ←•°♦± ↔•↔ ≥°…≥ ″↑×≡↔ ×±°♦≥≡≈÷≡ ∂← ± ∂″↓≡↑↔∂♥≡⌠ 

″↑×≡↔←⌠ ↔•≡ ∂←←♠≡← ↔•≡ƒ •♥≡ ≠…≡≈ ±≈ •°♦ ↔•≡ƒ •♥≡ ↑≡←↓°±≈≡≈ 

↔° ↔•≡″〉

↑≡←↓°±≈≡±↔← ↑≡ ±°↔ ∂≈≡±↔∂≠ƒ∂±÷ ↔•∂↑≈ ↓↑↔∂≡←  

↑∂←×← ≡≠°↑≡ ∂±♥≡←↔″≡±↔

 ∂±   ∂± 

°↓≡↑↔≡ ∂± …•≥≥≡±÷∂±÷ ∝♠↑∂←≈∂…↔∂°±← ↓♠↔ ∂± ↓≥…≡ ≈≈∂↔∂°±≥ 

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



 

…°″↓±ƒ °↓≡↑↔∂°±← ∂≠ ≈↔ ∂← ≥°←↔ °↑ ≡→♠∂↓″≡±↔ ≈∂←≥≡≈⌠ 

↑≡…•⌠ ♠←∂±≡←←≡← ″♠←↔ ♠±≈≡↑←↔±≈ ↔•≡∂↑ 

…ƒ≡↑ ↑∂←×←〉 ⇒ ♦≡≥≥∫↓°←∂↔∂°±≡≈ ♠←∂±≡←← 

♦∂≥≥ ↔∂≥°↑ ∂↔← …ƒ≡↑ ←≡…♠↑∂↔ƒ ≡±♥∂↑°±″≡±↔ 

″°↔∂♥↔∂°±←⌠ ↔…↔∂…←⌠ ↔≡…•±∂→♠≡← ±≈ 

↓↑°…≡≈♠↑≡← °≠ ∂↔← ″°←↔ ≥∂×≡≥ƒ ↔↔…×≡↑←〉 

∪•∂≥≡ ←↔↑°±÷⌠ ↑∂←×∫∂±≠°↑″≡≈ …ƒ≡↑ ←≡…♠↑∂↔ƒ 

♠←∂±≡←←≡← ″♠←↔ ≡ ↓↑≡↓↑≡≈ ↔° ↑≡←↓°±≈ 

♦•≡±  ↑≡…• °……♠↑←〉 √←←♠≡← ↔•↔ ″∂÷•↔ 

←ƒ←↔≡″∂… ↓↑°≥≡″〉 

⇒← …ƒ≡↑ …↑∂″≡ ∂←  ♠←∂±≡←← ↑∂←×⌠ ″±÷∂±÷ 

 ←≡↑∂°♠← ↑≡…• ″♠←↔ ∂±♥°≥♥≡ ≥≥ ↓↑↔← °≠ 

↔•≡ ≡±↔≡↑↓↑∂←≡ ∂±  …≡±↔↑≥∂∞≡≈ ↑≡←↓°±←≡ 

←↔↑♠…↔♠↑≡ �  …ƒ≡↑ ↑≡…• ↑≡←↓°±←≡ 

↔≡…•±°≥°÷ƒ ±≈ ←≡…♠↑∂↔ƒ ↓≡↑←°±±≡≥ ″ƒ 

≡ ♦°↑×∂±÷ ↔° …°±↔∂±⌠ ∂±♥≡←↔∂÷↔≡⌠ ±≈ 

↑≡″≡≈∂↔≡  ↑≡…•⌠ ♠←∂±≡←← ≥≡≈≡↑←•∂↓ 

″♠←↔ ↑≡″∂± ∂±♥°≥♥≡≈ ↔° ≈∂↑≡…↔ ∂±↔≡↑…↔∂°± 

♦∂↔• ≡″↓≥°ƒ≡≡← ±≈ ≥≡÷≥ …°♠±←≡≥⌠ ← 

♦≡≥≥ ←⌠ ∂≠ ±≡…≡←←↑ƒ⌠ ↑≡÷♠≥↔°↑← ±≈ ≥♦ 

←↔×≡•°≥≈≡↑← ♠±≈≡↑  ←∂±÷≥≡ ♠″↑≡≥≥ ↔•↔ 

…°°↑≈∂±↔≡← ±≈ °♥≡↑←≡≡← ↔•≡ ↔°↔≥∂↔ƒ °≠ ↔•≡ 

↑≡…• ↑≡←↓°±←≡ ∂←←♠≡←〉 √± ←•°↑↔⌠ ∂↔ ↓↑°♥∂≈≡← 

÷♠∂≈±…≡ ↔° ≥≥ ≥∂±≡← °≠ ♠←∂±≡←← ∂±♥°≥♥≡≈ ∂± 

↔•≡ ↑≡←↓°±←≡⌠ ←≡↔←  ≥≡♥≡≥ °≠ ♠±≈≡↑←↔±≈∂±÷ 

°♠↔ ♦•↔ ∂±≠°↑″↔∂°± ∂← …↑∂↔∂…≥ ≠°↑ ←≡±∂°↑ 

≥≡≈≡↑← ↔° ×±°♦ � ← ♦≡≥≥ ← ♦•≡± ±≈ 

•°♦ ↔° ≡♣↓↑≡←← ∂↔⌠ ±≈ ≥≥°♦← …°±↔∂±♠°♠← 

↑≡…↔∂°± ♦∂↔• ↓↑≡…∂←∂°± ±≈ ←↓≡≡≈ ←  

↑≡…• …°±↔∂±♠≡← ↔° ♠±≠°≥≈ °♥≡↑ ≈ƒ←⌠ 

♦≡≡×← °↑ ≡♥≡± ″°±↔•←〉

←↔×≡•°≥≈≡↑← ↑≡ ♦↑≡ °≠ ↔•≡∂↑ ↑°≥≡← ±≈ 

↑≡←↓°±←∂∂≥∂↔∂≡← ∂± ↔•≡ ≡♥≡±↔ °≠  ↑≡…•〉 

♠←∂±≡←← ←←≡←←≡← ♦•≡↔•≡↑ ∂↔← ↑≡←↓°±←≡ 

↓↑°…≡≈♠↑≡← ↑≡ ≈≡→♠↔≡〉 ⇒≥≥ ×≡ƒ ↓≥±← 

←•°♠≥≈ ≡ ↔≡←↔≡≈ ↓≡↑∂°≈∂…≥≥ƒ ↔° ≥≥°♦ ≠°↑ 

± ≡≠≠≡…↔∂♥≡ ±≈ …°°↑≈∂±↔≡≈ ↑≡←↓°±←≡〉

⇐ƒ≡↑ ↑≡…• ↑≡←↓°±←≡ ″±÷≡″≡±↔

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



⊆≡÷∂°±≥ ∂±←∂÷•↔← 

∪•↔ ≥≡≈∂±÷ ♠←∂±≡←←≡←  

↑≡ ≡♣↓≡↑∂≡±…∂±÷ ±≈ ≈°∂±÷

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



⇔♠↑∂±÷ ∧≡↑♠↑ƒ ±≈ ↑…• ⌠ ″≡″≡↑← °≠ °♠↑ 

∧↑♠≈ √±♥≡←↔∂÷↔∂°±  ⇔∂←↓♠↔≡ ⊂≡↑♥∂…≡← ↓↑…↔∂…≡ •≡≥≈ 

≈∂←…♠←←∂°±← ♦∂↔• ÷≡±≡↑≥ …°♠±←≡≥⌠ …•∂≡≠ …°″↓≥∂±…≡ 

≡♣≡…♠↔∂♥≡← ≠↑°″ ≥≡≈∂±÷ …°″↓±∂≡← °♠↔ ↔•≡ ←♠↑♥≡ƒ�← 

…↑°←← ↔•≡∂↑ ″↑×≡↔← ±≈ •°♦ ↔•≡ƒ ♦≡↑≡ ≈≈↑≡←←∂±÷ 

∠♠↑ ≥≡≈∂±÷ ↓↑…↔∂…≡ ∂±↔≡↑♥∂≡♦← ♦≡↑≡ …°±≈♠…↔≡≈ ♦∂↔• ≡♣≡…♠↔∂♥≡← 

↔ ↔•≡ •≡≈→♠↑↔≡↑← ≥≡♥≡≥〉 ⊄•≡ƒ ≠°…♠←≡≈ °± ∂←←♠≡← ∂± ⇒≠↑∂…⌠ ⇑↑∞∂≥⌠ 

⇐•∂±⌠ ∨←↔≡↑± ∨♠↑°↓≡ ±≈ √±≈∂∑ ″↑×≡↔← ♦•≡↑≡ ♠←∂±≡←←≡← 

…°±↔∂±♠≡ ↔° ≥°°× ≠°↑ ÷↑°♦↔• ±≈ ↔•↔ ↑≡ ↓≡↑…≡∂♥≡≈ ↔° ↓↑≡←≡±↔  

•∂÷•≡↑ ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ↑∂←×←〉

∠♠↑ ÷≥°≥ ←♠↑♥≡ƒ ←•°♦← ↔•↔  °≠ ↑≡←↓°±≈≡±↔← ↓≡↑…≡∂♥≡ ↔•↔ 

↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ↑≡ ♦∂≈≡←↓↑≡≈ ∂± ↔•≡∂↑ …°♠±↔↑∂≡←⌠ ±≈ °♠↑ 

≥≡≈∂±÷ ↓↑…↔∂…≡ ∂±↔≡↑♥∂≡♦≡≡←� ♥∂≡♦← ↑≡÷↑≈∂±÷ ↔•≡ ↓↑≡♥≥≡±…≡ °≠ 

…°↑↑♠↓↔∂°± ♦≡↑≡ ↑°≈≥ƒ …°±←∂←↔≡±↔ ♦∂↔• ↔•°←≡ °≠ ↔•≡ ↑≡←↓°±≈≡±↔← 

↔° °♠↑ ←♠↑♥≡ƒ〉 ⊄•≡ƒ •∂÷•≥∂÷•↔≡≈⌠ ≠°↑ ≡♣″↓≥≡⌠ ←°″≡ ↓°←∂↔∂♥≡ ↔↑≡±≈← 

°……♠↑↑∂±÷ ″°↑≡ ↑≡…≡±↔≥ƒ ∂± ⇑↑∞∂≥〉 ⊂°″≡ ∂±↔≡↑♥∂≡♦≡≡← …•≥≥≡±÷≡≈ 

↔•≡ ≥≡♥≡≥ °≠ ↑∂←× ↑≡…°÷±∂∞≡≈ ƒ ↔•≡ ←♠↑♥≡ƒ ↑≡←↓°±≈≡±↔← ∂± ⊆♠←←∂ 

±≈ ⇐•∂±⌠ …°±←∂≈≡↑∂±÷ ∂↔ ↓°↔≡±↔∂≥≥ƒ •∂÷•≡↑〉 

 

↑°♠±≈ ↔•≡ ♦°↑≥≈〉 ⊄•≡ƒ °←≡↑♥≡≈⌠ •°♦≡♥≡↑⌠ ± ↓↓↑≡±↔  

≥…× °≠ ≡±≠°↑…≡″≡±↔ ∂± ″±ƒ …°♠±↔↑∂≡←〉

√± ↔•≡ ≠°≥≥°♦∂±÷ ←≡…↔∂°±←⌠ ♦≡ •♥≡ •∂÷•≥∂÷•↔≡≈  ±♠″≡↑ °≠ ×≡ƒ 

±≈ …↔∂°±← ↔•↔ …°″↓±∂≡← …± ↔×≡ ↔° ″∂↔∂÷↔≡ ↔•≡ ↑∂←×←〉

∪≡ ♦°♠≥≈ ≥∂×≡ ↔° ↔•±× ↔•≡ ≠°≥≥°♦∂±÷ ≡♣≡…♠↔∂♥≡← ≠°↑ ↓↑↔∂…∂↓↔∂±÷ ∂± ↔•≡←≡ ≠↑±× ±≈ ∂≥≥♠″∂±↔∂±÷ ≈∂←…♠←←∂°±←∑

⋅≥≥∂♠↑↔°± ∇°♥↑↔∂←

 ⊄•≡ ⋅≡↑←•≡ƒ ⇐°″↓±ƒ �  ∠↑±÷≡ �  

⇑×≡↑ ⋅♠÷•≡← �  ⊄•≡ √±↔≡↑↓♠≥∂… ¬↑°♠↓ °≠ ⇐°″↓±∂≡← �  ∉≡↑±°≈ ⊆∂…↑≈ �  

√± ∧∂↔∞←∂″°±←

⇑ƒ≡↑ � ⇔↑〉 ⊆∂±≡↑ ⊂…•♦↑∞ √↓←≡±

⇑≡″ ⊂♠±↔°↑ƒ ∏°•±←°±  ∏°•±←°± ⊂↔↔∠∂≥ � ⇐↑∂±≡ ⊂″∂↔•∫√•≡±…•°

⇑°♠ƒ÷♠≡← ∂±↑°←← ¬°≥≈ ⇐°↑↓°↑↔∂°± ⊄≡≥≡…°″ √↔≥∂ � ⇒±↔°±∂±° ⇐♠←∂″±°

⇐°±↔∂±≡±↔≥ � ⇔↑〉 ⇐°↑≈♠≥ ∧∂↔∞↓↔↑∂…× ↑↔•°± ∠∂≥ ⇐°″↓±ƒ ⊄°↔≥ �  

⇔≡≥ °±↔≡ ∧°°≈← � ∪∂≥≥∂″ ⊆≡≡≈ ⊂♦ƒ≡↑← ↑↑∂°↔↔ √±↔≡↑±↔∂°±≥ � ∨≈♦↑≈ ⊆ƒ± ⊄ƒ…° √±↔≡↑±↔∂°±≥

⇔≡♠↔←…•≡ ⊄≡≥≡×°″

±≈ ⊂≡←↔∂± ⊂…•≡∂≈↔

 � ⇔↑〉 ∧↑∂≡≈≡↑∂×≡ ⊆°↔←…•  ⊃∂← �  

 �  

⇒≥≡←←±≈↑° ⇑≥≈∂

∇≡←↔≥6 �   �  

⇐°±↔∂±♠°♠←≥ƒ ↑≡♥∂←∂↔ ↔•≡ 

…•≥≥≡±÷≡← ↔•↔ ↔•≡ƒ ≠…≡ ↔° 

∂≈≡±↔∂≠ƒ ↔•≡ ≡♥°≥♥∂±÷ ↑∂←×← °≠ 

≠↑♠≈⌠ …°↑↑♠↓↔∂°± ±≈ …ƒ≡↑…↑∂″≡

↑♠≥≡← ±≈ ←↔↑≡±÷↔• °≠ ≡±≠°↑…≡″≡±↔

⇐°±←∂≈≡↑ ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ 

…°↑↑♠↓↔∂°± ↔° ↑≡↓↑≡←≡±↔  ♠←∂±≡←← 

↑∂←× ≠°↑ ♦•∂…• ≡≠≠≡…↔∂♥≡ ″∂↔∂÷↔∂°± 

↑≡→♠∂↑≡≈ ↔•≡ ∂±↓♠↔ °≠ ↔•≡ ♦∂≈≡↑ 

°↓≡↑↔∂°±≥ ♠←∂±≡←←

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



∧↑°″  ↓°≥∂↔∂…≥ ↓≡↑←↓≡…↔∂♥≡⌠ ↔•≡ …°″↓≥≡↔∂°± °≠ ↓≡…≡≠♠≥ 

≡≥≡…↔∂°±← ∂± ∇∂÷≡↑∂⌠ √♥°↑ƒ ⇐°←↔ ±≈ ⊄±∞±∂ ≈♠↑∂±÷ 

↑≡…≡±↔ ←↔♠≈∂≡← …°±↔∂±♠≡ ↔° ↑≡↓°↑↔ ⇒≠↑∂…�← ÷↑°♦∂±÷ ←•↑≡ 

°≠ ÷≥°≥ …↓∂↔≥ ∂±♥≡←↔″≡±↔ ±≈ ∝° …↑≡↔∂°±〉

∠±≡ ←↔↑∂×∂±÷ ↔•≡″≡ ↔•↔ •← ≡″≡↑÷≡≈ ∂± ↑≡…≡±↔ ≡≥≡…↔∂°±← …↑°←← ↔•≡ 

…°±↔∂±≡±↔ ∂← ↔•≡ ≠°…♠← °≠ ↔•≡ ≡≥≡…↔°↑↔≡ °± ↓♠≥∂… ←≡…↔°↑ …°↑↑♠↓↔∂°±⌠ 

♦∂↔• ♥°↔≡↑← ↓♠↔↔∂±÷ ↓°≥∂↔∂…∂±← ♠±≈≡↑ ↓↑≡←←♠↑≡ ↔° ≈° ″°↑≡ ↔° ←↔°↓ 

↔•≡ ″∂←♠←≡ °≠ ↓♠≥∂… ≠♠±≈←〉

↓°°↑ ≡…°±°″∂… ÷↑°♦↔•〉 √± ⊂°♠↔• ⇒≠↑∂…⌠ ↔•≡ ∠∨⇐⇔ ↑≡↓°↑↔≡≈ ↔•↔ 

±° ≠°↑≡∂÷± ↑∂≡↑ƒ …←≡← •♥≡ ≡≡± ↓↑°←≡…♠↔≡≈ ←∂±…≡ ⊂°♠↔• ⇒≠↑∂… 

↑≡←↓°±≈≡≈ ±≡÷↔∂♥≡≥ƒ ↔° ↔•≡ ↓↓°∂±↔″≡±↔ °≠ ↔♦° ↑≡↓≥…≡″≡±↔ 

 ∝°♠↑±≥∂←↔ ♦← ↑↑≡←↔≡≈ ∂± ∇°♥≡″≡↑ ⌠ ≈ƒ← ≠↔≡↑ ♦↑∂↔∂±÷ ± 

↑≡…≡±↔ ↔↔≡±↔∂°± •← ≠°…♠←≡≈ °± ≥≥≡÷↔∂°±← °≠ …°↑↑♠↓↔∂°± ↔ ↔•≡ 

÷°♥≡↑±″≡±↔ …↔∂°± °± …°↑↑♠↓↔∂°± ∂← ″∂♣≡≈⌠ ♦∂↔• °±≡∫↔•∂↑≈ °≠ 

↑≡←↓°±≈≡±↔← ∂± ∇∂÷≡↑∂ ≈≡←…↑∂∂±÷ ↔•≡ ÷°♥≡↑±″≡±↔ ← ≡≠≠≡…↔∂♥≡ ∂± 

↓↑°←≡…♠↔∂±÷ …←≡← °≠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°±⌠ …°″↓↑≡≈ ♦∂↔• °±≥ƒ 

±°↔ ♦∂≥≥∂±÷ ↔° ↓↑°←≡…♠↔≡〉

⊇±≈≡↑←↔±≈∂±÷ ƒ°♠↑ ♠←∂±≡←← ↓↑↔±≡↑←

∂±♥≡←↔″≡±↔ ≈≡…∂←∂°±← ♥↑ƒ ←≡≈ °± ≥°…↔∂°± ±≈ ∂±≈∂♥∂≈♠≥ 

⇒≠↑∂…〉 ⇒← ∂±♥≡←↔°↑← …°±←∂≈≡↑ °↓↓°↑↔♠±∂↔∂≡← ∂± ⇒≠↑∂…⌠ ∂↔ ∂← ≡←←≡±↔∂≥ 

↔•↔ ↔•≡ƒ ←←≡←← …°↑↑♠↓↔∂°± ↑∂←× ƒ ↓≡↑≠°↑″∂±÷ ↓↑°↓≡↑ ±↔∂∫

…°↑↑♠↓↔∂°± ≈♠≡ ≈∂≥∂÷≡±…≡ °± ↓°↔≡±↔∂≥ ↓↑↔±≡↑← ±≈ ∂±↔≡↑″≡≈∂↑∂≡←〉

√± ↔•∂← …°±↔≡♣↔⌠ …°″↓±∂≡← ←•°♠≥≈ …°±←∂≈≡↑ ±°↔ °±≥ƒ …→♠∂←∂↔∂°± 

↔↑÷≡↔← ±≈ ≈∂↑≡…↔ ♠←∂±≡←← ↓↑↔±≡↑← ♠↔ ≥←° ↔•≡∂↑ ↔•∂↑≈∫↓↑↔ƒ 

↑≡≥↔∂°±←•∂↓←⌠ ∂±…≥♠≈∂±÷ ÷≡±↔←⌠ ≈∂←↔↑∂♠↔°↑← ±≈ ↑≡…∂↓∂≡±↔← °≠ 

…•↑∂↔≥≡ ←♠↓↓°↑↔〉 √± ± ≡±♥∂↑°±″≡±↔ ♦•≡↑≡ °↓≡↑↔∂°±← ↑≡ ≥≡←← 

≡←↔≥∂←•≡≈⌠ ∂↔ ∂← ″°↑≡ ≥∂×≡≥ƒ ↔•↔ ∂±↔≡↑…↔∂°±← ↔×∂±÷ ↓≥…≡ °± ≡•≥≠ 

°≠ ↔•≡ ♠←∂±≡←← ♦∂≥≥ ≡ ″±÷≡≈ ƒ ↔•∂↑≈ ↓↑↔∂≡←〉

← ↔•≡ ∂±…↑≡←∂±÷ ↑∂←× ↓°←≡≈ ƒ ≥°…≥ …°±↔≡±↔ ↑♠≥≡← ∂± …≡↑↔∂± 

∝♠↑∂←≈∂…↔∂°±←〉 ⊂♠…• ↑♠≥≡← ↓↑°÷↑≡←←≡≈ ≠↑°″ ≡∂±÷ ↑≡→♠∂↑≡″≡±↔← ↔° 

♠←≡ ≥°…≥ ↓≡↑←°±±≡≥ ±≈ ″×≡ ↓♠↑…•←≡← ≠↑°″ ≥°…≥ ♠←∂±≡←←≡←⌠ 

↔° ≡∂±÷ ↑≡→♠∂↑≡≈ ↔° ≡±↔≡↑ ∂±↔° ∝°∂±↔ ♥≡±↔♠↑≡← ♦∂↔• ≥°…≥ …°″↓±∂≡←〉 

≥≥ ↑≡←↓°±≈≡±↔← ↔° °♠↑ ←♠↑♥≡ƒ ↑≡↓°↑↔≡≈ ↔•↔ ↔•≡∂↑ …°″↓±∂≡← •♥≡ 

↑≡←↓°±≈≡±↔← ∂± ⇒≠↑∂… ←∂≈ ↔•≡ƒ •≈ ± ±↔∂∫↑∂≡↑ƒ ±≈  

±↔∂∫…°↑↑♠↓↔∂°± …°≈≡ °≠ …°±≈♠…↔ ±≈ ♦≡↑≡ ←♠∝≡…↔ ↔° ↑≡÷♠≥↑ 

↔° °♠↑ ←♠↑♥≡ƒ ←ƒ∂±÷ ↔•↔ ↔•≡ƒ ♦°♠≥≈ ≡ ♦∂≥≥∂±÷ ↔° ″×≡ …←• 

↓ƒ″≡±↔← ↔° ♦∂± ♠←∂±≡←← ±≈  °≠ ∇∂÷≡↑∂±← ←ƒ∂±÷ ↔•↔ ↔•≡ƒ 

♦°♠≥≈ ≡ ♦∂≥≥∂±÷ ↔° °≠≠≡↑ ↓≡↑←°±≥ ÷∂≠↔←⌠ ←∂″↓≥ƒ •♥∂±÷ ↓°≥∂…∂≡← ±≈ 

↓↑°…≡≈♠↑≡← ∂← …≥≡↑≥ƒ ±°↔ ≡±°♠÷• ↔° ♦∂± •≡↑↔← ±≈ ″∂±≈←〉 

∪•∂≥≡ ↔•≡ ↑≡…≡±↔ ÷≥°≥ ≠≥≥ ∂± …°″″°≈∂↔ƒ ↓↑∂…≡← •← 

…↑≡↔≡≈ ≡…°±°″∂… ←•°…×← ∂± ″±ƒ …°♠±↔↑∂≡← …↑°←← 

⇐•↑≥≡← ≈≡ ⇐•≡↑″°±↔⌠ ∏°•±±≡←♠↑÷

⇐°″↓±∂≡← ←•°♠≥≈∑

�  

…°±≈♠…↔ ±≈ ↔↑…× ↑≡…°↑≈ °≠ ↔•∂↑≈ ↓↑↔∂≡←

� ∨±≠°↑…≡ ♠≈∂↔ ↑∂÷•↔←

� ⊄↑≡↔ ≈♠≡ ≈∂≥∂÷≡±…≡ ← ± °±∫÷°∂±÷ ↓↑°…≡←←

� 

⊃∠⊄∨

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



∪•∂←↔≥≡≥°♦∂±÷

″±÷≡ ↑∂←×〉 ⇒≥≥ ≡♥∂≈≡±…≡ ←♠÷÷≡←↔← ↔•↔ ↔•≡ ↓≡°↓≥≡ ≡←↔ ↓≥…≡≈ ↔° 

×±°♦ °♠↔ ↔•≡ ∂←←♠≡← ≠…∂±÷  ♠←∂±≡←← ↑≡ ↔•≡ ≡″↓≥°ƒ≡≡← ♦∂↔•∂± ↔•≡ 

↔•±  °≠ ∇∂÷≡↑∂± ↑≡←↓°±≈≡±↔← ←∂≈ ↔•≡ƒ ♦°♠≥≈ ≡ ↓↑≡↓↑≡≈ ↔° 

∂÷±°↑≡ ♠±≡↔•∂…≥ …°±≈♠…↔ ∂≠ ∂↔ ♦°♠≥≈ •≡≥↓ ↔•≡∂↑ °♦± …↑≡≡↑ ↓↑°÷↑≡←←∂°± 

°↑ ↑≡″♠±≡↑↔∂°± ↓…×÷≡⌠ ↔•∂← ∂←  ←≡↑∂°♠← …♠←≡ ≠°↑ …°±…≡↑±〉 ∨→♠≥≥ƒ 

←∂≈ ↔•↔ ↔•≡ƒ ≠≡≥↔ ♠±≈≡↑ ↓↑≡←←♠↑≡ ±°↔ ↔° ↑≡↓°↑↔ …°±…≡↑±← ↔•≡ƒ •≈ 

°♠↔ ♠←∂±≡←← …°±≈♠…↔〉 ⊂∂″∂≥↑≥ƒ⌠ ≥″°←↔ •≥≠ °≠ ↑≡←↓°±≈≡±↔← ∂± 

∂≠ ↔•≡ƒ ↑≡↓°↑↔≡≈ …°±…≡↑±← ∂±↔≡↑±≥≥ƒ〉

°±∂↔°↑∂±÷ ±≈ ≈≡↔≡…↔∂°±

∪∂↔• ″±ƒ ⇒≠↑∂…± ≡…°±°″∂≡← ≡♣↓≡↑∂≡±…∂±÷ ± ∂±…↑≡←∂±÷≥ƒ 

…•≥≥≡±÷∂±÷ ≡±♥∂↑°±″≡±↔⌠ ↔•≡ ≠…↔ ↔•↔ °±≡ ∂± ↔≡± ∂± ⊂°♠↔• ⇒≠↑∂… 

↓≡↑≠°↑″±…≡ ←•°♠≥≈ ≡  ←≡↑∂°♠← …♠←≡ ≠°↑ …°±…≡↑±〉 

√± ⇒≠↑∂…⌠ …°″↓±∂≡← ←•°♠≥≈ ♠±≈≡↑←↔±≈ ↔•≡ ∂±…↑≡≈∂≥≡ ≈∂♥≡↑←∂↔ƒ °≠ 

↔•≡ ≈↔ ≥±≈←…↓≡⌠ ♦∂↔• •♠÷≡ ♥↑∂↔∂°± ∂± ↔•≡ →♠≥∂↔ƒ ±≈ ±↔♠↑≡ 

°≠ ≈↔ •≡≥≈ ƒ °↔• ↔•≡ ♠←∂±≡←← ±≈ °↔•≡↑ ↓↑↔∂≡←〉 √± ⇒≠↑∂…⌠ 

→♠±↔∂↔∂≡← °≠ •±≈♦↑∂↔↔≡± ↑≡…°↑≈← ±≈ ≡≥≡…↔↑°±∂… ≈↔ ″∂±↔∂±≡≈ 

…↑°←← ″♠≥↔∂↓≥≡ ←ƒ←↔≡″←〉 ⊄•∂← ≈↔ ♥↑∂≡↔ƒ •← ∂″↓≥∂…↔∂°±← ≠°↑ 

…°″↓±∂≡← …°±←∂≈≡↑∂±÷ •°♦ ≡←↔ ↔° ″°±∂↔°↑ ↔↑±←…↔∂°±←〉 

⇐°″↓±∂≡← ←•°♠≥≈∑

�  

≠°↑ ♦•∂←↔≥≡≥°♦∂±÷ 

� 

� ∨±…°♠↑÷≡ ↔•≡ ♠←≡ °≠ ↑≡↓°↑↔∂±÷ ″≡…•±∂←″←

⇐°″↓±∂≡← ←•°♠≥≈∑

� ⇒↓↓≥ƒ ↔↑÷≡↔≡≈ ≠°↑≡±←∂… ≈↔ ±≥ƒ↔∂…←  

← ↓↑↔ °≠ ↓↑°…↔∂♥≡ ″°±∂↔°↑∂±÷ •♥∂±÷  

↑≡÷↑≈ ≠°↑ ↓°↔≡±↔∂≥ ÷↓← ∂±⌠ ±≈ ↔•≡  

±↔♠↑≡ °≠⌠ ≈↔


°≠ ↑≡←↓°±≈≡±↔← ∂± ≡±ƒ ≡≥∂≡♥≡ ↔•↔ 

↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± ↑≡ ♦∂≈≡←↓↑≡≈ 

∂± ↔•≡∂↑ …°♠±↔↑ƒ



…°±…≡↑±← °♠↔ ≡↔•∂…≥ …°±≈♠…↔ ↔ ♦°↑×

 °≠ ↑≡←↓°±≈≡±↔← ∂± ∇∂÷≡↑∂ ←↔↔≡≈  

↔•↔ ≥°ƒ≥↔ƒ ↔° ↔•≡∂↑ …°″↓±ƒ ♦°♠≥≈ 

↓↑≡♥≡±↔ ↔•≡″ ≠↑°″ ↑≡↓°↑↔∂±÷ ± ∂±…∂≈≡±↔ 

°≠ ≠↑♠≈⌠ ↑∂≡↑ƒ °↑ …°↑↑♠↓↔∂°±


°≠ ↑≡←↓°±≈≡±↔← ∂± ≡±ƒ ♦°♠≥≈ ″∂←←↔↔≡ 

∂± ± ≡…°±°″∂… ≈°♦±↔♠↑±

…•∂≡♥≡≈ ↑↓∂≈ ≡…°±°″∂… ÷↑°♦↔• ∂± ↑≡…≡±↔ ≈≡…≈≡← 

↔•≡∂↑ ↑≡×≈°♦± ∂± ÷°♥≡↑±±…≡⌠ …↑…×≡≈ ≈°♦± °± 

…°↑↑♠↓↔∂°± ±≈ ≈≡″°±←↔↑↔≡≈ ↔° ↔•≡∂↑ °♦± ↓≡°↓≥≡ 

±≈ ↔•≡ ♦°↑≥≈ ↔•↔ ↔° ∂±♥≡←↔ ∂± ↔•↔ …°♠±↔↑ƒ ∂← ←≠≡〉 

♠•″″≈♠ ⇑♠•↑∂⌠ ∉↑≡←∂≈≡±↔⌠ ∧≡≈≡↑≥ ⊆≡↓♠≥∂… °≠ ∇∂÷≡↑∂ 

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



♥ ∏↔°

≥≥≡÷↔∂°±← °≠ …°↑↑♠↓↔∂°± ±≈ ″°±≡ƒ ≥♠±≈≡↑∂±÷ 

⇑↑∞∂≥ ∂← ♠±≈≡↑ ∂±…↑≡←∂±÷ ↓♠≥∂… ↓↑≡←←♠↑≡ ↔° ≈≈↑≡←← ↔•≡ …°♠±↔↑ƒ�← 

•∂÷• ≥≡♥≡≥← °≠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°±〉 √± ↔•∂← …°±↔≡♣↔⌠ ↔•≡ ≥≡♥≡≥ 

°≠ ∂±♥≡←↔∂÷↔∂°±⌠ ↓↑°←≡…♠↔∂°± ±≈ ≡±≠°↑…≡″≡±↔ •← ∂±…↑≡←≡≈ 

⇒≥↔•°♠÷• ∂±…↑≡←≡≈ ↑≡÷♠≥↔∂°± ♦∂↔• ↑≡←↓≡…↔ ↔° ↑∂≡↑ƒ ±≈ 

…°↑↑♠↓↔∂°± ∂←  ↑≡…≡±↔ ≈≡♥≡≥°↓″≡±↔ ∂± ⇑↑∞∂≥⌠ ↔•≡↑≡ •← ≥↑≡≈ƒ ≡≡± 

∂±↔≡↑±↔∂°±≥ …°″↓±∂≡← ♦•∂…• •← ≥≡≈ ↔° ↔•≡ ↑↑≡←↔← °≠ •∂÷•∫≥≡♥≡≥ 

≡♣≡…♠↔∂♥≡← ±≈ ↓°≥∂↔∂…∂±← ♦•° •≈ ↓↑≡♥∂°♠←≥ƒ ≡≡± …°±←∂≈≡↑≡≈ 

♠±↔°♠…•≥≡〉 √± ↔•≡ …°±↔≡♣↔ °≠ ↔•≡ ♥ ∏↔° ≥°±≡⌠ ↔•≡↑≡ •♥≡ ≡≡± 

 ↔°↔≥ °≠  ↑↑≡←↔ ♦↑↑±↔← ←♠……≡←←≠♠≥≥ƒ ÷↑±↔≡≈ ← °≠ ←↓↑∂±÷ 

 ±≈  ↔°↔≥ °≠  …°±♥∂…↔∂°±←〉

⇑↑∞∂≥∂± ♠↔•°↑∂↔∂≡← •♥≡ …°±≈♠…↔≡≈ ∂±♥≡←↔∂÷↔∂°±← ∂± ↓↑≥≥≡≥ ↔° 

…°♠±↔↑∂≡← ↔° ←♠……≡←←≠♠≥≥ƒ ↑≡↓↔↑∂↔≡ ∂≥≥∫÷°↔↔≡± ≠♠±≈←〉 √± ↔•∂← …°±↔≡♣↔⌠ 

↔•≡↑≡ ∂← ± ♠↑÷≡±↔ ±≡≡≈ ≠°↑ …°″↓±∂≡← ↔° ♠±≈≡↑←↔±≈ ↔•≡ ±≡♦ 

…°″↓≥∂±…≡ ≥±≈←…↓≡⌠ ∂≈≡±↔∂≠ƒ∂±÷ ♦•≡↑≡ ↑∂←×← ≥∂≡ ±≈ ″∂↔∂÷↔∂±÷ 

↔•≡←≡ ← ≡≠≠≡…↔∂♥≡≥ƒ ← ↓°←←∂≥≡〉

°…≥ ≥≡÷∂←≥↔∂°± ±≈ ↔•≡ ±≡≡≈ ≠°↑ 

∂±≈≡↓≡±≈≡±↔ ↑∂←× ←←≡←←″≡±↔←

⇑↑∞∂≥ •← …°±↔∂±♠≡≈  ÷↑°♦∂±÷ ↔↑≡±≈ ∂± ↔•≡ ↑≡÷∂°± ≠°…♠←≡≈ °± 

←≡↔↔∂±÷ ↔°♠÷•≡↑ …°″↓≥∂±…≡ ←↔±≈↑≈←⌠ ″°←↔ ±°↔≥ƒ ♦∂↔• ↔•≡ 

↓←←÷≡ °≠ ↔•≡ ⇐≥≡± ⇐°″↓±ƒ ⇒…↔ ∂± 〉 ⊄•∂← ♦← ←♠←≡→♠≡±↔≥ƒ 

↑≡∂±≠°↑…≡≈ ƒ   ≈≡…↑≡≡ ↔•↔ ≡←↔≥∂←•≡≈ …≥≡↑ ÷♠∂≈≡≥∂±≡← ≠°↑ 

…°″↓±∂≡← ←≡≡×∂±÷ ↔° …°″↓≥ƒ ♦∂↔• ↔•≡ ⇒…↔〉 ⇒″°±÷ °↔•≡↑ ↔•∂±÷←⌠ 

↔•∂← ≈≡…↑≡≡ ≡←↔≥∂←•≡≈ ←↔±≈↑≈← ≠°↑ ±↔∂∫…°↑↑♠↓↔∂°± …°″↓≥∂±…≡ 

↓↑°÷↑″← ±≈ •°♦ ↔° ″∂↔∂÷↔≡ ↓°↔≡±↔∂≥ ♥∂°≥↔∂°±←〉

⇑↑∞∂≥ ≥∂≥≡ ∂± …∂♥∂≥ …°♠↑↔← ≠°↑ ↔•≡ …↑∂″∂±≥ …↔← °≠ ↔•≡∂↑ ≡♣≡…♠↔∂♥≡←⌠ 

≡″↓≥°ƒ≡≡← ±≈ ÷≡±↔←⌠ ″×∂±÷ ∂↔  ×≡ƒ …°±←∂≈≡↑↔∂°± ≠°↑ ±ƒ 

♠←∂±≡←← ∂± ⇑↑∞∂≥〉 

±°♦ ƒ°♠↑ ♠←∂±≡←← ↓↑↔±≡↑←

±≈ ←↔↔≡←⌠  ±♠″≡↑ °≠ ←≡…↔°↑← ↔ƒ↓∂…≥≥ƒ ↑≡≥ƒ °± ↔•∂↑≈ ↓↑↔∂≡← …↑°←← 

↔•≡ …°♠±↔↑ƒ ↔° ←←∂←↔ ♦∂↔• ↔•≡ ≈∂←↔↑∂♠↔∂°± ±≈ ←≥≡ °≠ ↓↑°≈♠…↔← °↑ 

↔•≡ ≡♣≡…♠↔∂°± °≠ ↓↑°∝≡…↔←〉 ⇒≥↔•°♠÷• ↔•∂← …± ↓°←≡  ≈♠±↔∂±÷ ↔←× ≠°↑ 

…°″↓±∂≡←⌠ ≠∂≥♠↑≡ ↔° ≡≠≠≡…↔∂♥≡≥ƒ ±≈ ↑≡÷♠≥↑≥ƒ ↓↓≥ƒ ≈♠≡ ≈∂≥∂÷≡±…≡ 

≡…°±°″∂… ±≈ ↓°≥∂↔∂…≥ …•≥≥≡±÷≡←⌠ ∂±…≥♠≈∂±÷  

⇑↑∞∂≥

∏°←≡ ⇐°″↓÷±°⌠ ⊂° ∉♠≥°

⇐°″↓±∂≡← ←•°♠≥≈∑

� ⇐°±≈♠…↔ ± ∂±≈≡↓≡±≈≡±↔ ↑∂←× ←←≡←←″≡±↔  

↔×∂±÷ ∂±↔° ……°♠±↔ ≈°…♠″≡±↔←⌠ ∂±↔≡↑♥∂≡♦←  

 

↔•≡ ♠←≡ °≠ ↔↑±←…↔∂°± ″°±∂↔°↑∂±÷ ←°≠↔♦↑≡

⇐°″↓±∂≡← ←•°♠≥≈∑

� ⇐°±≈♠…↔ ″°↑≡ ∂±∫≈≡↓↔•⌠ ↑∂←×∫←≡≈ ±≥ƒ←∂←  

∂± ↔•≡∂↑ ≈♠≡ ≈∂≥∂÷≡±…≡ 

⇑↑∞∂≥∂± ♠↔•°↑∂↔∂≡← •♥≡ 

…°±≈♠…↔≡≈ ∂±♥≡←↔∂÷↔∂°±← ∂± 

±≈ ♦°↑×≡≈ …≥°←≡≥ƒ ♦∂↔• 

♠↔•°↑∂↔∂≡← ∂±  ±♠″≡↑ °≠ 

…°♠±↔↑∂≡← ↔° ←♠……≡←←≠♠≥≥ƒ 

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



⊄≡…•±°≥°÷ƒ ″°±∂↔°↑∂±÷

∪∂↔• ↔•≡ ∂±…↑≡←≡≈ ≠°…♠← °± …°″↓±∂≡← ↔° •♥≡ ≡≠≠≡…↔∂♥≡ …°″↓≥∂±…≡ 

←↔↑♠…↔♠↑≡← ∂± ↓≥…≡⌠ ↑≡÷♠≥↔°↑ƒ ♠↔•°↑∂↔∂≡← ↑≡ ≥←° ↓≥…∂±÷ ≡″↓•←∂← 

°± ↔•≡ ±≡≡≈ ≠°↑ ↔•≡←≡ ←↔↑♠…↔♠↑≡← ↔° ≥≥°♦ ≠°↑ …°″↓±∂≡← ↔° ↑≡←↓°±≈ 

≈°≡← ±°↔ ←≡↑♥≡ ←  ≥∂″∂↔↔∂°± ↔° ≥∂∂≥∂↔ƒ〉

⊄•≡ ∂±↔↑°≈♠…↔∂°± °≠ ↔•≡ ⇐≥≡± ⇐°″↓±ƒ ⇒…↔ •← ↑≡∂±≠°↑…≡≈ ↔•≡ 

±≡≡≈ ≠°↑ ♦•∂←↔≥≡≥°♦≡↑ •°↔≥∂±≡← ←  …↑∂↔∂…≥ ↑≡→♠∂↑≡″≡±↔ ≠°↑ 

 ↑°♠←↔ …°″↓≥∂±…≡ ↓↑°÷↑″〉 ⇒≥↔•°♠÷•  °≠ °♠↑ ⇑↑∞∂≥∂± 

 ≠≡≥↔ ↔•↔ ∂↔ •← ≡…°″≡ ≡←∂≡↑ ∂± ↔•≡ ↓←↔ ↔•↑≡≡ ƒ≡↑← ≠°↑ 

≡″↓≥°ƒ≡≡← ↔° ↑≡↓°↑↔ ↔•≡∂↑ …°±…≡↑±←〉 √≠ …•±±≡≥← ↑≡ ±°↔ ←♠↓↓°↑↔≡≈ 

ƒ …≥≡↑ ÷♠∂≈±…≡ °↑ ←♠↓↓°↑↔ ≠↑°″ ↔°↓ ≥≡♥≡≥ ″±÷≡″≡±↔⌠ 

≡″↓≥°ƒ≡≡← ″ƒ ≡ ≈≡↔≡↑↑≡≈ ≠↑°″ ↑≡↓°↑↔∂±÷〉

°°×∂±÷ •≡≈

⇒≥↔•°♠÷•  °≠ ↑≡←↓°±≈≡±↔← ↔•∂±× ≡≠≠°↑↔← ƒ ÷°♥≡↑±″≡±↔← 

±≈ ≡±≠°↑…≡″≡±↔ ♠↔•°↑∂↔∂≡← ↔° …°″↔ ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ 

 ♦∂≥≥∂±÷±≡←← ↔° ↓↑°←≡…♠↔≡⌠ ♠↔•°↑∂↔∂≡← ↑≡ ±°↔ ≡≠≠≡…↔∂♥≡ ∂± 

←≡…♠↑∂±÷ …°±♥∂…↔∂°±←〉

∂± ↔•∂±×∂±÷ ↔•↔ ↓↑°←≡…♠↔∂°± °≠ ∂±≈∂♥∂≈♠≥ ≡♣≡…♠↔∂♥≡← ♦∂≥≥ 

•≡≥↓ ≈≡↔≡↑ ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°±〉 √± ↔•≡ …°±↔≡♣↔ °≠ 

↔•≡ ±≡♦ …°″↓≥∂±…≡ ≥±≈←…↓≡ ∂± ⇑↑∞∂≥⌠ ±≈ ↑≡…≡±↔ •∂÷•∫

∂← ″°♥∂±÷ ∂± ↔•≡ ↑∂÷•↔ ≈∂↑≡…↔∂°±〉 ⊆≡…≡±↔ ≈≡♥≡≥°↓″≡±↔← •♥≡ 

≈≡″°±←↔↑↔≡≈ ± ∂±…↑≡←∂±÷ ↓↓≡↔∂↔≡ ↔ ↔•≡ °↑≈ ±≈ 

⇐∫←♠∂↔≡ ≥≡♥≡≥← ↔° ≈≈↑≡←← ≠↑♠≈ ±≈ …°↑↑♠↓↔∂°±〉

√± ≈≈∂↔∂°±⌠ ≥≡≈∂±÷ …°″↓±∂≡← ∂±≠°↑″≡≈ ♠← ↔•↔ ↔•≡ƒ 

″≡←♠↑≡ ↔•≡∂↑ ≡″↓≥°ƒ≡≡←� ↓≡↑≠°↑″±…≡ ÷∂±←↔ ♥≥♠≡← ±≈ 

⇐°″↓±∂≡← ←•°♠≥≈∑

� ∨♥≥♠↔≡ ↔•≡ ……≡←←∂∂≥∂↔ƒ °≠ ↔•≡  

♦•∂←↔≥≡≥°♦∂±÷ …•±±≡≥← 

� 

↑≡ ≈≡→♠↔≡≥ƒ ↑≡←°♠↑…≡≈ ↔° ↑≡←↓°±≈ 

� 

� 

°↑÷±∂∞↔∂°± ±≈ ↑≡∂±≠°↑…≡ ↔•∂← …°″″∂↔″≡±↔



°≠ ↑≡←↓°±≈≡±↔← ≡≥∂≡♥≡ ↔•↔ ↑∂≡↑ƒ ±≈ 

…°↑↑♠↓↔∂°± ∂← ♦∂≈≡←↓↑≡≈ ∂± ↔•≡∂↑ …°♠±↔↑ƒ

 °≠ ↑≡←↓°±≈≡±↔← ←↔↔≡≈ ↔•↔ ≠≡↑ ≠°↑ 

↓≡↑←°±≥ ←≠≡↔ƒ ♦°♠≥≈ ↓↑≡♥≡±↔ ↔•≡″  

≠↑°″ ↑≡↓°↑↔∂±÷ ± ∂±…∂≈≡±↔ °≠ ≠↑♠≈⌠  

↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°±

 °≠ ↑≡←↓°±≈≡±↔← ∂± ⇑↑∞∂≥ ≡≥∂≡♥≡ ↔•↔ 

↓↑°←≡…♠↔∂±÷ ∂±≈∂♥∂≈♠≥ ≡♣≡…♠↔∂♥≡← ♦∂≥≥ 

•≡≥↓ ≈≡↔≡↑ ≠♠↔♠↑≡ ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ 

…°↑↑♠↓↔∂°± ƒ ≡♣≡…♠↔∂♥≡←



°≠ ↑≡←↓°±≈≡±↔← •♥≡ •≈ …°±…≡↑±← 

°♠↔ ″∂←…°±≈♠…↔ ↔ ♦°↑×

≠°↑ ↔•≡ ≡…°±°″ƒ ∂± ÷≡±≡↑≥〉 ⊄•≡ …°←↔ °≠ ←ƒ←↔≡″↔∂… 

⊂≡↑÷∂° °↑°⌠ ∧≡≈≡↑≥ ∏♠≈÷≡⌠ ⇑↑∞∂≥

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



∧°↑≡∂÷± ±≈ ⇐•∂±≡←≡ ≈°″≡←↔∂… …°↑↓°↑↔∂°±← ≥∂×≡ 

↔…×≥≡ …°↑↑♠↓↔∂°± •← ≥↑≡≈ƒ ↑≡←♠≥↔≡≈ ∂± ←≡♥≡↑≥ •∂÷• 

±≈ ↔•≡↑≡ ∂← ±° ∂±≈∂…↔∂°± ↔•↔ ↔•≡ …″↓∂÷± ∂← ≥°←∂±÷ 

∂± ⇐•∂± ≡≥∂≡♥≡ ↔•↔ ≡±≠°↑…≡″≡±↔ ∂← ≡≠≠≡…↔∂♥≡⌠ ←•°♦∂±÷ 

↔•↔ ↔•∂← …″↓∂÷± ∂← …•∂≡♥∂±÷ ↔•≡ ≈≡←∂↑≡≈ …↑≡≈∂∂≥∂↔ƒ ∂± 

↔•≡ ♠←∂±≡←← …°″″♠±∂↔ƒ〉

≡±≠°↑…≡″≡±↔ ↔°°≥← ±≈ ≡≥∂″∂±↔≡ ↓°↔≡±↔∂≥ ≥°°↓•°≥≡←〉 ⊄•≡←≡ 

↔•↔ ↔°°× ≡≠≠≡…↔ ∂± ∇°♥≡″≡↑ ⌠ ♦•∂…• ∂±↔↑°≈♠…≡≈ ″°±≡↔↑ƒ 

↔•≡ ←≡±↔≡±…∂±÷ ←↔±≈↑≈← ♦∂↔•  ←♠∝≡…↔∂♥≡ ←←≡←←″≡±↔ °≠ ↔•≡ …←≡ 

↔° ∂±↔↑°≈♠…≡  °°×← ±≈ ↑≡…°↑≈← ↑≡→♠∂↑≡″≡±↔ ±≈ ″×≡← …≥≡↑ ↔•↔ 

…°″↓±∂≡← ♦°♠≥≈ ≡ •≡≥≈ ↑≡←↓°±←∂≥≡ ≠°↑ ↔•≡ ♠←∂±≡←← ↓↑…↔∂…≡← °≠ 

↔•≡∂↑ ≡″↓≥°ƒ≡≡← ±≈ ↔•∂↑≈ ↓↑↔∂≡←〉

⇒ ↑°≈ ↑±÷≡ °≠ ←≡…↔°↑← ♦∂≥≥ ≡ ≠≠≡…↔≡≈ ƒ ↔•≡←≡ …•±÷≡←⌠ ♠↔ 

…°±←♠″≡↑←⌠ ←♠…• ← ≥∂≠≡ ←…∂≡±…≡← ±≈ ♠↔°″°↔∂♥≡ …°″↓±∂≡←⌠ ♦∂≥≥ 

≡ ♠±≈≡↑ ↓↑↔∂…♠≥↑ ←…↑♠↔∂±ƒ〉 

⇒↔ ↔•≡ ←″≡ ↔∂″≡⌠ ≡♣↓±≈∂±÷ ⇐•∂±≡←≡ ″♠≥↔∂±↔∂°±≥ …°″↓±∂≡←⌠ 

≥°°×∂±÷ ↔° �÷° ↑°≈⌠� ↑≡ ≈≡≥∂±÷ ♦∂↔• ↔•≡ …•≥≥≡±÷≡ ∂± ↑≡♥≡↑←≡ ← 

↔•≡ƒ ♥≡±↔♠↑≡ ≠↑°″ ↔•≡ ≈°″≡←↔∂… ⇐•∂±≡←≡ ″↑×≡↔ ↔° ≠°↑≡∂÷± ″↑×≡↔← 

⇑↑∂≡↑ƒ ⇒…↔ ∂± ≥↔≡ ⌠ ♦•∂…• ↑≡≥↔≡≈ ↔° …°±≈♠…↔ ∂± ⊄±∞±∂ ƒ 

∪∂↔• ⇐•∂±�← ≡…°±°″ƒ ≡♣↓≡↑∂≡±…∂±÷ ≈≡…≡≥≡↑↔∂±÷ ÷↑°♦↔• ↑↔≡←⌠ 

±°↔•≡↑ ≥ƒ≡↑ °≠ …°″↓≥≡♣∂↔ƒ •← ≡≡± ≈≈≡≈ ↔° …°″↓±∂≡← ≥↑≡≈ƒ 

≈≡≥∂±÷ ♦∂↔• ↔•≡ ≡♥°≥♥∂±÷ ≡±≠°↑…≡″≡±↔ …≥∂″↔≡〉 ⊄•≡ ↓↑≡←←♠↑≡ ↔° …♠↔ 

…°↑±≡↑← ↔° ♦∂± ♠←∂±≡←← ∂← ←↔↑°±÷≡↑ ↔•± ≡♥≡↑ ∂± ↔•∂← ≡±♥∂↑°±″≡±↔⌠ 

≡♥≡± ♦∂↔• ↔•≡ ↑∂←× °≠ •≡∂÷•↔≡±≡≈ ≥°…≥ ≡±≠°↑…≡″≡±↔〉

⊆≡←↓°±≈∂±÷ ↔° ↔•≡ …•≥≥≡±÷≡

√± ↔•∂← …°″↓≥≡♣ ≡±♥∂↑°±″≡±↔⌠ ∂↔ ∂← ″°↑≡ ∂″↓°↑↔±↔ ↔•± ≡♥≡↑ ↔° 

↓↓↑°…• ↔•≡ …•≥≥≡±÷≡ °≠ ″°±∂↔°↑∂±÷ ≠°↑ ≠↑♠≈ ±≈ …°↑↑♠↓↔∂°± 

↑∂←×← ∂± ± ∂±↔≡≥≥∂÷≡±↔ ±≈ …°←↔∫≡≠≠≡…↔∂♥≡ ♦ƒ〉 

√± ↔•≡ ↓←↔ ≠°♠↑ ƒ≡↑←⌠ ↔•≡ …°″↓≥∂±…≡ ≥±≈←…↓≡ ∂± 

″∂±≥±≈ ⇐•∂± •← ≡…°″≡ ″°↑≡ …°″↓≥≡♣⌠ ♦∂↔• 

⇐•∂±�← °♦± ←←≡↑↔∂♥≡ ≡±≠°↑…≡″≡±↔ …↔∂♥∂↔∂≡← ≡∂±÷ 

⇐•∂±

∨″″±♠≡≥ ⊃∂÷±≥⌠ ⊂•±÷•∂

⇐°″↓±∂≡← ←•°♠≥≈∑

� ⇐°±≈♠…↔ ≈♠≡ ≈∂≥∂÷≡±…≡ °± °♦±≡↑←•∂↓⌠  

°↓≡↑↔∂±÷ •∂←↔°↑ƒ ±≈ ↑≡↓♠↔↔∂°±  

°≠ ↔•∂↑≈ ↓↑↔∂≡←

� ⇒↓↓≥ƒ ±↔∂∫≠↑♠≈ ±≈ …°↑↑♠↓↔∂°± ↔↑∂±∂±÷

� 

� ⇐°±≈♠…↔ ≠↑♠≈ ±≈ …°↑↑♠↓↔∂°± ↑∂←× ←←≡←←″≡±↔←
°≠ ↑≡←↓°±≈≡±↔← ∂± ⇐•∂± ≡≥∂≡♥≡ ↔•↔ 

≡±≠°↑…≡″≡±↔ ∂← ≡≠≠≡…↔∂♥≡⌠ ←•°♦∂±÷ 

∂← …•∂≡♥∂±÷ ↔•≡ ≈≡←∂↑≡≈ …↑≡≈∂∂≥∂↔ƒ 

∂± ↔•≡ ♠←∂±≡←← …°″″♠±∂↔ƒ

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



 °≠ ↑≡←↓°±≈≡±↔← ∂± ⇐•∂± ≡≥∂≡♥≡ ↔•↔ 

↓↑°←≡…♠↔∂±÷ ∂±≈∂♥∂≈♠≥ ≡♣≡…♠↔∂♥≡← ♦∂≥≥  

•≡≥↓ ≈≡↔≡↑ ≠♠↔♠↑≡ ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ 

…°↑↑♠↓↔∂°± ƒ ≡♣≡…♠↔∂♥≡←


°≠ ↑≡←↓°±≈≡±↔← ∂± ⇐•∂± ≡≥∂≡♥≡ ↔•↔ …←• 

♠←∂±≡←← ∂± ± ≡…°±°″∂… ≈°♦±↔♠↑±


°≠ ↑≡←↓°±≈≡±↔← ∂± ⇐•∂± ≡≥∂≡♥≡ ↔•↔ ≥♦ 

≡±≠°↑…≡″≡±↔ ÷≡±…∂≡← ↑≡ ≡≠≠≡…↔∂♥≡ ∂± 

←≡…♠↑∂±÷ …°±♥∂…↔∂°±←


°≠ ↑≡←↓°±≈≡±↔← ∂± ⇐•∂± ≡≥∂≡♥≡ ↔•↔ 

↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± •↓↓≡± ♦∂≈≡≥ƒ  

∂± ↔•≡∂↑ …°♠±↔↑ƒ

⇔≡≥∂±÷ ♦∂↔• ↔•≡ ←≥°♦≈°♦±

↔° ↓↑°…≡≡≈ ″°↑≡ …↑≡≠♠≥≥ƒ ∂± ↔•≡∂↑ °↓≡↑↔∂°±← ±≈ …→♠∂←∂↔∂°±←⌠ °↑ 

↑∂←× ↑≡↓♠↔↔∂°±≥ ≥°←←⌠ ≥°♦ ″°↑≥≡⌠ ↑≡÷♠≥↔°↑ƒ ↓≡±≥↔∂≡←⌠ °↑ ←•°↑↔∫

←≡≥≥≡↑ ↔↔…×←〉

÷↑°♦↔• ±≈ ←≡↑…•∂±÷ ≠°↑ °↓↓°↑↔♠±∂↔∂≡← ♥∂ …→♠∂←∂↔∂°±←⌠ ♦∂↔• 

√± ↔•∂← …°±↔≡♣↔ ∂↔ ∂← ∂″↓≡↑↔∂♥≡ ↔•↔ …°″↓±∂≡← …°±≈♠…↔ ↑°♠←↔  

″±÷≡″≡±↔ ±≈ °°×← ±≈ ↑≡…°↑≈←〉

√±↔≡↑±≥≥ƒ⌠ …°″↓±∂≡← ″♠←↔ ≥←° ↑≡…°÷±∂∞≡ ↔•↔ ←°≠↔ ″↑×≡↔← 

≡±…°♠↑÷≡ ≠↑♠≈ ±≈ …°↑↑♠↓↔∂°± ↑∂←×∫↔×∂±÷〉 ⊄×≡± ∂± ↔±≈≡″ ♦∂↔• ↔•≡ 

↑≡≥∂↔ƒ °≠ ∂±…↑≡←≡≈ ±↔∂∫…°↑↑♠↓↔∂°± ≡±≠°↑…≡″≡±↔⌠ ≠↑♠≈ ←…•≡″≡← ↑≡ 

≡…°″∂±÷ ″°↑≡ ±≈ ″°↑≡ ←°↓•∂←↔∂…↔≡≈ ∂± ≡≠≠°↑↔← ↔° ♥°∂≈ ≈≡↔≡…↔∂°±〉 

⇐•∂±≡←≡ ≡±≠°↑…≡″≡±↔ ÷≡±…∂≡← •♥≡ ±°↔ ←•°♦± ≥≡±∂≡±…ƒ ↔°♦↑≈← 

…°″↓±∂≡← ≠°↑ ♦≡≥≥∫∂±↔≡±↔∂°±≡≈ …°″↓≥∂±…≡ ↓↑°÷↑″← ∂≠ ♥∂°≥↔∂°±← 

•♥≡ ±≡♥≡↑↔•≡≥≡←← °……♠↑↑≡≈⌠ ←° …↔∂♥≡ ″°±∂↔°↑∂±÷ ∂← ″°↑≡ ∂″↓°↑↔±↔ 

↔•± ≡♥≡↑〉

″∂←←↔↔≡″≡±↔ ±≈ñ°↑ ″∂←≈∂↑≡…↔∂°± °≠ ≠♠±≈←⌠ ″±÷≡″≡±↔ ±≈ °↑≈← 

•♥≡ ↔° …°±←∂≈≡↑ ±≡♦ ″≡↔•°≈← ←♠…• ← ∂±≈∂↑≡…↔ …°≥≥♠←∂°± ♦∂↔• ↔•∂↑≈ 

⇐°″↓±∂≡← ←•°♠≥≈∑

� ⇒↓↓≥ƒ ≠°↑≡±←∂… ≈↔ ±≥ƒ↔∂…← ↔°  

″°±∂↔°↑ ↔↑±←…↔∂°±←

� 

…°↑↑♠↓↔∂°±〉 ⇒← ♦≡ ÷° ≠♠↑↔•≡↑ ∂± ↔•≡ ±↔∂∫…°↑↑♠↓↔∂°± 

…″↓∂÷±⌠ ♦≡ ♦∂≥≥ ≠°…♠← ″°↑≡ °± ∂±←↔∂↔♠↔∂°±≥ 

≠≠°↑≈ ↔° ≡ …°↑↑♠↓↔ ±≈⌠ ″°↑≡ ∂″↓°↑↔±↔≥ƒ⌠ •♥≡ 

∩∂ ∏∂±↓∂±÷⌠ ∉↑≡←∂≈≡±↔⌠ ⊄•≡ ∉≡°↓≥≡�← ⊆≡↓♠≥∂… °≠ ⇐•∂±

⇐°±…≥♠←∂°± � ↑∂÷•↔ ≠♠↔♠↑≡ •≡≈

∠♥≡↑≥≥⌠ ⇐•∂± •← ←•°♦± ←↔↑°±÷ ±≈ ←♠←↔∂±≡≈ ∂±∂↔∂↔∂♥≡ 

°± ↔•≡ ÷≥°≥ ←↔÷≡ ♦∂↔• ↑≡÷↑≈← ↔° …°″↔∂±÷ …°↑↑♠↓↔∂°±⌠ 

±≡≡≈ ↔° ♦°↑× ″°↑≡ …≥°←≡≥ƒ °± ±↔∂∫…°↑↑♠↓↔∂°± ″≡←♠↑≡← 

±≈ ↔° ←↔↑≡±÷↔•≡± ∂±↔≡↑∫÷°♥≡↑±″≡±↔≥ …°°↓≡↑↔∂°±〉 

⊄•≡ ←≡ …•±÷≡ ∂± ↔↔∂↔♠≈≡← ∂← ≠≡≥↔ ↔•↑°♠÷•°♠↔ ≠°↑≡∂÷± 

″♠≥↔∂±↔∂°±≥← ±≈ ≥°…≥ ⇐•∂±≡←≡ …°″↓±∂≡← ≥∂×≡ ↑≡ 

←↔↑↔∂±÷ ↔° ↑≡≥∂∞≡ ↔•↔ …°±≈♠…↔∂±÷ ♠←∂±≡←← ≡↔•∂…≥≥ƒ ∂← ±°↔ 

°±≥ƒ  ≥≡÷≥ ↑≡→♠∂↑≡″≡±↔ ♠↔ ≥←°  …°″″≡↑…∂≥ ≈♥±↔÷≡〉

⇐•∂±≡←≡ …°″↓±∂≡← ↔•↔ ≥°°× ≠°↑ °♥≡↑←≡← ≡♣↓±←∂°± 

±≈ •♥≡ ←↔↑°±÷ …°″↓≥∂±…≡ ″∂±≈←≡↔← ↑≡ ≥←° ≡↔↔≡↑ 

↓°←∂↔∂°±≡≈ ↔° ←♠……≡≡≈ ∂± •∂÷•≥ƒ ↑≡÷♠≥↔≡≈ ″↑×≡↔←⌠ ♦•∂≥≡ 

♠±≠″∂≥∂↑ ″↑×≡↔←〉

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



⇒≥≥≡÷↔∂°±← ↔•↔ ≡±≠°↑…≡″≡±↔ …↔∂°±← …°♠≥≈ ≡ ↓°≥∂↔∂…≥≥ƒ 

↔•≡ ←″≡ ↔∂″≡⌠ ↔•≡ ≡≠≠≡…↔∂♥≡±≡←← °≠ ↑≡÷♠≥↔°↑← ∂← ≡∂±÷ 

→♠≡←↔∂°±≡≈〉 ∠♥≡↑ •≥≠ °≠ ↔•≡ ↑≡←↓°±≈≡±↔← ↔° °♠↑ ←♠↑♥≡ƒ 

≠↑°″ ↔•∂← ↑≡÷∂°± ≡≥∂≡♥≡≈ ↔•↔⌠ ≥↔•°♠÷• ↑≡÷♠≥↔°↑← 

↓↓≡↑≡≈ ♦∂≥≥∂±÷ ↔° ↓↑°←≡…♠↔≡ …←≡← °≠ …°↑↑♠↓↔∂°±⌠ ↔•≡ƒ 

≈∂≈ ±°↔ …°±←∂≈≡↑ ↔•≡″ ≡≠≠≡…↔∂♥≡ ∂± ←≡…♠↑∂±÷ …°±♥∂…↔∂°±← � 

↔•≡ •∂÷•≡←↔ °≠ ↔•≡ ↑≡÷∂°±← ♦≡ ∂±↔≡↑♥∂≡♦≡≈〉 

⊄•≡ ↑°♠←↔±≡←← ♦∂↔• ♦•∂…• …°♠±↔↑∂≡← ∂± ∨←↔≡↑± ∨♠↑°↓≡ ↑≡ 

∂±…↑≡←≡≈ ↔•≡ ↓°♦≡↑ °≠ ∂↔← ↓°≥∂…≡ ±≈ ≡±≠°↑…≡″≡±↔ ÷≡±…∂≡← ±≈ 

≡±•±…≡≈ ↔•≡∂↑ ←♠↑♥≡∂≥≥±…≡ …↓∂≥∂↔∂≡←〉 ∠♥≡↑ ↔•∂← ←″≡ ↓≡↑∂°≈⌠ 

⊆°″±∂�← ±↔∂°±≥ ±↔∂∫…°↑↑♠↓↔∂°± ≈∂↑≡…↔°↑↔≡ •← ≡≡± •∂÷•≥ƒ 

…↔∂♥≡ ∂± ↓↑°←≡…♠↔∂±÷ …°↑↑♠↓↔∂°±⌠ ±≈ •← ←≡…♠↑≡≈ ↔•≡ …°±♥∂…↔∂°±← 

°≠ •∂÷•∫↑±×∂±÷ ↓°≥∂↔∂…∂±← ±≈ ♠←∂±≡←← ↓≡°↓≥≡〉

⊆♠←←∂ •← …°±↔∂±♠≡≈ ↔° ≈≡♥≡≥°↓ ±≈ ≡♣↔≡±≈ ↔•≡ ←…°↓≡ °≠ ∂↔← ±↔∂∫

…°↑↑♠↓↔∂°± ≥≡÷∂←≥↔∂°± ♦∂↔• ± ∂±…↑≡←≡≈ ±♠″≡↑ °≠ ÷°♥≡↑±″≡±↔ 

≥≡♥≡≥⌠ ↑≡↓↔↑∂↔∂±÷ ←≡♥≡↑≥ ♦≡≥≥∫×±°♦± ♠←∂±≡←←″≡± ♦•°←≡ ≠°↑↔♠±≡← 

↑≡ ≥≥≡÷≡≈ ↔° •♥≡ ≡≡± ……♠″♠≥↔≡≈ ↔•↑°♠÷• ≠↑♠≈♠≥≡±↔ ←…•≡″≡←〉

∪•∂≥≡ ÷≡±≡↑≥≥ƒ ≥÷÷∂±÷ ≡•∂±≈ ″°↑≡ ≈≡♥≡≥°↓≡≈ ″↑×≡↔←⌠ ←°″≡ °≠ 

↔•≡ …°♠±↔↑∂≡← ∂± ↔•≡ ↑≡÷∂°± •♥≡ ±°♦ ←↔↑↔≡≈ ↔° ↓↓≥ƒ ♦•∂←↔≥≡≥°♦≡↑ 

↓↑°↔≡…↔∂°± ≥≡÷∂←≥↔∂°±〉 ∪•≡↔•≡↑ ←♠…• ≥≡÷∂←≥↔∂°± ♦∂≥≥ ≡ ≡±°♠÷• 

⊄•≡↑≡ ↑≡″∂±← ↓≡↑←°±≥ ←≡…♠↑∂↔ƒ …°±…≡↑±← ∂± ↔•≡ ↑≡÷∂°±⌠ ♦∂↔• ″°↑≡ 

↔•± •≥≠ °≠ ↔•°←≡ ∂±↔≡↑♥∂≡♦≡≈ ∂± ⊂≥°♥×∂ …∂↔∂±÷ ↓≡↑←°±≥ ←≠≡↔ƒ ← 

 ↑≡←°± ↔•≡ƒ ♦°♠≥≈ ±°↔ ↑≡↓°↑↔ ± ∂±…∂≈≡±↔ °≠ ≠↑♠≈〉 √± ≈≈∂↔∂°±⌠ 

…♠≥↔♠↑≥ ≠…↔°↑← ←♠…• ← ≥°ƒ≥↔ƒ ↔° …°≥≥≡÷♠≡← ±≈ …°″↓±∂≡← 

″ƒ ≥←° ↑≡←↔↑∂…↔ ∂↔← ≡≠≠≡…↔∂♥≡±≡←←  °≠ ↔•≡ ∨←↔≡↑± ∨♠↑°↓≡± 

↑≡←↓°±≈≡±↔← ↔° °♠↑ ←♠↑♥≡ƒ …∂↔≡≈ ←♠…• ≥°ƒ≥↔∂≡← ← ↑≡←°±← ♦•ƒ ↔•≡ƒ 

♦°♠≥≈ ±°↔ ↑≡↓°↑↔ ± ∂±…∂≈≡±↔ °≠ ≠↑♠≈ °↑ …°↑↑♠↓↔∂°±〉

±÷∂±÷ …°↑↑♠↓↔∂°± ↑∂←×←

⇐°↑↑♠↓↔∂°± ∂← ♦∂≈≡≥ƒ ↓≡↑…≡∂♥≡≈ ↔° ≡  ≈≡≡↓∫↑°°↔≡≈ ↓↑°≥≡″ ∂± 

↔•≡ ↑≡÷∂°±〉 ⇒←  …°±←≡→♠≡±…≡⌠ ∂↔ ∂← ♥∂↔≥ ↔•↔ ♠←∂±≡←←≡← ≡←↔≥∂←• 

↔•≡ ↑∂÷•↔ ↔°±≡ ↔ ↔•≡ ↔°↓ ±≈ ↓↑…↔∂…≡ ♥≥♠≡←∫←≡≈ …°″↓≥∂±…≡〉 

⇒ ↑≡↓↑≡←≡±↔↔∂♥≡ °≠ °±≡ °≠ ↔•≡ ≥≡≈∂±÷ …°″↓±∂≡← ♦≡ ∂±↔≡↑♥∂≡♦≡≈ 

°←≡↑♥≡≈ ↔•↔ ∂± ↔•≡∂↑ ≡♣↓≡↑∂≡±…≡ ″°←↔ ↓≡°↓≥≡ ♦±↔ ↔° ≈° ↔•≡ ↑∂÷•↔ 

↔•∂±÷ ↔•≡ ×≡ƒ ∂← ∂± ″×∂±÷ ↔•≡″ ↓↑°♠≈ ↔° …↔ ≡↔•∂…≥≥ƒ〉

∨←↔≡↑± ∨♠↑°↓≡ …°±↔∂±♠≡← ↔° ≡  …•≥≥≡±÷∂±÷ 

≡±♥∂↑°±″≡±↔ ∂± ♦•∂…• ↔° °↓≡↑↔≡ ≠°↑ ″±ƒ 

″♠≥↔∂±↔∂°±≥ …°↑↓°↑↔∂°±←⌠ ±≈ °±≡ ∂± ♦•∂…• ↔↑♠←↔ ∂± 

∨←↔≡↑± ∨♠↑°↓≡

↑∂♠←∞ ∪∂↔≥∂←⌠ ∪↑←♦ 

⇔±∂≡≥ ⇑∂…±⌠ ∉↑÷♠≡

⇔∂≥≡× Ξ∂≥∂±÷∂↑⌠ √←↔±♠≥ 

⇐°″↓±∂≡← ←•°♠≥≈∑

� ∨♣≡…♠↔≡ ←↔↑°±÷ …°″↓≥∂±…≡ ↓↑°÷↑″←⌠  

∂±…≥♠≈∂±÷ °±∫÷°∂±÷ ↑∂←× ←←≡←←″≡±↔← ±≈  

 

� 

� ⇐°±≈♠…↔ ↑°♠←↔ ±↔∂∫…°↑↑♠↓↔∂°± ≈♠≡ ≈∂≥∂÷≡±…≡  

°± ↔•∂↑≈ ↓↑↔∂≡←

⇐°↑↑♠↓↔∂°± ∂← ♦∂≈≡≥ƒ …°±←∂≈≡↑≡≈ 

↔•≡ ↑≡÷∂°±


⇐♠≥↔♠↑≥ ≠…↔°↑← ←♠…• ← ≥°ƒ≥↔ƒ ↔° …°≥≥≡÷♠≡← ±≈ …°″↓±∂≡← 

↑≡←↓°±≈≡±↔← ↔° °♠↑ ←♠↑♥≡ƒ …∂↔≡≈ ←♠…• ≥°ƒ≥↔∂≡← ← ↑≡←°±← ♦•ƒ 

↔•≡ƒ ♦°♠≥≈ ±°↔ ↑≡↓°↑↔ ± ∂±…∂≈≡±↔ °≠ ≠↑♠≈ °↑ …°↑↑♠↓↔∂°±

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



≡↑÷≡↑← ±≈ …→♠∂←∂↔∂°±←

⇒← ♦∂↔• ±ƒ ↑≡÷∂°± ↓≡↑…≡∂♥≡≈ ↔° •♥≡  •∂÷• …°↑↑♠↓↔∂°± ↑∂←×⌠  

±↔∂∫…°↑↑♠↓↔∂°± ≈♠≡ ≈∂≥∂÷≡±…≡ ←•°♠≥≈ ≡ ♠±≈≡↑↔×≡± °± ↔•≡ ↔↑÷≡↔ 

≡≠°↑≡ ≡±↔≡↑∂±÷ ±ƒ ♠←∂±≡←← ↔↑±←…↔∂°±〉 √↔ ♦← ←♠↑↓↑∂←∂±÷⌠ 

∨♠↑°↓≡ ↑≡↓°↑↔≡≈ ↔•↔ ↔•≡∂↑ …°″↓±∂≡← ≈∂≈ ±°↔ ♠±≈≡↑↔×≡ ×≡ƒ 

≡≥≡″≡±↔← °≠ ≡≠≠≡…↔∂♥≡ ±↔∂∫…°↑↑♠↓↔∂°± ≈♠≡ ≈∂≥∂÷≡±…≡ ≡≠°↑≡ ≡±↔≡↑∂±÷ 

∂±↔° ↔↑±←…↔∂°±←〉

…°″↓±∂≡← ←°♠÷•↔ ↔° ∂≈≡±↔∂≠ƒ  ↔↑÷≡↔�← ↔•∂↑≈∫↓↑↔ƒ ↑≡≥↔∂°±←•∂↓← ← 

↓↑↔ °≠ ↔•≡∂↑ ≈♠≡ ≈∂≥∂÷≡±…≡〉 ∠±≥ƒ  °≠ ↑≡←↓°±≈≡±↔← ≠↑°″ ⊆♠←←∂ 

←↔↔≡≈ ↔•≡∂↑ …°″↓±∂≡← ♠±≈≡↑↔°°× ≡∂↔•≡↑ °≠ ↔•≡←≡ ↓↑°…≡≈♠↑≡←〉 

←↔↔≡″≡±↔ ±≈ ↔♣ ≠↑♠≈ ↔•↔ ↑≡ ≈∂←…°♥≡↑≡≈ ≈♠↑∂±÷ ↔•≡ ↓°←↔∫

…→♠∂←∂↔∂°± ←↔÷≡ ∂± ↔•∂← ↑≡÷∂°±〉

⇐ƒ≡↑ ↔↔…×← °± ∪≡←↔≡↑± …°↑↓°↑↔≡←

•♥≡ ↑≡←♠≥↔≡≈ ∂± ± ≡←…≥↔∂°± ∂± ±♠″≡↑← °≠ °↑÷±∂∞≡≈ …↑∂″≡ ÷↑°♠↓← 

↔♠↑±∂±÷ ↔° …ƒ≡↑…↑∂″≡〉

⇒ ♥↑∂≡↔ƒ °≠ ∂±≈♠←↔↑∂≡← •♥≡ ≡≡± ↔↑÷≡↔← °≠ …ƒ≡↑ ↔↔…×← ∂± ∨←↔≡↑± 

…°↑↓°↑↔∂°±← •♥≡ ↔↔≡″↓↔≡≈ ↔° ↑≡←↓°±≈ ↔° ↔•≡←≡ ↔•↑≡↔← ♠↔ ↔•≡∂↑ 

°♠↑ ↑≡←↓°±≈≡±↔← ≠↑°″ ↔•∂← ↑≡÷∂°± ∂±≈∂…↔≡≈ ↔•↔ ↔•≡ƒ …°±←∂≈≡↑ …ƒ≡↑ 

↔°  ←♠↑↓↑∂←∂±÷  ∂± ⊆♠←←∂〉

⇐°″↓±∂≡← ←•°♠≥≈∑

� ⊄∂≥°↑ ↔•≡∂↑ ≈♠≡ ≈∂≥∂÷≡±…≡ ≠°↑ ↔•≡ ″↑×≡↔ ↑∂←× 

� ∧°…♠← ↔↔≡±↔∂°± °± °♦±≡↑←•∂↓ °≠ ↔•∂↑≈∫↓↑↔ƒ  

♠←∂±≡←← ↓↑↔±≡↑← 

⇐°″↓±∂≡← ←•°♠≥≈∑

�  

↔•≡″←≡≥♥≡← ±≈ ↔•≡∂↑ ↔•∂↑≈ ↓↑↔ƒ  

♠←∂±≡←← ↓↑↔±≡↑←

…°♠±↔↑∂≡← °♥≡↑…°″≡ ↔•≡ ♦°↑≥≈�← ″≡≈∂°…↑≡ ≡…°±°″∂… 

°♠↔≥°°×〉 √↔ ∂← ≥←° ×≡ƒ ↔° ∂″↓↑°♥≡ ↓♠≥∂… ←≡↑♥∂…≡← ±≈ 


°≠ ↑≡←↓°±≈≡±↔← ∂± ⊆♠←←∂ ∂≈≡±↔∂≠ƒ ↔•∂↑≈ 

≈♠≡ ≈∂≥∂÷≡±…≡

 °≠ °♠↑ ↑≡←↓°±≈≡±↔← ∂± ↔•≡ ⊇×↑∂±≡ 

≡≥∂≡♥≡ ↔•↔ ↔•≡ ♠↔•°↑∂↔∂≡← ↑≡ ♦∂≥≥∂±÷ 

↔° ↓↑°←≡…♠↔≡ ±≈ ≡≠≠≡…↔∂♥≡ ∂± ←≡…♠↑∂±÷ 

…°±♥∂…↔∂°±←


°≠ ↑≡←↓°±≈≡±↔← ∂± ⊂≥°♥×∂  

♦°♠≥≈ ″×≡ …←• ↓ƒ″≡±↔←  

↔° ♦∂± °↑ ↑≡↔∂± ♠←∂±≡←←


°≠ ↑≡←↓°±≈≡±↔← ∂± ⋅♠±÷↑ƒ  

•≈ …°±…≡↑±← °♠↔ ≡↔•∂…≥  

…°±≈♠…↔ ↔ ♦°↑×

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



∂±∂↔∂↔∂♥≡⌠ •♥≡ ″≈≡ √±≈∂  ÷≥°≥ ≥≡≈≡↑ ≠°↑ ∧°↑≡∂÷± 

⇒↓↑∂≥ ⌠ ♦∂↔•   ♠↓←♠↑÷≡ ∂± ∧⇔√〉

⊄•≡ ↑≡÷♠≥↔°↑ƒ ≥±≈←…↓≡ ∂← ≡♥°≥♥∂±÷ →♠∂…×≥ƒ ∂± √±≈∂〉 ⊄•≡ �×≡ ∂± 

√±≈∂� 

↑≡→♠∂↑≡″≡±↔← ↔° ∂±…↑≡←≡ ↔↑±←↓↑≡±…ƒ °♥≡↑ °↔∂±∂±÷ ≥∂…≡±…≡← 

±≈ ↓↓↑°♥≥←〉 √± ⌠ ← ↓↑↔ °≠ ∂↔← …°″″∂↔″≡±↔ ÷∂±←↔ 

↓♠≥∂… ←≡↑♥±↔ ↔° ∂±…≥♠≈≡ ↓↑∂♥↔≡ ±×≡↑←〉 ⊄•∂← ″°♥≡⌠ ♦•∂≥≡ …≥≡↑≥ƒ 

°± °↔•≡↑ •∂÷•≥ƒ∫↑≡÷♠≥↔≡≈ ←≡…↔°↑←〉 ⇒≈≈∂↔∂°±≥ ≥≡÷∂←≥↔∂°± ≠°…♠←∂±÷ 

°± …°↑↑♠↓↔∂°± ±≈ ♦•∂←↔≥≡≥°♦≡↑ ↓↑°↔≡…↔∂°± ∂← …♠↑↑≡±↔≥ƒ ÷°∂±÷ 

↔•↑°♠÷• ″≡±≈″≡±↔← ∂± ↔•≡ √±≈∂± ↓↑≥∂″≡±↔〉 √± ≈≈∂↔∂°±⌠  ←≡↑∂≡← 

°≠ ∂≥↔≡↑≥ ÷↑≡≡″≡±↔←⌠ ↔↑÷≡↔≡≈ ↔ ♠±…°♥≡↑∂±÷ •∂≈≈≡± ♦≡≥↔•⌠ ∂← 

♠±≈≡↑♦ƒ〉 ⇒↔ ↔•≡ ←″≡ ↔∂″≡⌠ ↔•≡↑≡ •← ≡≡±  ±°↔≥≡ ∂±…↑≡←≡ ∂± 

≡±≠°↑…≡″≡±↔ …↔∂♥∂↔ƒ ƒ √±≈∂± ♠↔•°↑∂↔∂≡←〉

⊂♠…• ↓↑°…↔∂♥≡ ←↔≡↓← …°♠≥≈ ≡ ↔•≡ ↑≡←°± ≠°↑ √±≈∂�← ∂″↓↑°♥≡≈ ↑±×∂±÷ 

♦∂↔•  °≠ ↑≡←↓°±≈≡±↔← ≡≥∂≡♥∂±÷ ↔•↔ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°± 

♠←∂±≡←←≡← °↓≡↑↔∂±÷ ∂± √±≈∂ ←↔∂≥≥ ≠…≡〉 ⇔≡←↓∂↔≡ ↔•≡ ∂±∂↔∂↔∂♥≡← 

±≈ ↔•≡ ↓↑°÷↑≡←←⌠ ↑≡←↓°±≈≡±↔← ♦•° ≡♣∂↔≡≈ °↑ …°±←∂≈≡↑≡≈ ≡♣∂↔∂±÷ 

√±≈∂ ←↔∂≥≥ ≠↑≡→♠≡±↔≥ƒ …∂↔≡≈ ≠↑♠≈⌠ ↑∂≡↑ƒ ±≈ …°↑↑♠↓↔∂°±⌠ ← ♦≡≥≥ 

← ∂±…°±←∂←↔≡±↔ °↑ ↑∂↔↑↑ƒ ≡±≠°↑…≡″≡±↔ °≠ ≥♦← ±≈ ↑≡÷♠≥↔∂°±←⌠ 

← ×≡ƒ ↑≡←°±← ≠°↑ ↔•≡∂↑ ≡♣∂↔〉

∠♠↑ ←♠↑♥≡ƒ ≠°♠±≈ ↔•↔  °≠ °♠↑ ↑≡←↓°±≈≡±↔← ∂± √±≈∂ ≡≥∂≡♥≡ ↔•↔ 

↓↑°←≡…♠↔∂°± °≠ ∂±≈∂♥∂≈♠≥← ♦°♠≥≈ •≡≥↓ ≈≡↔≡↑ ≠♠↔♠↑≡ ≠↑♠≈⌠ ↑∂≡↑ƒ 

±≈ …°↑↑♠↓↔∂°± ƒ ≡♣≡…♠↔∂♥≡←〉

⇐°″↓≥∂±…≡ ≠↑″≡♦°↑×

♦∂↔• ÷°♥≡↑±″≡±↔ °≈∂≡←〉 ⇐°″↓±∂≡← ≡±÷÷∂±÷ ♦∂↔• ←↔↔≡∫°♦±≡≈ 

♠←∂±≡←←≡← ±≈ ÷°♥≡↑±″≡±↔ ≈≡↓↑↔″≡±↔← ±≡≡≈ ↔° •♥≡ ←↔↑°±÷ 

°≠ …°″↓±∂≡← •♥≡ ±↔∂∫↑∂≡↑ƒ ±≈ ±↔∂∫…°↑↑♠↓↔∂°± ↓°≥∂…∂≡← ∂± ↓≥…≡⌠ 

≡″≡≈≈∂±÷ ≡↔•∂…≥ ≡•♥∂°↑ ∂±↔° ↔•≡∂↑ ≈∂≥ƒ ♠←∂±≡←← ↓↑…↔∂…≡←⌠ ♦∂↔• 

↔≡″← ≡″↓°♦≡↑≡≈ ↔° ≈° ↔•≡ ↑∂÷•↔ ↔•∂±÷ ƒ  ←↔↑°±÷ ↔°±≡ ≠↑°″ ↔•≡ ↔°↓〉 

↔° ≈≡″°±←↔↑↔≡ ↔•≡ ♥≥♠≡ ↔•↔ ↔•≡ƒ ≈≡≥∂♥≡↑ ↔° ↔•≡ ♠←∂±≡←←〉

…°″↓≥∂±…≡ ≠♠±…↔∂°± …↓↔♠↑∂±÷ ±≈ ↑≡↓°↑↔∂±÷ ≈↔ °± ←±…↔∂°±≡≈ 

…°±≈♠…↔ ♦∂↔•∂± ↔•≡ …°″↓±ƒ ↔° ↔•≡ °↑≈〉

√± ≈≈∂↔∂°±⌠ ↔•≡ ↑∂←× °≠ …ƒ≡↑…↑∂″≡ ∂← ≥←° ↑∂←∂±÷ ∂± √±≈∂〉 ∠♠↑ ←♠↑♥≡ƒ 

≠°♠±≈ ↔•↔  °≠ ↔•≡ ↑≡←↓°±≈≡±↔← ∂± ↔•≡ ↑≡÷∂°± ≡≥∂≡♥≡≈ ↔•↔ 

…ƒ≡↑…↑∂″≡ •← ≡≡± ≈∂←…♠←←≡≈ ƒ ↔•≡ °↑≈ ∂± ↔•≡ ↓←↔ ƒ≡↑〉

∂± ≡♣…≡←← °≠ °±≡ ∂≥≥∂°± ↓≡°↓≥≡⌠ √±≈∂ …°±↔∂±♠≡← ↔° 

√±≈∂

⇐°″↓±∂≡← ←•°♠≥≈∑

� ⇐°±≈♠…↔ ↔•°↑°♠÷• ≈♠≡ ≈∂≥∂÷≡±…≡  

°± ↔•∂↑≈ ↓↑↔∂≡←

� ⊆≡…°÷±∂∞≡ ↔•≡ ∂″↓…↔ °≠ …♠≥↔♠↑≡ °± ♠←∂±≡←← ↑∂←×

� √±↔↑°≈♠…≡ ↔↑∂±∂±÷ °♠↔ …ƒ≡↑ ↔•↑≡↔ ↔° ≡″↓≥°ƒ≡≡←


°≠ ↔•≡ ↑≡←↓°±≈≡±↔← ∂± ↔•≡ ↑≡÷∂°± 

≡≥∂≡♥≡≈ ↔•↔ …ƒ≡↑…↑∂″≡ •← 

≡≡± ≈∂←…♠←←≡≈ ƒ ↔•≡ °↑≈ 

∂± ↔•≡ ↓←↔ ƒ≡↑

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



 

≥♠±≈≡↑∂±÷ …°±↔↑°≥←

√±≈∂± ±×← ↑≡ ←↔∂≥≥ ♠±≈≡↑ ←…↑♠↔∂±ƒ ≠°↑ ″°±≡ƒ ≥♠±≈≡↑∂±÷ ∂←←♠≡←⌠ 

∂± ↓↑↔∂…♠≥↑ ∂± ↑≡≥↔∂°± ↔° ∂±↔≡↑±↔∂°±≥ ↔↑≈≡ ±≈ ↑≡″∂↔↔±…≡←〉 

⊄•∂← ↑≡∫≡″↓•←∂∞≡← ↔•≡ …°±↔∂±♠≥ ≡♣∂←↔≡±…≡ °≠ ≥…× ″°±≡ƒ ±≈ ↔•≡ 

≡♣∂←↔≡±…≡ °≠  ↓↑≥≥≡≥ ≡…°±°″ƒ〉 

…°″↔ ≥…× ″°±≡ƒ⌠ ←♠…• ← ↔•≡  ″≡±≈″≡±↔ ↔° ↔•≡ ⇑≡±″∂ 

≡ ……°″↓≥∂←•≡≈〉

∧∂±±…∂≥ ″∂←←↔↔≡″≡±↔  

±≈ ♦•∂←↔≥≡≥°♦∂±÷

°°× ↑≡♥≡±♠≡← ≡↑≥∂≡↑ ↔•± ↔•≡ƒ ←•°♠≥≈ ≡ ↑≡…°÷±∂∞≡≈⌠ ↔•≡ •∂÷•≡←↔ 

↓↑°↓°↑↔∂°± ÷≥°≥≥ƒ〉 

⇒≥″°←↔  ↔•∂↑≈ °≠ °♠↑ ↑≡←↓°±≈≡±↔← ∂± √±≈∂ …∂↔≡≈ ≥°ƒ≥↔ƒ ↔° ↔•≡∂↑ 

…°″↓±ƒ °↑ ↔° …°≥≥≡÷♠≡← ←  ↑≡←°± ↔° ±°↔ ↑≡↓°↑↔ ±ƒ ∂±…∂≈≡±↔← 

°≠ ≠↑♠≈⌠ ↑∂≡↑ƒ °↑ …°↑↑♠↓↔∂°±〉 

⇐°″↓±∂≡← ←•°♠≥≈∑

�  

↔° ←♠↓↓°↑↔ ″°±∂↔°↑∂±÷ °≠ ←♠←↓∂…∂°♠←  

↔↑±←…↔∂°±←

⇐°″↓±∂≡← ←•°♠≥≈∑

�  

∂≈≡±↔∂≠ƒ ∂↑↑≡÷♠≥↑∂↔∂≡← 

� ⇒←←≡←← ↔•≡ ≡≠≠≡…↔∂♥≡±≡←← °≠ ♦•∂←↔≥≡≥°♦∂±÷  

•°↔≥∂±≡← ±≈ ♦↑≡±≡←← ″°±÷←↔ ≡″↓≥°ƒ≡≡←

÷°°≈ ÷°♥≡↑±±…≡ ÷°≡← ≡ƒ°±≈ ↔↑±←↓↑≡±…ƒ 

∂± …•∂≡♥∂±÷ °↓≡±±≡←←〉 ∠↓≡±±≡←← ″≡±← ∂±♥°≥♥∂±÷ 

↔•≡ ←↔×≡•°≥≈≡↑ ∂± ↔•≡ ≈≡…∂←∂°±∫″×∂±÷ ↓↑°…≡←←〉 

⊄↑±←↓↑≡±…ƒ ∂← ↔•≡ ↑∂÷•↔ ↔° ∂±≠°↑″↔∂°± ♦•∂≥≡ 

∇↑≡±≈↑ °≈∂⌠ ∉↑∂″≡ ∂±∂←↔≡↑⌠ √±≈∂


°≠ ↑≡←↓°±≈≡±↔← ≡≥∂≡♥≡ ↔•↔ ↔ ≥≡←↔ °±≡ 



°≠ ↑≡←↓°±≈≡±↔← •≈ …°±…≡↑±← ↑≡÷↑≈∂±÷ 

♠±≡↔•∂…≥ …°±≈♠…↔ ↔ ♦°↑×


°≠ ↑≡←↓°±≈≡±↔← ≡≥∂≡♥≡ ↔•↔ ↑∂≡↑ƒ 

±≈ …°↑↑♠↓↔∂°± ♦← ♦∂≈≡←↓↑≡≈ ∂± 

↔•≡∂↑ …°♠±↔↑ƒ

 °≠ ↑≡←↓°±≈≡±↔← ←↔↔≡≈ ↔•↔ ≥°ƒ≥↔ƒ 

↔° ↔•≡∂↑ …°″↓±ƒ ♦°♠≥≈ ↓↑≡♥≡±↔ ↔•≡″ 

≠↑°″ ↑≡↓°↑↔∂±÷ ± ∂±…∂≈≡±↔ °≠ ≠↑♠≈⌠ 

↑∂≡↑ƒ °↑ …°↑↑♠↓↔∂°±

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



⊄•≡ ↑≡÷♠≥↔°↑ƒ ≠°…♠← °± ↔•≡ …°±≈♠…↔ °≠ ∂±≈∂♥∂≈♠≥← ↑≡→♠∂↑≡← °↑≈← 

≡≥≡″≡±↔← °≠ ≥≡≈∂±÷ ↓↑…↔∂…≡ ±≈ ↔•≡ …↔∂°±← ↔•↔ °↑≈← ←•°♠≥≈ 

↔•≡↑≡ ↑≡ ↔•↑≡≡ ↑°≈ …↔≡÷°↑∂≡← °≠ →♠≡←↔∂°± °± ♦•∂…• °↑≈← ″♠←↔ 

″∂±↔∂±  ≠°…♠←∑

� ⊄•≡ ↑∂←×← ↔•≡∂↑ ♠←∂±≡←←≡← ↑≡ ≡♣↓°←≡≈ ↔° ≡″±↔∂±÷ ≠↑°″ 

≥≡≈∂±÷ °± ↔•≡ ÷↑°♠±≈ ∂± •∂÷•∫↑∂←× ″↑×≡↔← ♠±≈≡↑←↔±≈ ↔•≡ 

″±÷≡″≡±↔ •← ≡±°♠÷• ♦↑≡±≡←← °≠ ↔•≡ ×≡ƒ ↔•∂↑≈∫↓↑↔∂≡← ♦∂↔• 

♦•∂…• ↔•≡∂↑ …°″↓±∂≡← ↓↑↔±≡↑ ±≈ ♦•° ∂← ↑≡≥≥ƒ ≡•∂±≈ ↔•≡″◊ 

√← ↔•≡ ♠←∂±≡←← ≠°…♠←∂±÷ ↔•≡ ↑∂÷•↔ ↑≡←°♠↑…≡← °± ↔•≡ ↑∂÷•↔ ↑∂←×← 

∂± ↔•≡ ↑∂÷•↔ ≥°…↔∂°±← °↑ ∂← ∂↔ ≠∂≥∂±÷ ↔° ×≡≡↓ ♠↓ ♦∂↔• ↔•≡ ≡♥°≥♥∂±÷ 

≡±♥∂↑°±″≡±↔◊

� 

∪∂↔• ↑≡÷♠≥↔°↑← ≥°°×∂±÷ •↑≈≡↑ ↔ ↔•≡ ≈↔ …°″↓±∂≡← ↑≡↓°↑↔⌠ ↑≡ 

°↑≈← …°″≠°↑↔≥≡ ↔•↔ ″±÷≡″≡±↔�← ……°♠±↔∂±÷ ∂← ↑≡←°±≥≡ 

↑≡≥∂↔ƒ◊ ∪•≡↑≡ ↔•≡↑≡ ∂← ≡♥∂≈≡±…≡ °≠ ←ƒ←↔≡″↔∂… ″∂±°↑ ↑≡…•≡← 

↔°♦↑≈← ±°±∫…°″↓≥∂±…≡◊

�  ⇔°≡← ↔•≡ 

♦ƒ ∂± ♦•∂…• ∂±≈∂♥∂≈♠≥← ↑≡ ↑≡♦↑≈≡≈ ∂±…≡±↔∂♥∂∞≡ ∂″↓↑°↓↑∂≡↔ƒ◊ 

∪•↔ …°♠≥≈ ≡±…°♠↑÷≡ ∂±≈∂♥∂≈♠≥← ↔° …↔ ↓↑°↓≡↑≥ƒ ∂± ↔•≡ ∂±↔≡↑≡←↔← 

°≠ ↔•≡ ♠←∂±≡←←◊ ∪•∂…• ↑≡← °≠ ↔•≡ ♠←∂±≡←← ↑≡ ≥∂×≡≥ƒ ↔° ≠≡≡≥ 

∂← ≡♣↓≡…↔≡≈ °≠ ↔•≡″◊

⇐°″↓±∂≡← …± ≡♣↓≡…↔ ↔° ≡ ≡♣↓°←≡≈ ↔° ±≡♦ ↑∂←×← ∂± ↔•≡ ƒ≡↑← 

⊄•≡ ∂″↓≥∂…↔∂°±← ≠°↑ ♠←∂±≡←← ≠↑°″ ↔•≡←≡ ×≡ƒ ↔↑≡±≈← ↑≡ 

≥∂×≡≥ƒ ↔° ↑≡→♠∂↑≡ ″°↑≡ ≠°…♠← ≠↑°″ ″±÷≡″≡±↔ ±≈ °↑≈← ≥∂×≡∑

� ⇔↔ ↓↑∂♥…ƒ ±≈ ∂↔← ∂″↓…↔ °± ±↔∂°±≥ ←≡…♠↑∂↔ƒ⌠ …°♠±↔≡↑∫

↔≡↑↑°↑∂←″ ±≈ ±↔∂∫≠↑♠≈ñ±↔∂∫…°↑↑♠↓↔∂°± ≡≠≠°↑↔←

� 

″∂±←↔↑≡″ ≡…°±°″ƒ

� √±…↑≡←∂±÷≥ƒ °↑÷±∂∞≡≈ ±≈ ←°↓•∂←↔∂…↔≡≈ …ƒ≡↑ ↔↔…×← 

↔↑÷≡↔∂±÷ …°↑↓°↑↔≡ ±≈ …♠←↔°″≡↑ ≈↔

� √↑± ±≈ ∂↔← ↓≥…≡ ∂± ↔•≡ ∂±↔≡↑±↔∂°±≥ ←ƒ←↔≡″ � …°″↓≥∂±↔  

±↔∂°±∫←↔↔≡ °↑ …°±↔∂±♠≡≈ ↔↑÷≡↔ ≠°↑ ←±…↔∂°±←◊

� ⇐°″″°≈∂↔ƒ ↓↑∂…≡ ♥°≥↔∂≥∂↔ƒ ±≈ ∂↔← ↓°↔≡±↔∂≥ ↔° ∂±…↑≡←≡ ↔•≡  

� 

↔↑±←…↔∂°±← ↔∂≡≈ ↔° ↔•≡ ↓↑°…≡≡≈← °≠ …°↑↑♠↓↔∂°±

∪∂↔• ∂±…↑≡←≡≈ …°°↓≡↑↔∂°± …↑°←← °↑≈≡↑←⌠ 

∂±≠°↑″↔∂°± ←•↑∂±÷⌠ ±≈ ∂±←∂÷•↔← ≈↑♦± ≠↑°″ 

±≥ƒ←∂← °≠ ≈↔ ±° ≥°±÷≡↑ …°±←↔↑∂±≡≈ ƒ ″± 

•°♠↑←⌠ ↑≡÷♠≥↔°↑← ↑≡ ≡↔↔≡↑ ↑″≡≈ ±≈ ∂±≠°↑″≡≈ 

∂±…≥♠≈∂±÷ ←°″≡ ←≡±∂°↑ ≡♣≡…♠↔∂♥≡← ≡±↔↑♠←↔≡≈ 

←←♠″≡≈ ↔° …↔ ♦∂↔• ∂±↔≡÷↑∂↔ƒ ∂≠ ↔•≡ ≡±≈ ″∂÷•↔ 

←≡≡″ ↔° ∝♠←↔∂≠ƒ ↔•≡ ″≡±←〉

⇐°±…≥♠←∂°±

⊄•≡↑≡ ♦∂≥≥ ≥♦ƒ← ≡ ÷≥°≥ 

•°↔←↓°↔← ≠°↑ …°↑↑♠↓↔∂°± ±≈ 

∂″↓↑°↓↑∂≡↔ƒ ♦•∂…• ∂±…↑≡←≡ ↔•≡ 

≠↑♠≈ ±≈ …°↑↑♠↓↔∂°± ↑∂←×← ↔•↔ 

 …°″↓±ƒ ″∂÷•↔ ≠…≡〉

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



⊂♠↑♥≡ƒ ↓↓↑°…•

 

∇♠″≡↑ °≠ ∂±↔≡↑♥∂≡♦← ∇♠″≡↑ °≠ ∂±↔≡↑♥∂≡♦←

∧↑ ∨←↔ ⇒←∂   

 ∨÷ƒ↓↔ 

 √±≈∂ 

√±≈°±≡←∂  √←↑≡≥ 

 



 ∇∂÷≡↑∂ 

⊂∂±÷↓°↑≡  ⊂♠≈∂ ⇒↑∂ 

⊄∂♦±  ⊂°♠↔• ⇒≠↑∂… 

⊄•∂≥±≈  ∇°↑↔• ⇒″≡↑∂…  

 ⇐±≈ 

 

∨←↔≡↑± ∨♠↑°↓≡  ∠…≡±∂

⇑≥↔∂… ⊂↔↔≡←⌡ ⇒♠←↔↑≥∂ 

⇑♠≥÷↑∂  

⇐↑°↔∂  ∪≡←↔≡↑± ∨♠↑°↓≡  

⇐∞≡…• ⊆≡↓♠≥∂…  ⇒♠←↔↑∂ 

 ⇑≡≥÷∂♠″ 

 ⇔≡±″↑× 

⊆°″±∂  ∧∂±≥±≈ 

⊆♠←←∂  ∧↑±…≡ 

⊂≡↑∂  

⊂≥°♥×∂  

⊂≥°♥≡±∂  √↑≡≥±≈ 

⊄♠↑×≡ƒ  √↔≥ƒ 

 

⊂°♠↔• ⇒″≡↑∂…  ∇≡↔•≡↑≥±≈← 

⇒↑÷≡±↔∂±  ∇°↑♦ƒ 

⇑↑∞∂≥  

⇐•∂≥≡  ⊂↓∂± 

⇐°≥°″∂  ⊂♦≡≈≡± 

 ⊂♦∂↔∞≡↑≥±≈ 



⇑≡↔♦≡≡± ∠…↔°≡↑  ±≈ ∏±♠↑ƒ ⌠ °♠↑ ↑≡←≡↑…•≡↑← � ↔•≡ ÷≥°≥ ″↑×≡↔ ↑≡←≡↑…• 

←″↓≥≡ ♦← ≈≡←∂÷±≡≈ ↔° ≡≥∂…∂↔ ↔•≡ ♥∂≡♦← °≠ ≡♣≡…♠↔∂♥≡← ♦∂↔• ↑≡←↓°±←∂∂≥∂↔ƒ ≠°↑ ↔…×≥∂±÷ ≠↑♠≈⌠ 

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



⌡  ↑≡←↓°±≈≡±↔← ≡∂↔•≡↑ ↑≡≠♠←≡≈ ↔° ↓↑°♥∂≈≡ °↑ ≈∂≈ ±°↔ ×±°♦ ↔•≡ ±±♠≥ ↔♠↑±°♥≡↑ 

°≠ ↔•≡∂↑ …°″↓±ƒ 

∇♠″≡↑ °≠ ∂±↔≡↑♥∂≡♦←

  

⇐∧∠ñ∧⇔  



∠↔•≡↑ √±↔≡↑±≥ ⇒♠≈∂↔ñ↑∂←×  

 



⇐°″↓±ƒ ⊂≡…↑≡↔↑ƒ  

∠↔•≡↑ ←↔×≡•°≥≈≡↑ 

⊂≡…↔°↑   

⇒♠↔°″°↔∂♥≡  

⇐°±←♠″≡↑ ↓↑°≈♠…↔←ñ↑≡↔∂≥ñ♦•°≥≡←≥≡ 

∧∂±±…∂≥ ⊂≡↑♥∂…≡←  

 



 

∠∂≥⌠ ÷← ±≈ ″∂±∂±÷ 

∠↔•≡↑ ↔↑±←↓°↑↔↔∂°±  

 



⊆≡≥ ≡←↔↔≡  

⊄≡…•±°≥°÷ƒ⌠ …°″″♠±∂…↔∂°±← ±≈ ≡±↔≡↑↔∂±″≡±↔ 

∠↔•≡↑ ←≡…↔°↑← 

⊆≡♥≡±♠≡⌡   

 

 



 

 



↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



⊆±× ⇐°♠±↔↑ƒ

 ⇑↑∞∂≥ 

 

 ⊄•∂≥±≈ 

 ∇∂÷≡↑∂ 

 

 

⇐°≥°″∂ 

 √±≈°±≡←∂

 ⊂°♠↔• ⇒≠↑∂…

 ∨÷ƒ↓↔

 ⊂≥°♥×∂

 

 

 ⇒↑÷≡±↔∂± 

 

 ⇐↑°↔∂ 

√±≈∂ 

 √↔≥ƒ 

 ⇐•∂≥≡ 

 ⇐∞≡…• ⊆≡↓♠≥∂… 

 

 ⊂↓∂± 

 ⊂≡↑∂ 

 

 

 ⊂≥°♥≡±∂ 

 

⇔≡↔∂≥≡≈ ↑≡←♠≥↔←

⊆°″±∂ 

 ⊄♠↑×≡ƒ 

 

 

 ⊆♠←←∂ 

 

 ⇑♠≥÷↑∂ 

 

 ⇐±≈ 

 ⇑≥↔∂… ←↔↔≡← 



 ⇒♠←↔↑≥∂ 

 

 √←↑≡≥ 

 

 ∧↑±…≡ 

 ∇°↑♦ƒ 

 

 ⊄∂♦± 

 ⇒♠←↔↑∂ 



 √↑≡≥±≈ 

 ⊂∂±÷↓°↑≡ 

 ⇑≡≥÷∂♠″ 

 ⊂♦∂↔∞≡↑≥±≈ 

 

 ∇≡↔•≡↑≥±≈← 

 ⇔≡±″↑× 

 ⊂♦≡≈≡± 

 ⊂♠≈∂ ⇒↑∂ 

∧∂±≥±≈ 

⊆±× ⇐°♠±↔↑ƒ

⇑↑∂≡↑ƒñ…°↑↑♠↓↔ ↓↑…↔∂…≡← •↓↓≡± ♦∂≈≡≥ƒ 

∂± ♠←∂±≡←← ∂± ↔•∂← …°♠±↔↑ƒ 

°≠ ↑≡←↓°±≈≡±↔← ÷↑≡≡ ↔•↔ ↑∂≡↑ƒñ

…°↑↑♠↓↔ ↓↑…↔∂…≡← •↓↓≡± ♦∂≈≡≥ƒ ∂± 

♠←∂±≡←← ∂± ↔•≡∂↑ …°♠±↔↑ƒ

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



⊆±× ⇐°♠±↔↑ƒ  ∪°♠≥≈ ∝♠←↔∂≠ƒ

 

 √±≈°±≡←∂

 ∇∂÷≡↑∂



 ⊂≥°♥×∂

 √±≈∂

 ⊂∂±÷↓°↑≡

 

 

 ⇑♠≥÷↑∂ 

 

 ⊂♠≈∂ ⇒↑∂ 

 ⊄•∂≥±≈ 

 ⊄♠↑×≡ƒ 

 ∨÷ƒ↓↔ 

∧∂±≥±≈ 

 

 

 √↑≡≥±≈ 

 ⊂↓∂± 

 

 



 

 ⇒♠←↔↑∂ 

 ⊂≡↑∂ 

⊂°♠↔• ⇒≠↑∂… 

 ⊂♦≡≈≡± 

 ⇐∞≡…• ⊆≡↓♠≥∂… 

 

 ∇≡↔•≡↑≥±≈← 

 ⊆°″±∂ 

 ⊂♦∂↔∞≡↑≥±≈ 

 ⇑≥↔∂… ←↔↔≡← 

 ∧↑±…≡ 

 ⊂≥°♥≡±∂ 



 

 ⇐↑°↔∂ 

 

 

 

 ⇑≡≥÷∂♠″ 

 

 ⊄∂♦± 

 

⊆♠←←∂ 

 ⇒♠←↔↑≥∂ 

 ⇐±≈ 

 ∇°↑♦ƒ 

 ⇐•∂≥≡ 

 ⇐°≥°″∂ 

 ⇔≡±″↑× 

 √↔≥ƒ 

 ⇒↑÷≡±↔∂± 

 √←↑≡≥ 

⇑↑∞∂≥ 

⊆±× ⇐°♠±↔↑ƒ  ∪°♠≥≈ ∝♠←↔∂≠ƒ

 

 

∂∂ ⇐•±÷≡ ←←♠″↓↔∂°±← ≈≡↔≡↑″∂±∂±÷ ♥≥♠↔∂°±←ñ↑≡←≡↑♥≡←  

∂∂∂ ∨♣↔≡±≈ ″°±↔•≥ƒ ↑≡↓°↑↔∂±÷ ↓≡↑∂°≈  

∂♥ ⇑…×≈↔≡  …°±↔↑…↔  

♥ ⇑°°× ↑≡♥≡±♠≡← ≡↑≥∂≡↑ ↔•± ↔•≡ƒ ←•°♠≥≈ ≡

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



⇐°±↔…↔ ∂±≠°↑″↔∂°±

°…≥ …°±↔…↔ ∇″≡ ⊄≡≥≡↓•°±≡

¬≥°≥ ≡≈≡↑ ⇔♥∂≈ ⊂↔♠≥    

⇑↑∂± °♠÷•″±    

∏∂″ …⇐♠↑↑ƒ    

⇐•↑∂← ∧°↑≈•″   

∏↓± ≡≈≡↑    

   

⇒↑÷≡±↔∂± ⇒±≈↑≡ ⊆≡ƒ    

   

⇒♠←↔↑∂ ⇒±≈↑≡← ∧↑°•±≡↑

⇑↑∞∂≥

⇑≡≥÷∂♠″

⇐±≈ 

⇐•∂≥≡ 

   

⇐°≥°″∂

⇐∞≡…• ⊆≡↓♠≥∂…ñ⊂≥°♥×∂ñ⇐↑°↔∂ ⇔±∂≡≥ ⇑∂…±    

⇔≡±″↑×

∧↑±…≡      

⇐•↑∂← ∧°↑≈•″   

∧≡↑≡±… ⇑∂↑°   

√…≡≥±≈   

√±≈∂ñ⇑±÷≥≈≡←• ⇒↑↓∂±≈≡↑ ⊂∂±÷•    

√±≈°±≡←∂ ⇒≥≡♣ ⊂∂±↔♠↑∂    

√↑≡≥±≈    

√←↑≡≥ √↔←•× ∨≥•↑↑ 

√↔≥ƒ ∧↑∂∞∂° ⊂±↔≥°∂

⊄•≡ ∨∅ ∧↑♠≈ √±♥≡←↔∂÷↔∂°±  ⇔∂←↓♠↔≡ ⊂≡↑♥∂…≡← ↓↑…↔∂…≡  

 

≤ ↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ 



°…≥ …°±↔…↔ ∇″≡ ⊄≡≥≡↓•°±≡

   

∇≡↔•≡↑≥±≈←

∇∂÷≡↑∂

∇°↑♦ƒ

   

  

⊆°″±∂ñ⇑♠≥÷↑∂ ⇑♠↑…∂± ⇒↔×±    

⊆♠←←∂ñ⇐°″″°±♦≡≥↔• °≠ √±≈≡↓≡±≈≡±↔ ⊂↔↔≡←

⊂∂±÷↓°↑≡   

⊂°♠↔• ⇒≠↑∂…ñ∇″∂∂ ⇐•↑≥≡← ≈≡ ⇐•≡↑″°±↔

⇐•↑∂← ∧°↑≈•″   

⊂↓∂±

   

⊂♦≡≈≡± ∨↑∂× ⊂×°÷≥♠±≈   

⊂♦∂↔∞≡↑≥±≈    

⊄∂♦± ⇐•≡←↔≡↑ ⇐•♠

⊄•∂≥±≈ ∪∂≥∂↓°↑± √↔↔∂♦∂↑°°±   

⇔∂≥≡× Ξ∂≥∂±÷∂↑

    

 ⊂″± ∪∂∝ƒ ⇑±≈↑  

 

↔• ¬≥°≥ ∧↑♠≈ ⊂♠↑♥≡ƒ  ≤



∨∅ ≤ ⇒←←♠↑±…≡ ≤ ⊄♣ ≤ ⊄↑±←…↔∂°±← ≤ ⇒≈♥∂←°↑ƒ

⇒°♠↔ ∨∅

∨∅ ∂←  ÷≥°≥ ≥≡≈≡↑ ∂± ←←♠↑±…≡⌠ ↔♣⌠ ↔↑±←…↔∂°± ±≈ ≈♥∂←°↑ƒ ←≡↑♥∂…≡←〉 

∂± ↔•≡ …↓∂↔≥ ″↑×≡↔← ±≈ ∂± ≡…°±°″∂≡← ↔•≡ ♦°↑≥≈ °♥≡↑〉 ∪≡ ≈≡♥≡≥°↓ 

°♠↔←↔±≈∂±÷ ≥≡≈≡↑← ♦•° ↔≡″ ↔° ≈≡≥∂♥≡↑ °± °♠↑ ↓↑°″∂←≡← ↔° ≥≥ °≠ °♠↑ 

←↔×≡•°≥≈≡↑←〉 √± ←° ≈°∂±÷⌠ ♦≡ ↓≥ƒ  …↑∂↔∂…≥ ↑°≥≡ ∂± ♠∂≥≈∂±÷  ≡↔↔≡↑  

♦°↑×∂±÷ ♦°↑≥≈ ≠°↑ °♠↑ ↓≡°↓≥≡⌠ ≠°↑ °♠↑ …≥∂≡±↔← ±≈ ≠°↑ °♠↑ …°″″♠±∂↔∂≡←〉

∨∅ ↑≡≠≡↑← ↔° ↔•≡ ÷≥°≥ °↑÷±∂∞↔∂°±⌠ ±≈ ″ƒ ↑≡≠≡↑ ↔° °±≡ °↑ ″°↑≡⌠ °≠ 

≥∂″∂↔≡≈ ƒ ÷♠↑±↔≡≡⌠ ≈°≡← ±°↔ ↓↑°♥∂≈≡ ←≡↑♥∂…≡← ↔° …≥∂≡±↔←〉 ∧°↑ ″°↑≡ 

∂±≠°↑″↔∂°± °♠↔ °♠↑ °↑÷±∂∞↔∂°±⌠ ↓≥≡←≡ ♥∂←∂↔ ≡ƒ〉…°″〉

⇒°♠↔ ∨∅�← ∧↑♠≈ √±♥≡←↔∂÷↔∂°±  ⇔∂←↓♠↔≡ ⊂≡↑♥∂…≡←

⇔≡≥∂±÷ ♦∂↔• …°″↓≥≡♣ ∂←←♠≡← °≠ ≠↑♠≈⌠ ↑≡÷♠≥↔°↑ƒ …°″↓≥∂±…≡ ±≈ ♠←∂±≡←← 

≈∂←↓♠↔≡← …± ≈≡↔↑…↔ ≠↑°″ ≡≠≠°↑↔← ↔° ←♠……≡≡≈〉 ⇑≡↔↔≡↑ ″±÷≡″≡±↔ °≠ ≠↑♠≈ 

↑∂←× ±≈ …°″↓≥∂±…≡ ≡♣↓°←♠↑≡ ∂←  …↑∂↔∂…≥ ♠←∂±≡←← ↓↑∂°↑∂↔ƒ � ±° ″↔↔≡↑ ♦•↔ 

↔•≡ ∂±≈♠←↔↑ƒ ←≡…↔°↑ ∂←〉 ∪∂↔• °♥≡↑ ⌠ ≠↑♠≈ ∂±♥≡←↔∂÷↔∂°± ±≈ ≈∂←↓♠↔≡ 

↓↑°≠≡←←∂°±≥← ↑°♠±≈ ↔•≡ ♦°↑≥≈⌠ ♦≡ …± ←←≡″≥≡ ↔•≡ ↑∂÷•↔ ″♠≥↔∂≈∂←…∂↓≥∂±↑ƒ 

±≈ …♠≥↔♠↑≥≥ƒ ≥∂÷±≡≈ ↔≡″ ↔° ♦°↑× ♦∂↔• ƒ°♠ ±≈ ƒ°♠↑ ≥≡÷≥ ≈♥∂←°↑←〉 ∪≡ 

←♠∝≡…↔ ″↔↔≡↑ ×±°♦≥≡≈÷≡ ±≈ ↔•≡ ≥↔≡←↔ ∂±←∂÷•↔← ≠↑°″ °♠↑ ♦°↑× ♦°↑≥≈♦∂≈≡〉

 

⇒≥≥ ⊆∂÷•↔← ⊆≡←≡↑♥≡≈〉 

∨⇔ ∇°±≡ 

√± ≥∂±≡ ♦∂↔• ∨∅�← …°″″∂↔″≡±↔ ↔° ″∂±∂″∂∞≡ ∂↔← ∂″↓…↔ °± ↔•≡ ≡±♥∂↑°±″≡±↔⌠  

↔•∂← ≈°…♠″≡±↔ •← ≡≡± ↓↑∂±↔≡≈ °± ↓↓≡↑ ♦∂↔•  •∂÷• ↑≡…ƒ…≥≡≈ …°±↔≡±↔〉

√±≠°↑″↔∂°± ∂± ↔•∂← ↓♠≥∂…↔∂°± ∂← ∂±↔≡±≈≡≈ ↔° ↓↑°♥∂≈≡ °±≥ƒ  ÷≡±≡↑≥ °♠↔≥∂±≡ °≠ ↔•≡ ←♠∝≡…↔← …°♥≡↑≡≈〉 

√↔ ←•°♠≥≈ ±≡∂↔•≡↑ ≡ ↑≡÷↑≈≡≈ ← …°″↓↑≡•≡±←∂♥≡ ±°↑ ←♠≠≠∂…∂≡±↔ ≠°↑ ″×∂±÷ ≈≡…∂←∂°±←⌠ ±°↑ ←•°♠≥≈ ∂↔ ≡ 

≠↑°″ ±ƒ …↔∂°± ↔×≡± °↑ ±°↔ ↔×≡± ƒ ±ƒ°±≡ ♠←∂±÷ ↔•∂← ″↔≡↑∂≥〉

⊄•≡ ♥∂≡♦← °≠ ↔•∂↑≈ ↓↑↔∂≡← ←≡↔ °♠↔ ∂± ↔•∂← ↓♠≥∂…↔∂°± ↑≡ ±°↔ ±≡…≡←←↑∂≥ƒ ↔•≡ ♥∂≡♦← °≠ ↔•≡ ÷≥°≥ ∨∅ 

♦≡↑≡ ″≈≡〉

≡ƒ〉…°″ñ∧√⇔⊂


